
A
ir Spring Replacem

ent G
uide

GOLD LINE ™

QUALITY PARTS

Air Spring
Replacement Guide

RIGHT QUALITY
RIGHT PRICE
RIGHT AWAY

powered byEdition 2016-04

www.goldlinequalityparts.com



Spring Brake Chambers
Gold Line Quality Parts™ brand Spring Brake Chambers are designed to replace 
all other makes, with our high-quality performance matching the standards set 
by your original equipment. Available with Gold Line’s ValueShield, DuraShield, 
and ProShield technology, there are three different, Good – Better – Best,  choices 
available for your spring brake systems. Each model comes with a warranty, 2 years 
for ValuShield, 4 years for DuraShield, and 6 years for ProShield.  Service chambers, 
replacement parts and accessory kits are also available.

RIGHT QUALITY ∙ RIGHT PRICE ∙ RIGHT AWAY

powered by

Call 800-876-3929
Canada 519-537-3494

www.goldlinequalityparts.com



1Air Springs  – Replacement Guide 2016

Table of Contents

Introduction .............................................................................................................2

General Information .................................................................................................3

 Standard Labels ..............................................................................................3

 Failure Causes and Prevention ..........................................................................4

 Components ...................................................................................................6

 Part Number Logic ..........................................................................................7

 Catalog View Layout .......................................................................................7

Identification ...........................................................................................................8

Cross Reference .......................................................................................................9

 Contitech to Gold Line Quality Parts™  ..............................................................9

 Firestone to Gold Line Quality Parts™  ............................................................14

 Goodyear to Gold Line Quality Parts™  ...........................................................19

 Triangle to Gold Line Quality Parts™  ..............................................................22

 OEM to Gold Line Quality Parts™  ..................................................................27

 Firestone, Goodyear and Triangle Bellow Conversion Charts ..............................42

 Rolling Lobe Bellow Chart ..............................................................................45

 Convoluted Bellow Chart ................................................................................47

 Sleeve Bellow Chart .......................................................................................48

 

Rolling lobe air springs ...........................................................................................49

Convoluted air springs ......................................................................................... 161

 Double convoluted air springs ...................................................................... 162

 Single convoluted air springs ........................................................................ 188

 Triple convoluted air springs ......................................................................... 192

Sleeve type air spring ........................................................................................... 207

Product Design Information  ..................................................................................217 



2 Air Springs  – Replacement Guide 2016

In
tr

o
d

u
ct

io
n

Gold Line Quality Parts™  Sleeve Type Air Spring 

Sleeve type air springs consist of the rubber sleeve bellows, cap, piston, and an optional internal 
bumper. Sleeve type air springs provide the maximum ride comfort for cabin and driver seat 
suspensions as air actuators or vibration isolators.

Gold Line Quality Parts™  Convoluted Air Spring 

Convoluted type air springs consist of the rubber bellows, top and bottom bead plate, and an 
optional internal bumper. Convoluted air springs are used in both vehicular suspensions and 
Industrial applications. In industrial applications, they are used as air actuators or vibration isolators.

Gold Line Quality Parts™  Rolling Lobe Air Spring 

Rolling lobe type air springs consist of the rubber bellows, bead plate, piston, and an optional 
internal bumper. Rolling lobe air springs provide the maximum ride comfort and therefore are the 
most popular air spring designs for commercial vehicle suspensions.

Air Springs for Tractor, Trailer and Truck Air Suspensions
All types and sizes of rolling lobe, convoluted bellows or sleeve type replacement air springs to 
service all the major manufacturers of suspensions and ride equipment. Gold Line Quality Parts™  
brand air springs are specifically designed to meet the customers’ needs in terms of carrying 
capacity, spring characteristics, spring deflection and space requirements. Made of high quality 
rubber compound that has been developed, tested and proven to provide years of performance. 
The excellent dynamic behavior of elastomer materials combined with high performance plastic and 
metal components result in a trouble free air spring system.

–  Available in 1/2“ increments to satisfy all ride height requirements regardless of the  
OE manufacturer.

–  Bellows made to OE construction which allows for minimal heat retention and longer  
life of product.

– Provided with an industry leading 2 year warranty.

Please visit our website for more information along with other available product offerings. 

www.goldlinequalityparts.com

In
tr

o
d

u
ct

io
n



3Air Springs  – Replacement Guide 2016

In
tro

d
u

ctio
n

General Information

G
en

era
l In

fo
rm

a
tio

n

General Information

Warning
• Do not inflate the air spring unless it is properly secured in an appropriate structure.

• Operate the air spring only in the vehicle’s suspension system or a suitable device.

• Do not allow the pressure to exceed 100 psi / 7 bar. Otherwise there is a risk of injury!

• Maintain a service temperature of max -40 °C (-44 °F) to 70 °C (154 °F)

Preventive Maintenance
• Check clearance of complete circumference of the air spring to avoid contact between bellow 

and other vehicle parts.

• Check the torque on mounting fittings – do not over torque (see warning label on top of air spring 
for torque recommendations)

• Maintain components of the pneumatic system, such as valves, regulators and lines clean and in 
good condition.

• Make sure appropriate shock absorbers are installed and in good condition. The shock absorber 
will limit the maximum rebound of an air spring and keep it from overextending.

• Keep the air springs clean (to wash use soap and water)

• Do not apply any material with a mineral, hydraulic or lubricant based oil, organic solvents, 
abrasives or open flames.

Storage
Air springs should be kept in dark, dry storage at normal room temperature.

Standard Labels

G2290870800
75667

01/10/16  14:63
FLEXMEMBER MADE IN MEXICO ENGINEERING IN GERMANY

DO NOT INFLATE UNLESS FULLY SECURED IN THE SUSPENSION OR OTHER
ADEQUATE STRUCTURE AT DESIGN HEIGHT. - DO NOT INFLATE BEYOND
PRESSURES RECOMMENDED IN THE DESIGN MANUAL. - CONTACT YOUR
DISTRIBUTOR FOR DETAILS. - IMPROPER USE OR OVER INFLATION MAY 

CAUSE ASSEMBLY TO BURST CAUSING PROPERTY DAMAGE AND/OR
BODILY INJURY! - MAXIMUM WORKING PRESSURE: 100PSI / 7BAR 

WARNING

NE PAS GONFLER AVANT L’INSTALLATION SÉCURITAIRE SUR LA SUSPENSION
OU DANS TOUT AUTRE STRUCTURE ADÉQUATE ET À LA BONNE HAUTEUR. - NE
PAS GONFLER AU-DELÀ DES PRESSIONS RECOMMANDÉES DANS LE MANUAL
DE CONCEPTION. - CONTACTEZ VOTRE DISTRIBUTEUR POUR TOUS DETAILS.

TOUTE UTILISATION IMPORPRE OU SURGONFLAGE PEUT PROVOQUER
L’ÉCLATEMENT DE LA PIÉCE ET CAUSER DES DOMMAGES MATÉRIELS ET / OU 

CORPORELS. - PRESSION MAXIMALE EN SERVICE: 100PSI / 7BAR.

NO INFLAR A MENOS QUE ESTE COMPLETAMENTE ASEGURADA EN LA 
SUSPENSIÓN U OTRA ESTRUCTURA ADECUADA A LA ALTURA DEL DISEÑO.

NO INFLE MÁS ALLÁ DE LAS PRESIONES RECOMENDADAS EN EL MANUAL DE
DISEÑO. - CONTACTE A SU DISTRIBUIDOR PARA MÁS DETALLES. - EL USO

INCORRECTO O EXCESO DE PRESIÓN PUEDE CAUSAR LA EXPLOSIÓN DEL
ENSAMBLE Y CAUSAR DAÑOS A LA PROPIEDAD Y/O LESIONES CORPORALES!

MÁXIMA PRESIÓN DE OPERACIÓN: 100PSI / 7BAR  

W5

ADVERTENCIA

ADVERTISSEMENT

TORQUE RECOMMENDATIONS / RECOMENDACIONES DE TORQUE
/ COUPLE DE SERRAGE RECOMMANDÉ

FASTENER DIAMETER / DIAMETRO DE ROSCAS / DIMÈTRE DE BOULONNERIE
SPIRALOCK®   3/4"
nut on top, combo stud(s)
tuerca en parte superior, birlo combo
ecrou sur le dessus, combinaison
prise d’air et boulon
NPT air supply fitting
Conexión de aire
Raccord d’adduction d’Air

1/4"
& up

80 - 100 LB-FT

108 - 136 Nm

17 - 22 LB-FT

23 - 30 Nm

3/8"
10 mm

1/2"
12 mm

3/4"
20 mm

15 - 20 25 - 35 40 - 50

20 - 27 34 - 47 54 - 68

LB-FT

Nm



4 Air Springs  – Replacement Guide 2016

Failure Causes and Prevention

OVERTORQUE 

Cause of Failure: 
Fittings can break or threads be damaged 
caused by over-torque. (Note: grease or 
lubrication on the threads can affect the torque 
and may cause damages) Air spring system 
can be twisted. 

Recommendation: 
Apply general installation instructions. Review 
drawing or product warning label for proper 
assembly torque. Do not use an air wrench for 
installation. 

OVEREXTENSION 

Cause of Failure: 
The air spring is operated outside the 
maximum rebound range as a result of 
unrestrained (missing end stop) or excessive 
axle travel (defective/improperly adjusted 
height levelling system or wrong air spring). 
The abuse may result in separation of the 
bellows from upper or lower mounting parts.

Recommendation: 
Check and/or adjust height levelling system, 
shocks, end stops and air spring specifications 
to prevent air spring travel of exceeding the 
max. recommended height.

ABRASION 

Cause of Failure: 
Bellows in contact with other components 
(e.g. defective parts) of the vehicle or foreign 
objects (e.g.dirt, rocks) that accumulate at 
the piston/ rolling part of the bellow. They 
may rub through the bellows during spring 
deflection.

Recommendation: 
Avoid contact between bellows and any 
other part of the vehicle. Check air springs 
periodically / remove foreign objects from 
rolling part of bellows. (Warning: Do not use 
solvents for washing)

G
en

er
a

l 
In

fo
rm

a
ti

o
n



5Air Springs  – Replacement Guide 2016

Failure Causes and Prevention

OVERLOAD 

Cause of Failure: 
When overloading the vehicle the height 
levelling valve will open to adjust vehicle 
height by increasing the pressure inside the air 
spring up to max. system pressure available. 
The improper usage of the air spring system 
outside the recommended pressure range may 
cause deformation or damage to the bellows, 
piston and/or  
bead plate.

Recommendation: 
Avoid overloading of the vehicle. Check air 
spring specifications for max. load capacity.

CONTAMINATION 

Cause of Failure: 
Air spring bellows are not resistant to solvents, 
hydraulic oils nor lubricants.
A permanent exposure to chemicals will cause 
premature failure of air spring
system.

Recommendation: 
Check the air spring system periodically. Avoid 
too much oil in the air supply lines. Remove 
lubricants from the bellows. Do not use mineral 
oil based cleaners. Do not use any solvents.

LOW PRESSURE 

Cause of Premature Failure: 
When operating the air spring system without 
internal air pressure, it prevents the bellows 
from rolling uniformly over the piston/
girdle hoop, instead it may fold. Permanent 
operation without internal air pressure will 
increase wear of the bellows significantly.

Recommendation: 
Avoid operating air spring system without 
internal air pressure. (Inflate air springs before 
driving) Check periodically the air supply lines 
for leaks. Examine the bellows for development 
of folds.

G
en

era
l In

fo
rm

a
tio

n



6 Air Springs  – Replacement Guide 2016

G
en

er
a

l 
In

fo
rm

a
ti

o
n

Components

ROLLING LOBE AIR SPRINGS 

1 Bead Plate with Fittings

2 Warning Label, Ref Page 3

3 Rolling lobe Bellows number e.g. 9 10-16

4 Identification Label, Ref Page 3

5 Bumper (Rubber or Plastic)

6 Piston (Plastic, Aluminium or Steel)

CONVOLUTED AIR SPRINGS 

1 Upper Bead Plate With Fittings

2 Warning Label

3 Convoluted Bellows number e.g. FD 200-19

4 Identification Label

5 Girdle Hoop

6 Lower Bead Plate with Fittings

12

3

4

5

6

1
2

3

4

5

6



7Air Springs  – Replacement Guide 2016

G
en

era
l In

fo
rm

a
tio

n

G 229 0000 0 00
Reference End Numbers

Assembly Situation
 0 = only rubber
 1 = with top plate
 2 = with plastic piston
 3 = with metal piston
 4 = with aluminum piston
 5 = convoluted
 6 = sleeve

Industry Reference Number
 (i.e. W01-358-4913 or 6 6.5B-11 P 235)

Product Code Number*
 229 = Air Bellow

G = Gold Line Quality Parts™ 

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

6 6.5D-11

9312902   

W01-358-8997  

G2298997300

1R9-065 

8525 

Bluebird 300-961425
Bluebird 1263581
Flexible 6-336-196
Ridewell 1003588997C
SAF-HOLLAND 90557029
SAF-HOLLAND 90557034
Watson & Chalin AS-0026

6 6.5D-11 S 525, 68119 

A – Order no. This number identifies air bellows and the  
specific assembly.
B – Cross section view This shows a cross section of the air
spring and its components.
C – Top view This shows a top view of the upper bead plate with
dimensional (in) and mounting information.
D – Bottom view This shows a bottom view of the lower bead
plate or piston, dimensional (in) and mounting information.
E – Manufacture part no. that can be replaced by shown
air spring.

F – OEM part no. that can be replaced by shown air spring.
G – Piston no.
H – Bellow no.

A

B

C D
E

F

G

Part Number Logic

H

Catalog View Layout



8 Air Springs  – Replacement Guide 2016

Id
en

ti
fi

ca
ti

o
n How to Identify the Correct Air Spring

SEARCH BY MANUFACTURER’S 
AIR SPRING PART NUMBER 

Each Air Spring in this catalog features 
a Manufacturer’s replacement number, 
along with a cross reference list.

Firestone No. (i.e. W01-358-9294)

Contitech No. (i.e. 9 10-10 P 311)

Goodyear No. (i.e. 1R12-487)

Triangle No. (i.e. 8427)

Start on page 9 to cross reference by 
Manufacturer’s part number.

SEARCH BY OEM AIR  
SPRING NUMBER 

We provide an extensive OEM cross 
reference section containing over 60 
different OEM’s with over 1,500 part 
numbers (i.e. Hendrickson S12353). 

Start on page 27 to cross reference by 
OEM air spring number.

SEARCH BY 
BELLOW’S NUMBER 

Each Air Spring in this catalog is presented in 
order of bellow’s number. In addition, we also 
provide a bellow’s cross reference section.

Step 1: 
Identify the bellow’s number on your air spring 
located on the side of the bag.  
(i.e. 10-10-16)

Step 2: 
Use the bellow’s cross reference charts to 
find your Gold Line Quality Parts™  bellow’s 
number. NOTE: Contitech bellow numbers are 
the same as Gold Line Quality Parts™  bellow 
numbers.

Starting on page 42.

Step 2: 
Once you have the Gold Line Quality Parts™  
Bellow’s number, use the charts starting on 
page 51 to determine the order number and 
page number reference.



9Air Springs  – Replacement Guide 2016

C
ro

ss R
eferen

ces

Contitech Part No. Order Number Page Number

6 6.5-11 S 031 G2295311300 50

6 6.5-11 S 032 G2295323300 50

6 6.5B-11 S 027 G2292119300 50

6 6.5B-11 S 054 G2295298300 51

6 6.5B-11 S 035 G2295319300 51

6 6.5B-11  S 037 G2298992300 51

6 6.5B-11 P 235 G2299911200 52

6 6.5B-11 P 236 G2299912200 52

6 6.5B-11 P 237 G299P273200 52

6 6.5D-11 S 525 G2298997300 53

6 6.5-13 S 038 G2295405300 53

6 6.5-13 S 039 G2295406300 53

6 6.5-13 S 446 G2295410300 54

6 6.5-13 S 041 G2295412300 54

6 6.5-13 S 559 G2295423300 54

6 6.5-13 S 044 G2295433300 55

6 6.5-13 S 045 G2295434300 55

9 9-9 P 859 (BK) G2299547200 55

9 9-9 P 860 (BK) G2299617200 56

9 9-9 P 537 (BK) G2299622200 56

9 9-10 P 861 (BK) G2299541200 56

9 9-10 P 862 (BK) G2299618200 57

9 9-10 P 538 (BK) G2299625200 57

9 9-10 P 576 (BK) G2299675200 57

9 9-12 P 730 G2298897200 58

9 9-12 P 464 G2298901200 58

9 9-12 P 477 G2299376200 58

9 9-12 P 447 G2299378200 59

9 9-12 P 379 G2299379200 59

9 9-12 P 479 G2299387200 59

9 9-12 P 705 G2299421200 60

9 9-12 P 314 G2299422200 60

9 9-12 P 563 G2299448200 60

9 9-12 P 786 G2299551200 61

9 9-12 P 515 (BK) G2299616200 61

9 9K-12 P 093 G2299554200 61

9 9K-12 P 790 G229P790200 62

9 9-14 P 517 G2298919200 62

9 9-14 P 895 G2299385200 62

9 9-14 A 337 G2299439400 63

9 9-14 P 933 G2299465200 63

9 9K-15 P 455 G2298949200 63

9 9K-15 P 425 G2299291200 64

9 9K-15 P 424 G2299293200 64

9 9K-15 P 423 G2299294200 64

9 9K-15 P 417 G2299295200 65

9 9K-15 P 049 G229P049200 65

9 9K-15 P 945 (BK) G229P945200 65

9 9-16 P 568 G2299626200 66

Contitech Part No. Order Number Page Number

9 9B-20 P 740 G2299621200 66

9 9B-22 P 741 G2299619200 66

9 10-10 P 473 G2298963200 67

9 10-10 P 480 G2298964200 67

9 10-10 P 204 G2298971200 67

9 10-10 P 503 G2298976200 68

9 10-10 P 400 G2298986200 68

9 10-10 P 399 G2299029200 68

9 10-10 P 339 G2299031200 69

9 10-10 P 328 G2299033200 69

9 10-10 P 311 G2299039200 69

9 10-10 P 331 G2299077200 70

9 10-10 P 471 G2299307200 70

9 10-10 P 398 G2299308200 70

9 10-10 P 397 G2299332200 71

9 10-10 P 481 G2299333200 71

9 10-10 P 482 G2299334200 71

9 10-10 P 717 G2299534200 72

9 10-10 P 338 G229P338200 72

9 10-10 P 340 G229P340200 72

9 10-12 P 720 G2297667200 73

9 10-12 P 024 G2298197200 73

9 10-12 P 483 G2298201200 73

9 10-12 P 543 G2298203200 74

9 10-12 P 484 G2298204200 74

9 10-12 P 932 G2298646200 74

9 10-12 P 839 G2298882200 75

9 10-12 P 396 G2298930200 75

9 10-12 P 485 G2298932200 75

9 10-12 P 544 G2298934200 76

9 10-12 A 327 G2299053400 76

9 10-12 P 319 G2299105200 76

9 10-12 A 707 G2299127400 77

9 10-12 P 343 G2299302200 77

9 10-12 P 395 G2299325200 77

9 10-12 P 487 (BK) G2299339200 78

9 10-12 P 495 G2299365200 78

9 10-12 P 488 G2299366200 78

9 10-12 A 427 G2299640400 79

9 10-12 A 118 G229A118400 79

9 10-12 A 463 G229A463400 79

9 10-12 A 848 G229A848400 80

9 10-12 P 463 G229P463200 80

9 10-13.5 S 433 G2299270300 80

9 10-13.5 S 881 G2299579300 81

9 10-13.5 P 232 G2299774200 81

9 10-13.5 P 874 G2299807200 81

9 10-13.5 P 978 G229P978200 82

9 10-13.5 S 734 G229S734300 82

C
ro

ss R
eferen

ces



10 Air Springs  – Replacement Guide 2016

C
ro

ss
 R

ef
er

en
ce

s

Contitech Part No. Order Number Page Number

9 10-14 P 469 G2298802200 82

9 10-14 P 489 G2298803200 83

9 10-14 P 462 G2298805200 83

9 10-14 A 545 G2298806400 83

9 10-14 A 546 G2298810400 84

9 10-14 P 577 G2298813200 84

9 10-14 P 905 G2298816200 84

9 10-14 P 906 G2298817200 85

9 10-14 P 344 G2299008200 85

9 10-14 P 345 G2299010200 85

9 10-14 P 346 G2299011200 86

9 10-14 P 335 G2299059200 86

9 10-14 P 709 G2299060200 86

9 10-14 P 347 G2299063200 87

9 10-14 P 348 G2299068200 87

9 10-14 P 312 G2299069200 87

9 10-14 A 330 G2299070400 88

9 10-14 P 349 G2299071200 88

9 10-14 P 465 (BK) G2299335200 88

9 10-14 P 490 G2299336200 89

9 10-14 P 437 G2299463200 89

9 10-14 A 491 G2299467400 89

9 10-14 A 103 G2299469400 90

9 10-14 P 492 (BK) G2299482200 90

9 10-14 P 493 G2299483200 90

9 10-14 P 494 G2299484200 91

9 10-14 P 718 G2299507200 91

9 10-14 P 461 G2299567200 91

9 10-14 P 450 G2299568200 92

9 10-14 P 575 G2299634200 92

9 10-14 P 882 G2299697200 92

9 10-14 A 496 G2299797400 93

9 10-14 P 381 G2299798200 93

9 10-14 P 188 G2299959200 93

9 10-14 P 959 G2299978200 94

9 10-14 P 220 G229P220200 94

9 10-16 A 310 G2290712400 94

9 10-16 P 497 G2298924200 95

9 10-16 P 498 G2298927200 95

9 10-16 P 394 G2299004200 95

9 10-16 P 393 G2299026200 96

9 10-16 P 310 G2299082200 96

9 10-16 P 333 G2299083200 96

9 10-16 P 372 G2299092200 97

9 10-16 P 332 G2299093200 97

9 10-16 P 325 G2299096200 97

9 10-16 P 351 G2299193200 98

9 10-16 P 352 G2299194200 98

9 10-16 P 441 G2299213200 98

Contitech Part No. Order Number Page Number

9 10-16 P 408 G2299219200 99

9 10-16 P 409 G2299223200 99

9 10-16 P 353 G2299227200 99

9 10-16 A 354 G2299228400 100

9 10-16 P 371 G2299256200 100

9 10-16 P 416 (BK) G2299296200 100

9 10-16 P 710 G2299299200 101

9 10-16 P 392 G2299304200 101

9 10-16 P 391 G2299362200 101

9 10-16 P 376 G2299392200 102

9 10-16 P 410 G2299466200 102

9 10-16 P 500 G2299474200 102

9 10-16 P 547 (BK) G2299496200 103

9 10-16 P 549 (BK) G2299643200 103

9 10-16 P 510 G2299944200 103

9 10-16 P 407 G229P407200 104

9 10-16 P 769 G229P769200 104

9 10-16 P 770 G229P770200 104

9 10-16 P 841 G229P841200 105

9 10BP-16 P 569 G2299644200 105

9 10S-16 P 999 G2299759200 105

9 10S-16 P 382 G2299780200 106

9 10S-16 A 382 G2299781400 106

9 10S-16 A 999 G229A999400 106

9 10P-16.5 A 926 G229A926400 107

9 10-17.5 P 779 G2296258200 107

9 10-17.5 P 831 G2296262200 107

9 10-17.5 P 904 G2298888200 108

9 10-17.5 P 536 G2298903200 108

9 10-17.5 P 436 G2298944200 108

9 10-17.5 P 418 G2299342200 109

9 10-17.5 P 501 (BK) G2299470200 109

9 10-17.5 P 502 (BK) G2299471200 109

9 10-17.5 P 467 (BK) G2299472200 110

9 10-17.5 P 445 (BK) G2299473200 110

9 10-17.5 P 572 (BK) G2299501200 110

9 10-17.5 P 574 (BK) G2299504200 111

9 10-17.5 P 426 G2299902200 111

9 10-17.5 P 443 G2299921200 111

9 10-17.5 P 428 G2299922200 112

9 10-17.5 P 429 G2299923200 112

9 10-17.5 P 548 G2299935200 112

9 10-17.5 P 454 G2299936200 113

9 10-17.5 P 430 G2299942200 113

9 10-17.5 P 475 G2299943200 113

9 10-17.5 P 452 G2299947200 114

9 10-17.5 A 535 G2299948400 114

9 10-17.5 P 731 (BK) G2299966200 114

9 10-17.5 P 023 G2299972200 115



11Air Springs  – Replacement Guide 2016

C
ro

ss R
eferen

ces

Contitech Part No. Order Number Page Number

9 10-17.5 A 930 G2299974400 115

9 10-17.5 A 802 G229A802400 115

9 10-17.5 P 733 G229P733200 116

9 10-17.5 P 793 G229P793200 116

9 10-17.5 P 807 (BK) G229P807200 116

9 10B-17.5 A 323 G2299275400 117

9 10B-17.5 P 554 (BK) G2299491200 117

9 10-18.5 P 520 G2299297200 117

9 10-18.5 P 521 (BK) G2299371200 118

9 10-18.5 P 095 (BK) G2299372200 118

9 10-18.5 P 519 (BK) G2299373200 118

9 10-18.5 P 550 (BK) G2299647200 119

9 10-18.5 P 097 G2299654200 119

9 10-18.5 P 096 G2299656200 119

9 10-18.5 P 939 (BK) G2299663200 120

9 10-18.5 P 111 G229P111200 120

9 10-19 P 765 G2298842200 120

9 10-19 P 472 G2298852200 121

9 10-19 P 552 G2298855200 121

9 10-19 P 553 G2298856200 121

9 10-19 P 898 G2298864200 122

9 10-19 P 315 G2299101200 122

9 10-19 P 321 G2299130200 122

9 10-19 P 326 G2299192200 123

9 10-19 P 355 G2299203200 123

9 10-19 P 356 G2299238200 123

9 10-19 P 357 G2299240200 124

9 10-19 P 384 G229P384200 124

9 10-19 P 390 G2299245200 124

9 10-19 P 435 G2299265200 125

9 10-19 P 470 G2299346200 125

9 10-19 P 439 G2299348200 125

9 10-19 P 438 G2299349200 126

9 10-19 P 359 G2299350200 126

9 10-19 P 383 G2299394200 126

9 10-19 A 358 G229A358400 127

9 10-19 A 552 G229A552400 127

9 10-19 A 830 G229A830400 127

9 10-19 A 946 G229A946400 128

9 10-19 P 358 G229P358200 128

9 10-19 P 762 G229P762200 128

9 10-19 P 796 G229P796200 129

9 10-19 P 809 G229P809200 129

9 10-19 P 814 G229P814200 129

9 10-19 P 946 G229P946200 130

9 10-19 P 973 G229P973200 130

9 10-19.5 A 801 G229A801400 130

9 10BP-20 P 738 G2299646200 131

9 10D-21 A 324 G2299250400 131

Contitech Part No. Order Number Page Number

9 10D-21 A 363 G2299252400 131

9 10D-21 A 555 G2299269400 132

9 10-21 P 360 G2299320200 132

9 10-21 A 361 G2299321400 132

9 10-21 P 511 G2299338200 133

9 10-21 P 505 G2299367200 133

9 10-21 A 505 G2299367400 133

9 10-21 P 448 G2299370200 134

9 10-21 P 817 G229P817200 134

9 10BP-22 P 739 G2299645200 134

10 10-15 S 711 G2298710300 135

10 10-15 S 962 G2298723300 135

10 10-15 S 773 G2298740300 135

10 10-15 P 453 G2298751200 136

10 10-15 S 518 G2298752300 136

10 10-15 S 713 G2298753300 136

10 10-15 S 522 G2298755300 137

10 10-15 S 871 G2298782300 137

10 10-16 S 724 G2298637300 137

10 10-16 S 526 G2298708300 138

10 10-16 S 533 G2298713300 138

10 10-16.5 S 783 G229S783300 138

10 10-21 P 964 G2298744200 139

10 10-21 P 774 G2298746200 139

10 10-21 P 570 G2298748200 139

10 10-21 P 486 G2298749200 140

10 10-21 S 434 G2299580300 140

10 10-21 S 015 G2299581300 140

10 10-21 P 949 G229P949200 141

10 10.5AV-12 P 513 G2298729200 141

10 10.5-15 P 460 G2298709200 141

11 10.5-15 A 419 G2298088400 142

11 10.5-15 A 415 G2299200400 142

11 10.5-15 A 506 G2299204400 142

11 10.5-15 A 414 G2299215400 143

11 10.5-15 A 421 G2299216400 143

11 10.5-15 A 422 G2299218400 143

11 10.5-15 A 420 G2299277400 144

11 10.5-15 A 751 G229A751400 144

11 10.5A-16 P 523 G2298091200 144

11 10.5A-16 P 934 G229P934200 145

11 10.5C-16 A 320 G2298050400 145

11 10.5C-16 A 385 G2298051400 145

11 10.5C-16 A 378 G2298052400 146

11 10.5C-16 A 380 G2298053400 146

11 10.5C-16 A 101 G229A101400 146

11 10.5C-16 A 706 G229A706400 147

11 10.5C-16 A 729 G229A729400 147

11 10.5C-16 A 834 G229A834400 147



12 Air Springs  – Replacement Guide 2016

C
ro

ss
 R

ef
er

en
ce

s

Contitech Part No. Order Number Page Number

11 10.5F-17 P 745 G2298774200 148

11 10.5-17 A 507 G2298778400 148

11 10.5-17 A 556 G2299116400 148

11 10.5-17 A 317 G2299121400 149

11 10.5-17 A 377 G2299144400 149

11 10.5-17 A 364 G2299148400 149

11 10.5-17 A 365 G2299149400 150

11 10.5-17 A 405 G2299164400 150

11 10.5-17 A 316 G2299177400 150

11 10.5-17 A 388 G2299221400 151

11 10.5-17 A 367 G2299961400 151

11 10.5F-17.5 P 800 G229P800200 151

11 10.5F-17.5 P 829 G229P829200 152

11 10.5B-18 P 743 G2298093200 152

11 10.5-19 A 508 G2298779400 152

11 10.5-19 A 509 G2298780400 153

11 10.5-19 A 557 G2298781400 153

11 10.5-19 A 431 G2299134400 153

11 10.5-19 A 432 G2299138400 154

11 10.5-19 A 960 G229A960400 154

11 10.5-21 A 025 G2298764400 154

11 10.5-21 A 313 G2298792400 155

11 10.5-21 A 094 G2298796400 155

11 10.5-21 A 370 G2299156400 155

11 10.5-21 A 318 G2299158400 156

11 10.5-21 A 558 G2299199400 156

11 10.5-21 A 026 G229A026400 156

11 10.5-21 A 062 G229A062400 157

11 10.5-21 A 855 G229A855400 157

11 10.5-21 A 965 G229A965400 157

11 10.5-22 A 530 G2295503400 158

11 10.5-22 S 750 G2295505300 158

11 10.5-22 A 931 G2295511400 158

11 10.5-22 A 752 G229A752400 159

11 10.5-22 A 856 G229A856400 159

11 10.5-24 S 712 G2299264300 159

FD 110-17A 789 G2297505500 162

FD 110-17A 775 G2297659500 162

FD 110-17A 804 G229A804500 162

FD 120-20 736 G2290736500 163

FD 120-20 767 G2290767500 163

FD 120-20 509 G2297325500 163

FD 120-20 764 G2290764500 164

FD 120-20 795 G2297689500 164

FD 120-20 715 G2297705500 164

FD 200-19 724 G2296884500 165

FD 200-19 539 G2296890500 165

FD 200-19 505 G2296897500 165

FD 200-19 319 G2296900500 166

Contitech Part No. Order Number Page Number

FD 200-19 310 G2296902500 166

FD 200-19 315 G2296905500 166

FD 200-19 362 G2296908500 167

FD 200-19 320 G2296910500 167

FD 200-19 504 G2296926500 167

FD 200-19 452 G2296932500 168

FD 200-19 499 G2296935500 168

FD 200-19 450 G2296940500 168

FD 200-19 448 G2296941500 169

FD 200-19 506 G2296949500 169

FD 200-19 510 G2297788500 169

FD 200-19 713 G2297795500 170

FD 200-22 529 G2296883500 170

FD 200-22 706 G2296886500 170

FD 200-22 524 G2297897500 171

FD 200-25 721 G2290721500 171

FD 200-25 717 G2296393500 171

FD 200-25 454 G2296844500 172

FD 200-25 453 G2296927500 172

FD 200-25 426 G2296943500 172

FD 200-25 427 G2296945500 173

FD 200-25 463 G2296946500 173

FD 200-25 428 G2296947500 173

FD 200-25 429 G2296948500 174

FD 200-25A 797 G2290797500 174

FD 330-22 363 G2297180500 174

FD 330-22 780 G2297184500 175

FD 330-22 500 G2297344500 175

FD 330-22 313 G2297400500 175

FD 330-22 337 G2297401500 176

FD 330-22 318 G2297403500 176

FD 330-22 364 G2297405500 176

FD 330-22 367 G2297409500 177

FD 330-22 331 G2297410500 177

FD 330-22 368 G2297423500 177

FD 330-22 327 G2297424500 178

FD 330-22 343 G2297429500 178

FD 330-22 334 G2297437500 178

FD 330-30 549 G2290549500 179

FD 330-30 705 G2290705500 179

FD 330-30 512 G2296789500 179

FD 330-30 323 G2297443500 180

FD 330-30 369 G2297444500 180

FD 330-30 370 G2297446500 180

FD 330-30 340 G2297447500 181

FD 330-30 371 G2297472500 181

FD 330-30 372 G2297473500 181

FD 330-30 373 G2297483500 182

FD 330-30 502 G2297499500 182



13Air Springs  – Replacement Guide 2016

C
ro

ss R
eferen

ces

Contitech Part No. Order Number Page Number

FD 330-30 513 G2297790500 182

FD 331-26 514 G2297545500 183

FD 331-26 541 G2297550500 183

FD 331-26 480 G2297555500 183

FD 530-22 345 G2297123500 184

FD 530-22 311 G2297135500 184

FD 530-22 321 G2297136500 184

FD 530-22 316 G2297140500 185

FD 530-22 374 G2297145500 185

FD 530-22 342 G2297146500 185

FD 530-30 451 G2296801500 186

FD 530-30 449 G2296803500 186

FD 530-30 532 G2296805500 186

FD 530-35 543 G2296799500 187

FD 530-35 530 G2297557500 187

FD 530-35 545 G2297781500 187

FD 530-35 544 G2297782500 188

FS 330-11 771 G2290771500 188

FS 330-11 467 G2296994500 188

FS 330-11 474 G2297008500 189

FS 330-11 468 G2297009500 189

FS 530-14 517 G2297088500 189

FS 530-14 515 G2297093500 190

FS 530-14 538 G2297094500 190

FS 530-14 516 G2297096500 190

FS 530-14 442 G2297103500 191

FS 530-14 446 G2297104500 191

FS 530-14 447 G2297105500 191

FS 530-14 339 G2297112500 192

FS 530-14 361 G2297117500 192

FT 330-29 503 G2290503500 192

FT 330-29 702 G2290702500 193

FT 330-29 714 G2290714500 193

FT 330-29 722 G2290722500 193

FT 330-29 773 G2290773500 194

FT 330-29 703 G2297990500 194

FT 330-29 547 G2297995500 194

FT 330-29 520 G2297996500 195

FT 330-29 723 G2297723500 195

FT 330-29 430 G2298006500 195

FT 330-29 431 G2298008500 196

FT 330-29 432 G2298010500 196

FT 330-29 433 G2298016500 196

FT 330-29 434 G2298018500 197

FT 330-29 469 G2298025500 197

FT 330-29 466 G2298027500 197

FT 330-29 413 G2298032500 198

FT 330-29 525 G2298033500 198

FT 530-32 536 G2297796500 198

Contitech Part No. Order Number Page Number

FT 530-32 535 G2297797500 199

FT 530-32 329 G2297798500 199

FT 530-32 333 G2297800500 199

FT 530-32 336 G2297808500 200

FT 530-32 325 G2297818500 200

FT 530-35 808 G2290808500 200

FT 530-35 436 G2297838500 201

FT 530-35 437 G2297839500 201

FT 530-35 455 G2297843500 201

FT 530-35 438 G2297844500 202

FT 530-35 521 G2297845500 202

FT 530-35 456 G2297846500 202

FT 530-35 457 G2297847500 203

FT 530-35 439 G2297848500 203

FT 530-35 441 G2297850500 203

FT 530-35 537 G2297853500 204

FT 530-35 522 G2297855500 204

FT 530-35 523 G2297859500 204

FT 530-35 534 G2297862500 205

FT 530-35 726 G2297872500 205

SC29-B092 G2297092600 208

SC29-B110 G2297110600 208

SC29-B152 G2297152600 208

SC29-B200 G2297200600 209

SC29-O001 G2297001600 209

SC29-O046 G2297046600 209

SC29-O086 G2297086600 210

SC29-O098 G2297098600 210

SC29-O100 G2297100600 210

SC29-O201 G2297201600 211

SC29-W035 G2297035600 211

SC29-W042 G2297042600 211

SC29-W045 G2297045600 212

SC29-W056 G2297056600 212

SC29-W061 G2297061600 212

SC29-W074 G2297074600 213

SC29-W075 G2297075600 213

SC29-W087 G2297087600 213

SC29-W103 G2297103600 214

SC29-Y036 G2297036600 214

SC29-Y064 G2297064600 214

SC29-Y109 G2297109600 215

SC29-YG01 G229YG01600 215

SC31-W206 G2297206600 215

SC31-Y205 G2297205600 216

SC31-Y215 G2297215600 216



14 Air Springs  – Replacement Guide 2016

C
ro

ss
 R

ef
er

en
ce

s

Firestone Part No. Order Number Page Number

W01-358-2119 G2292119300 50

W01-358-5298 G2295298300 51

W01-358-5311 G2295311300 50

W01-358-5319 G2295319300 51

W01-358-5323 G2295323300 50

W01-358-5405 G2295405300 53

W01-358-5406 G2295406300 53

W01-358-5410 G2295410300 54

W01-358-5412 G2295412300 54

W01-358-5423 G2295423300 54

W01-358-5433 G2295433300 55

W01-358-5434 G2295434300 55

W01-358-5503 G2295503400 158

W01-358-5505 G2295505300 158

W01-358-5511 G2295511400 158

W01-358-6258 G2296258200 107

W01-358-6262 G2296262200 107

W01-358-6393 G2296393500 171

W01-358-6789 G2296789500 179

W01-358-6799 G2296799500 187

W01-358-6801 G2296801500 186

W01-358-6803 G2296803500 186

W01-358-6805 G2296805500 186

W01-358-6856 G2296935500 168

W01-358-6883 G2296883500 170

W01-358-6884 G2296884500 165

W01-358-6886 G2296886500 170

W01-358-6890 G2296890500 165

W01-358-6897 G2296897500 165

W01-358-6900 G2296900500 166

W01-358-6902 G2296902500 166

W01-358-6905 G2296905500 166

W01-358-6908 G2296908500 167

W01-358-6910 G2296910500 167

W01-358-6926 G2296926500 167

W01-358-6927 G2296927500 172

W01-358-6932 G2296932500 168

W01-358-6935 G2296935500 168

W01-358-6940 G2296940500 168

W01-358-6941 G2296941500 169

W01-358-6943 G2296943500 172

W01-358-6944 G2296844500 172

W01-358-6945 G2296945500 173

W01-358-6946 G2296946500 173

W01-358-6947 G2296947500 173

W01-358-6948 G2296948500 174

W01-358-6949 G2296949500 169

W01-358-6994 G2296994500 188

W01-358-7008 G2297008500 189

Firestone Part No. Order Number Page Number

W01-358-7009 G2297009500 189

W01-358-7088 G2297088500 189

W01-358-7093 G2297093500 190

W01-358-7094 G2297094500 190

W01-358-7096 G2297096500 190

W01-358-7103 G2297103500 191

W01-358-7104 G2297104500 191

W01-358-7105 G2297105500 191

W01-358-7112 G2297112500 192

W01-358-7117 G2297117500 192

W01-358-7123 G2297123500 184

W01-358-7135 G2297135500 184

W01-358-7136 G2297136500 184

W01-358-7140 G2297140500 185

W01-358-7145 G2297145500 185

W01-358-7146 G2297146500 185

W01-358-7180 G2297180500 174

W01-358-7184 G2297184500 175

W01-358-7325 G2297325500 163

W01-358-7344 G2297344500 175

W01-358-7400 G2297400500 175

W01-358-7401 G2297401500 176

W01-358-7403 G2297403500 176

W01-358-7405 G2297405500 176

W01-358-7409 G2297409500 177

W01-358-7410 G2297410500 177

W01-358-7423 G2297423500 177

W01-358-7424 G2297424500 178

W01-358-7429 G2297429500 178

W01-358-7437 G2297437500 178

W01-358-7443 G2297443500 180

W01-358-7444 G2297444500 180

W01-358-7446 G2297446500 180

W01-358-7447 G2297447500 181

W01-358-7472 G2297472500 181

W01-358-7473 G2297473500 181

W01-358-7483 G2297483500 182

W01-358-7499 G2297499500 182

W01-358-7505 G2297505500 162

W01-358-7545 G2297545500 183

W01-358-7550 G2297550500 183

W01-358-7555 G2297555500 183

W01-358-7557 G2297557500 187

W01-358-7659 G2297659500 162

W01-358-7667 G2297667200 73

W01-358-7705 G2297705500 164

W01-358-7781 G2297781500 187

W01-358-7782 G2297782500 188

W01-358-7788 G2297788500 169



15Air Springs  – Replacement Guide 2016

C
ro

ss R
eferen

ces

Firestone Part No. Order Number Page Number

W01-358-7790 G2297790500 182

W01-358-7795 G2297795500 170

W01-358-7796 G2297796500 198

W01-358-7797 G2297797500 199

W01-358-7798 G2297798500 199

W01-358-7800 G2297800500 199

W01-358-7808 G2297808500 200

W01-358-7818 G2297818500 200

W01-358-7838 G2297838500 201

W01-358-7839 G2297839500 201

W01-358-7843 G2297843500 201

W01-358-7844 G2297844500 202

W01-358-7845 G2297845500 202

W01-358-7846 G2297846500 202

W01-358-7847 G2297847500 203

W01-358-7848 G2297848500 203

W01-358-7850 G2297850500 203

W01-358-7853 G2297853500 204

W01-358-7855 G2297855500 204

W01-358-7859 G2297859500 204

W01-358-7862 G2297862500 205

W01-358-7872 G2297872500 205

W01-358-7897 G2297897500 171

W01-358-7990 G2297990500 194

W01-358-7995 G2297995500 194

W01-358-7996 G2297996500 195

W01-358-7996 G2297723500 195

W01-358-8006 G2298006500 195

W01-358-8008 G2298008500 196

W01-358-8010 G2298010500 196

W01-358-8016 G2298016500 196

W01-358-8018 G2298018500 197

W01-358-8025 G2298025500 197

W01-358-8027 G2298027500 197

W01-358-8032 G2298032500 198

W01-358-8033 G2298033500 198

W01-358-8050 G2298050400 145

W01-358-8051 G2298051400 145

W01-358-8052 G2298052400 146

W01-358-8053 G2298053400 146

W01-358-8088 G2298088400 142

W01-358-8091 G2298091200 144

W01-358-8093 G2298093200 152

W01-358-8197 G2298197200 73

W01-358-8201 G2298201200 73

W01-358-8203 G2298203200 74

W01-358-8204 G2298204200 74

W01-358-8637 G2298637300 137

W01-358-8646 G2298646200 74

Firestone Part No. Order Number Page Number

W01-358-8708 G2298708300 138

W01-358-8709 G2298709200 141

W01-358-8710 G2298710300 135

W01-358-8713 G2298713300 138

W01-358-8723 G2298723300 135

W01-358-8729 G2298729200 141

W01-358-8740 G2298740300 135

W01-358-8744 G2298744200 139

W01-358-8746 G2298746200 139

W01-358-8748 G2298748200 139

W01-358-8749 G2298749200 140

W01-358-8751 G2298751200 136

W01-358-8752 G2298752300 136

W01-358-8753 G2298753300 136

W01-358-8755 G2298755300 137

W01-358-8764 G2298764400 154

W01-358-8774 G2298774200 148

W01-358-8778 G2298778400 148

W01-358-8779 G2298779400 152

W01-358-8780 G2298780400 153

W01-358-8781 G2298781400 153

W01-358-8782 G2298782300 137

W01-358-8796 G2298796400 155

W01-358-8800 G2299579300 81

W01-358-8802 G2298802200 82

W01-358-8803 G2298803200 83

W01-358-8805 G2298805200 83

W01-358-8806 G2298806400 83

W01-358-8810 G2298810400 84

W01-358-8813 G2298813200 84

W01-358-8816 G2298816200 84

W01-358-8817 G2298817200 85

W01-358-8852 G2298852200 121

W01-358-8855 G2298855200 121

W01-358-8856 G2298856200 121

W01-358-8864 G2298864200 122

W01-358-8882 G2298882200 75

W01-358-8888 G2298888200 108

W01-358-8897 G2298897200 58

W01-358-8897 G2299376200 58

W01-358-8901 G2298901200 58

W01-358-8903 G2298903200 108

W01-358-8919 G2298919200 62

W01-358-8924 G2298924200 95

W01-358-8927 G2298927200 95

W01-358-8930 G2298930200 75

W01-358-8932 G2298932200 75

W01-358-8934 G2298934200 76

W01-358-8944 G2298944200 108



16 Air Springs  – Replacement Guide 2016

C
ro

ss
 R

ef
er

en
ce

s

Firestone Part No. Order Number Page Number

W01-358-8949 G2298949200 63

W01-358-8963 G2298963200 67

W01-358-8964 G2298964200 67

W01-358-8971 G2298971200 67

W01-358-8976 G2298976200 68

W01-358-8986 G2298986200 68

W01-358-8992 G2298992300 51

W01-358-8997 G2298997300 53

W01-358-9004 G2299004200 95

W01-358-9008 G2299008200 85

W01-358-9010 G2299010200 85

W01-358-9011 G2299011200 86

W01-358-9026 G2299026200 96

W01-358-9029 G2299029200 68

W01-358-9030 G229P338200 72

W01-358-9031 G2299031200 69

W01-358-9033 G2299033200 69

W01-358-9039 G2299039200 69

W01-358-9053 G2299053400 76

W01-358-9059 G2299059200 86

W01-358-9063 G2299063200 87

W01-358-9068 G2299068200 87

W01-358-9069 G2299069200 87

W01-358-9070 G2299070400 88

W01-358-9071 G2299071200 88

W01-358-9077 G2299077200 70

W01-358-9082 G2299082200 96

W01-358-9083 G2299083200 96

W01-358-9092 G2299092200 97

W01-358-9093 G2299093200 97

W01-358-9096 G2299096200 97

W01-358-9101 G2299101200 122

W01-358-9105 G2299105200 76

W01-358-9116 G2299116400 148

W01-358-9121 G2299121400 149

W01-358-9122 G2298792400 155

W01-358-9127 G2299127400 77

W01-358-9130 G2299130200 122

W01-358-9134 G2299134400 153

W01-358-9138 G2299138400 154

W01-358-9144 G2299144400 149

W01-358-9148 G2299148400 149

W01-358-9149 G2299149400 150

W01-358-9156 G2299156400 155

W01-358-9158 G2299158400 156

W01-358-9164 G2299164400 150

W01-358-9177 G2299177400 150

W01-358-9179 G2299177400 150

W01-358-9192 G2299192200 123

Firestone Part No. Order Number Page Number

W01-358-9193 G2299193200 98

W01-358-9194 G2299194200 98

W01-358-9199 G2299199400 156

W01-358-9200 G2299200400 142

W01-358-9203 G2299203200 123

W01-358-9204 G2299204400 142

W01-358-9213 G2299213200 98

W01-358-9215 G2299215400 143

W01-358-9216 G2299216400 143

W01-358-9218 G2299218400 143

W01-358-9219 G2299219200 99

W01-358-9221 G2299221400 151

W01-358-9223 G2299223200 99

W01-358-9227 G2299227200 99

W01-358-9228 G2299228400 100

W01-358-9238 G2299238200 123

W01-358-9240 G2299240200 124

W01-358-9241 G229A358400 127

W01-358-9243 G229P384200 124

W01-358-9245 G2299245200 124

W01-358-9250 G2299250400 131

W01-358-9252 G2299252400 131

W01-358-9256 G2299256200 100

W01-358-9264 G2299264300 159

W01-358-9265 G2299265200 125

W01-358-9269 G2299269400 132

W01-358-9270 G2299270300 80

W01-358-9275 G2299275400 117

W01-358-9277 G2299277400 144

W01-358-9291 G2299291200 64

W01-358-9293 G2299293200 64

W01-358-9294 G2299294200 64

W01-358-9295 G2299295200 65

W01-358-9296 G2299296200 100

W01-358-9297 G2299297200 117

W01-358-9299 G2299299200 101

W01-358-9302 G2299302200 77

W01-358-9304 G2299304200 101

W01-358-9307 G2299307200 70

W01-358-9308 G2299308200 70

W01-358-9320 G2299320200 132

W01-358-9321 G2299321400 132

W01-358-9325 G2299325200 77

W01-358-9332 G2299332200 71

W01-358-9333 G2299333200 71

W01-358-9334 G2299334200 71

W01-358-9335 G2299335200 88

W01-358-9336 G2299336200 89

W01-358-9338 G2299338200 133



17Air Springs  – Replacement Guide 2016

C
ro

ss R
eferen

ces

Firestone Part No. Order Number Page Number

W01-358-9339 G2299339200 78

W01-358-9342 G2299342200 109

W01-358-9346 G2299346200 125

W01-358-9348 G2299348200 125

W01-358-9349 G2299349200 126

W01-358-9350 G2299350200 126

W01-358-9362 G2299362200 101

W01-358-9365 G2299365200 78

W01-358-9366 G2299366200 78

W01-358-9367 G2299367200 133

W01-358-9367 G2299367400 133

W01-358-9370 G2299370200 134

W01-358-9371 G2299371200 118

W01-358-9373 G2299373200 118

W01-358-9376 G2299376200 58

W01-358-9378 G2299378200 59

W01-358-9379 G2299379200 59

W01-358-9385 G2299385200 62

W01-358-9387 G2299387200 59

W01-358-9392 G2299392200 102

W01-358-9394 G2299394200 126

W01-358-9394 G229A358400 127

W01-358-9394 G229P358200 128

W01-358-9421 G2299421200 60

W01-358-9422 G2299422200 60

W01-358-9439 G2299439400 63

W01-358-9448 G2299448200 60

W01-358-9463 G2299463200 89

W01-358-9465 G2299465200 63

W01-358-9466 G2299466200 102

W01-358-9467 G2299467400 89

W01-358-9469 G2299469400 90

W01-358-9470 G2299470200 109

W01-358-9471 G2299471200 109

W01-358-9472 G2299472200 110

W01-358-9473 G2299473200 110

W01-358-9474 G2299474200 102

W01-358-9482 G2299482200 90

W01-358-9483 G2299483200 90

W01-358-9484 G2299484200 91

W01-358-9491 G2299491200 117

W01-358-9496 G2299496200 103

W01-358-9501 G2299501200 110

W01-358-9504 G2299504200 111

W01-358-9507 G2299507200 91

W01-358-9534 G2299534200 72

W01-358-9541 G2299541200 56

W01-358-9547 G2299547200 55

W01-358-9551 G2299551200 61

Firestone Part No. Order Number Page Number

W01-358-9567 G2299567200 91

W01-358-9568 G2299568200 92

W01-358-9579 G2299579300 81

W01-358-9580 G2299580300 140

W01-358-9581 G2299581300 140

W01-358-9616 G2299616200 61

W01-358-9617 G2299617200 56

W01-358-9618 G2299618200 57

W01-358-9619 G2299619200 66

W01-358-9621 G2299621200 66

W01-358-9622 G2299622200 56

W01-358-9625 G2299625200 57

W01-358-9626 G2299626200 66

W01-358-9634 G2299634200 92

W01-358-9640 G2299640400 79

W01-358-9643 G2299643200 103

W01-358-9645 G2299645200 134

W01-358-9646 G2299646200 131

W01-358-9647 G2299647200 119

W01-358-9654 G2299654200 119

W01-358-9656 G2299656200 119

W01-358-9663 G2299663200 120

W01-358-9675 G2299675200 57

W01-358-9697 G2299697200 92

W01-358-9774 G2299774200 81

W01-358-9797 G2299797400 93

W01-358-9798 G2299798200 93

W01-358-9807 G2299807200 81

W01-358-9902 G2299902200 111

W01-358-9921 G2299921200 111

W01-358-9922 G2299922200 112

W01-358-9923 G2299923200 112

W01-358-9935 G2299935200 112

W01-358-9936 G2299936200 113

W01-358-9942 G2299942200 113

W01-358-9943 G2299943200 113

W01-358-9944 G2299944200 103

W01-358-9948 G2299948400 114

W01-358-9959 G2299959200 93

W01-358-9961 G2299961400 151

W01-358-9966 G2299966200 114

W01-358-9972 G2299972200 115

W01-358-9974 G2299974400 115

W01-358-9978 G2299978200 94

W01-W35-9060 G2299060200 86

W02-358-7001 G2297001600 209

W02-358-7035 G2297035600 211

W02-358-7036 G2297036600 214

W02-358-7042 G2297042600 211



18 Air Springs  – Replacement Guide 2016

C
ro

ss
 R

ef
er

en
ce

s

Firestone Part No. Order Number Page Number

W02-358-7045 G2297045600 212

W02-358-7046 G2297046600 209

W02-358-7056 G2297056600 212

W02-358-7061 G2297061600 212

W02-358-7064 G2297064600 214

W02-358-7074 G2297074600 213

W02-358-7075 G2297075600 213

W02-358-7086 G2297086600 210

W02-358-7087 G2297087600 213

W02-358-7092 G2297092600 208

W02-358-7098 G2297098600 210

W02-358-7100 G2297100600 210

W02-358-7103 G2297103600 214

W02-358-7109 G2297109600 215

W02-358-7110 G2297110600 208

W02-358-7152 G2297152600 208

W02-358-7200 G2297200600 209

W02-358-7201 G2297201600 211

W02-358-7205 G2297205600 216

W02-358-7206 G2297206600 215

W02-358-7215 G2297215600 216

W02-377-7202 G2297206600 215

W21-760-7689 G2290764500 164

W01-358-7689 G2297689500 164

W26-358-9912 G2299912200 52

W26-358-9913 G2299912200 52



19Air Springs  – Replacement Guide 2016

C
ro

ss R
eferen

ces

Goodyear Part No. Order Number Page Number

3B14-457 G2297843500 201

3B12-319 G2298032500 198

1B12-301 G2297009500 189

1B14-350 G2297103500 191

1B14-351 G2297105500 191

1B14-358 G2297112500 192

1R10-120 G2299293200 64

1R10-122 G2299291200 64

1R10-141 G2298949200 63

1R11-028 G2299422200 60

1R11-149 G2298901200 58

1R11-150 G2299448200 60

1R11-159 G2299387200 59

1R11-166 G2299295200 65

1R11-171 G2299421200 60

1R11-178 G2299385200 62

1R11-191 G2298919200 62

1R11-200 G2299376200 58

1R11-202 G2299378200 59

1R11-203 G2299387200 59

1R11-219 G2299617200 56

1R11-220 G2299618200 57

1R11-221 G2299622200 56

1R11-221 G2299675200 57

1R11-222 G2299625200 57

1R11-223 G2299469400 90

1R11-242 G2299616200 61

1R11-268 G2299547200 55

1R11-915 G2299294200 64

1R12-066 G2299083200 96

1R12-069 G2299069200 87

1R12-090 G229P407200 104

1R12-092 G2299082200 96

1R12-095 G2299039200 69

1R12-103 G2299101200 122

1R12-130 G2299227200 99

1R12-132 (15° Piston align) G2299302200 77

1R12-132 (45° Piston align) G2299105200 76

1R12-142 G229A946400 128

1R12-142 G229P946200 130

1R12-143 G2299392200 102

1R12-145 G2299238200 123

1R12-167 G2299192200 123

1R12-178 G2299379200 59

1R12-182 G2299219200 99

1R12-188 G2299223200 99

1R12-195 G2299349200 126

1R12-205 G2299568200 92

1R12-208 G229P973200 130

Goodyear Part No. Order Number Page Number

1R12-220 G2299092200 97

1R12-256 G2299367200 133

1R12-256 G2299367400 133

1R12-261 G229A946400 128

1R12-261 G229P946200 130

1R12-275 G2299240200 124

1R12-279 G2299394200 126

1R12-281 G229A358400 127

1R12-281 G229P358200 128

1R12-285 G2299060200 86

1R12-303 G2299780200 106

1R12-309 G2299053400 76

1R12-325 G2299567200 91

1R12-335 G2299321400 132

1R12-350 G2299031200 69

1R12-351 G2299033200 69

1R12-356 G2299194200 98

1R12-357 G2299348200 125

1R12-358 G2299096200 97

1R12-359 G2299077200 70

1R12-363 G2299320200 132

1R12-365 G2299466200 102

1R12-366 G2299299200 101

1R12-366 G2298944200 108

1R12-367 G2299640400 79

1R12-370 G2299070400 88

1R12-373 G2299491200 117

1R12-375 G2299265200 125

1R12-395 G2299203200 123

1R12-400 G2299296200 100

1R12-401 G2299371200 118

1R12-402 G2299297200 117

1R12-403 G2299373200 118

1R12-405 G2298888200 108

1R12-421 G2299010200 85

1R12-434 G2298802200 82

1R12-435 G2299307200 70

1R12-435 G2299334200 71

1R12-436 G2298924200 95

1R12-437 G2299797400 93

1R12-438 G2298805200 83

1R12-439 G2299346200 125

1R12-441 G2299362200 101

1R12-445 G2298806400 83

1R12-446 G2299245200 124

1R12-467 G229A830400 127

1R12-467 G229A801400 130

1R12-480 G229P384200 124

1R12-481 G2299923200 112



20 Air Springs  – Replacement Guide 2016

C
ro

ss
 R

ef
er

en
ce

s

Goodyear Part No. Order Number Page Number

1R12-484 G2299504200 111

1R12-485 G2299501200 110

1R12-486 G2299504200 111

1R12-487 G2299366200 78

1R12-492 G2298806400 83

1R12-494 G229A802400 115

1R12-498 G2299922200 112

1R12-499 G2299936200 113

1R12-502 G2299921200 111

1R12-504 G2299471200 109

1R12-505 G2299325200 77

1R12-508 G2298204200 74

1R12-512 G2299127400 77

1R12-532 G2299935200 112

1R12-534 G229P762200 128

1R12-541 G229P769200 104

1R12-552 G2299501200 110

1R12-556 G2298964200 67

1R12-557 G2298976200 68

1R12-558 G2298986200 68

1R12-559 G2299029200 68

1R12-560 G2299308200 70

1R12-561 G2299332200 71

1R12-562 G2298197200 73

1R12-563 G2298934200 76

1R12-567 G2299026200 96

1R12-568 G2298852200 121

1R12-571 G2299365200 78

1R12-576 G229P770200 104

1R12-580 G2299370200 134

1R12-586 G2299473200 110

1R12-603 G2299781400 106

1R12-609 G229P817200 134

1R12-613 G229A552400 127

1R12-620 G2299335200 88

1R12-621 G2299093200 97

1R12-636 G2299634200 92

1R13-038 G229A026400 156

1R13-039 G229S783300 138

1R13-039 G2299121400 149

1R13-097 G2298723300 135

1R13-109 G2298782300 137

1R13-115 G2299250400 131

1R13-116 G2299252400 131

1R13-117 G2299275400 117

1R13-118 G2299580300 140

1R13-119 G2299270300 80

1R13-120 G2299218400 143

1R13-124 G2298710300 135

Goodyear Part No. Order Number Page Number

1R13-124 G2298755300 137

1R13-130 G2298729200 141

1R13-152 G2298748200 139

1R13-153 G2298749200 140

1R13-155 G2298637300 137

1R13-159 G2298751200 136

1R13-159 G2298709200 141

1R13-176 G2298713300 138

1R13-177 G2298708300 138

1R13-239 G2299579300 81

1R14-018 G2299149400 150

1R14-019 G2299156400 155

1R14-026 G2299148400 149

1R14-028 G2299177400 150

1R14-030 G2299158400 156

1R14-037 G2299215400 143

1R14-038 G2299200400 142

1R14-039 G2298050400 145

1R14-042 G2298052400 146

1R14-045 G2298792400 155

1R14-094 G229A101400 146

1R14-113 G2295505300 158

1R14-115 G2299961400 151

1R14-127 G2299264300 159

1R14-130 G2298778400 148

1R14-137 G2299134400 153

1R14-147 G2298053400 146

1R14-151 G229A960400 154

1R14-154 G229A062400 157

1R14-155 G229A729400 147

1R14-159 G2299164400 150

1R14-160 G2299144400 149

1R14-170 G229A752400 159

1R14-171 G2298091200 144

1R14-172 G2298774200 148

1R14-174 G2295503400 158

1R14-198 G229A706400 147

1R14-201 G229A965400 157

1R9-038 G2295406300 53

1R9-065 G2292119300 50

1R9-065 G2298997300 53

1R9-070 G2295410300 54

1S12-244 G2299371200 118

1S4.5-113 G2297056600 212

1S4.5-121 G2297035600 211

1S4-007 G2297001600 209

1S4-123 G2297046600 209

1S4-175 G2297086600 210

1S5-010 G229YG01600 215



21Air Springs  – Replacement Guide 2016

C
ro

ss R
eferen

ces

Goodyear Part No. Order Number Page Number

1S5-040 G2297087600 213

1S5-120 G2297042600 211

1S5-152 G2297110600 208

1S5-157 G2297075600 213

1S5-157 G2297064600 214

2B10-226 G2297795500 170

2B12-300 G2297424500 178

2B12-304 G2297344500 175

2B12-305 G2297443500 180

2B12-307 G2297403500 176

2B12-309 G2297400500 175

2B12-313 G2297405500 176

2B12-317 G2297499500 182

2B12-319 G2297409500 177

2B12-320 G2297437500 178

2B12-324 G2297447500 181

2B12-324 G2297790500 182

2B12-345 G2297545500 183

2B12-346 G2297550500 183

2B12-402 G2297446500 180

2B12-406 G2297410500 177

2B12-416 G2297444500 180

2B12-425 G2297180500 174

2B12-427 G2297429500 178

2B12-428 G2297473500 181

2B12-429 G2297184500 175

2B12-432 G2297423500 177

2B12-434 G2297472500 181

2B12-440 G2297555500 183

2B14-354 G2297145500 185

2B14-355 G2297146500 185

2B14-356 G2297136500 184

2B14-359 G2297140500 185

2B14-360 G2297135500 184

2B14-365 G2296801500 186

2B14-366 G2296803500 186

2B14-367 G2297123500 184

2B14-383 G2297557500 187

2B14-462 G2296805500 186

2B14-470 G2297782500 188

2B14-476 G2296799500 187

2B7-548 G2297659500 162

2B8-550 G2297325500 163

2B9-200 G2296910500 167

2B9-201 G2296935500 168

2B9-206 G2296905500 166

2B9-210 G2296908500 167

2B9-218 G2296927500 172

Goodyear Part No. Order Number Page Number

2B9-229 G2296897500 165

2B9-229 G2296886500 170

2B9-230 G2296940500 168

2B9-239 G2296902500 166

2B9-245 G2297788500 169

2B9-246 G2296932500 168

2B9-250 G2296943500 172

2B9-251 G2296948500 174

2B9-252 G2296844500 172

2B9-253 G2296945500 173

2B9-254 G2296946500 173

2B9-255 G2296947500 173

2B9-266 G2296844500 172

2B9-280 G2296941500 169

2B9-283 G2296883500 170

2B9-288 G2296926500 167

3B12-300 G2298008500 196

3B12-301 G2298010500 196

3B12-303 G2298018500 197

3B12-304 G2290503500 192

3B12-310 G2298027500 197

3B12-312 G2298033500 198

3B12-315 G2297995500 194

3B12-335 G2297996500 195

3B12-335 G2297723500 195

3B14-354 G2297808500 200

3B14-356 G2297798500 199

3B14-359 G2297818500 200

3B14-360 G2297800500 199

3B14-364 G2297843500 201

3B14-367 G2297847500 203

3B14-451 G2297846500 202

3B14-452 G2297850500 203

3B14-459 G2297847500 203

3B14-460 G2297848500 203

GY 3B14-453 G2297838500 201

GY 3B14-456 G2297839500 201



22 Air Springs  – Replacement Guide 2016

C
ro

ss
 R

ef
er

en
ce

s

Triangle Part No. Order Number Page Number

4310 G2296902500 166

4311 G2297135500 184

4313 G2297400500 175

4315 G2296905500 166

4316 G2297140500 185

4318 G2297403500 176

4319 G2296900500 166

4320 G2296910500 167

4321 G2297136500 184

4323 G2297443500 180

4325 G2297818500 200

4327 G2297424500 178

4329 G2297798500 199

4331 G2297410500 177

4333 G2297800500 199

4334 G2297437500 178

4336 G2297808500 200

4337 G2297401500 176

4339 G2297112500 192

4340 G2297447500 181

4342 G2297146500 185

4343 G2297429500 178

4345 G2297123500 184

4361 G2297117500 192

4362 G2296908500 167

4363 G2297180500 174

4364 G2297405500 176

4367 G2297409500 177

4368 G2297423500 177

4369 G2297444500 180

4370 G2297446500 180

4371 G2297472500 181

4372 G2297473500 181

4373 G2297483500 182

4374 G2297145500 185

4413 G2298032500 198

4426 G2296943500 172

4427 G2296945500 173

4428 G2296947500 173

4428 G2296948500 174

4430 G2298006500 195

4431 G2298008500 196

4432 G2298010500 196

4433 G2298016500 196

4434 G2298018500 197

4436 G2297838500 201

4437 G2297839500 201

4438 G2297844500 202

4439 G2297848500 203

Triangle Part No. Order Number Page Number

4441 G2297850500 203

4442 G2297103500 191

4446 G2297104500 191

4447 G2297105500 191

4448 G2296941500 169

4449 G2296803500 186

4450 G2296940500 168

4451 G2296801500 186

4452 G2296932500 168

4453 G2296927500 172

4454 G2296844500 172

4455 G2297843500 201

4456 G2297846500 202

4457 G2297847500 203

4463 G2296946500 173

4466 G2298027500 197

4467 G2296994500 188

4468 G2297009500 189

4469 G2298025500 197

4474 G2297008500 189

4480 G2297555500 183

4499 G2296935500 168

4500 G2297344500 175

4502 G2297499500 182

4503 G2290503500 192

4504 G2296926500 167

4505 G2296897500 165

4506 G2296949500 169

4508 G2298033500 198

4509 G2297325500 163

4510 G2297788500 169

4512 G2296789500 179

4513 G2297790500 182

4514 G2297545500 183

4515 G2297093500 190

4516 G2297096500 190

4517 G2297088500 189

4520 G2297996500 195

4520 G2297723500 195

4521 G2297845500 202

4522 G2297855500 204

4523 G2297859500 204

4524 G2297897500 171

4529 G2296883500 170

4530 G2297557500 187

4532 G2296805500 186

4534 G2297862500 205

4535 G2297797500 199

4536 G2297796500 198



23Air Springs  – Replacement Guide 2016

C
ro

ss R
eferen

ces

Triangle Part No. Order Number Page Number

4537 G2297853500 204

4538 G2297094500 190

4539 G2296890500 165

4541 G2297550500 183

4543 G2296799500 187

4544 G2297782500 188

4545 G2297781500 187

4547 G2297995500 194

4549 G2290549500 179

4703 G2297990500 194

4706 G2296886500 170

4713 G2297795500 170

4715 G2297705500 164

4722 G2290722500 193

4724 G2296884500 165

4775 G2297659500 162

4804 G229A804500 162

4808 G2290808500 200

8015 G2299581300 140

8023 G2299972200 115

8024 G2298197200 73

8025 G2298764400 154

8026 G229A026400 156

8027 G2292119300 50

8031 G2295311300 50

8032 G2295323300 50

8035 G2295319300 51

8037 G2298992300 51

8038 G2295405300 53

8039 G2295406300 53

8041 G2295412300 54

8044 G2295433300 55

8045 G2295434300 55

8054 G2295298300 51

8072 G2299541200 56

8073 G2299547200 55

8075 G2299625200 57

8076 G2299675200 57

8310 G2299082200 96

8311 G2299039200 69

8312 G2299069200 87

8313 G2298792400 155

8314 G2299422200 60

8315 G2299101200 122

8316 G2299177400 150

8317 G2299121400 149

8318 G2299158400 156

8319 G2299105200 76

8320 G2298050400 145

Triangle Part No. Order Number Page Number

8321 G2299130200 122

8323 G2299275400 117

8324 G2299250400 131

8325 G2299096200 97

8326 G2299192200 123

8327 G2299053400 76

8328 G2299033200 69

8330 G2299070400 88

8331 G2299077200 70

8332 G2299093200 97

8333 G2299083200 96

8335 G2299059200 86

8337 G2299439400 63

8338 G229P338200 72

8339 G2299031200 69

8340 G229P340200 72

8343 G2299302200 77

8344 G2299008200 85

8345 G2299010200 85

8346 G2299011200 86

8347 G2299063200 87

8348 G2299068200 87

8349 G2299071200 88

8351 G2299193200 98

8352 G2299194200 98

8353 G2299227200 99

8354 G2299228400 100

8355 G2299203200 123

8356 G2299238200 123

8357 G2299240200 124

8359 G2299350200 126

8360 G2299320200 132

8361 G2299321400 132

8363 G2299252400 131

8364 G2299148400 149

8365 G2299149400 150

8367 G2299961400 151

8370 G2299156400 155

8371 G2299256200 100

8372 G2299092200 97

8376 G2299392200 102

8377 G2299144400 149

8378 G2298052400 146

8379 G2299379200 59

8380 G2298053400 146

8381 G2299798200 93

8382 G2299781400 106

8383 G2299394200 126



24 Air Springs  – Replacement Guide 2016

C
ro

ss
 R

ef
er

en
ce

s

Triangle Part No. Order Number Page Number

8384 G229P384200 124

8385 G2298051400 145

8388 G2299221400 151

8390 G2299245200 124

8391 G2299362200 101

8392 G2299304200 101

8393 G2299026200 96

8394 G2299004200 95

8395 G2299325200 77

8396 G2298930200 75

8397 G2299332200 71

8398 G2299308200 70

8399 G2299029200 68

8400 G2298986200 68

8405 G2299164400 150

8407 G229P407200 104

8408 G2299219200 99

8409 G2299223200 99

8410 G2299466200 102

8414 G2299215400 143

8415 G2299200400 142

8416 G2299296200 100

8417 G2299295200 65

8418 G2299342200 109

8419 G2298088400 142

8420 G2299277400 144

8421 G2299216400 143

8422 G2299218400 143

8423 G2299294200 64

8424 G2299293200 64

8425 G2299291200 64

8426 G2299902200 111

8427 G2299640400 79

8428 G2299922200 112

8429 G2299923200 112

8430 G2299942200 113

8431 G2299134400 153

8432 G2299138400 154

8433 G2299270300 80

8434 G2299580300 140

8435 G2299265200 125

8436 G2298944200 108

8437 G2299463200 89

8438 G2299349200 126

8439 G2299348200 125

8441 G2299213200 98

8443 G2299921200 111

8445 G2299473200 110

8446 G2295410300 54

Triangle Part No. Order Number Page Number

8447 G2299378200 59

8448 G2299370200 134

8450 G2299568200 92

8452 G2299947200 114

8453 G2298751200 136

8454 G2299936200 113

8455 G2298949200 63

8460 G2298709200 141

8461 G2299567200 91

8462 G2298805200 83

8463 G229A463400 79

8464 G2298901200 58

8465 G2299335200 88

8467 G2299472200 110

8469 G2298802200 82

8470 G2299346200 125

8471 G2299307200 70

8472 G2298852200 121

8473 G2298963200 67

8475 G2299943200 113

8477 G2299376200 58

8479 G2299387200 59

8480 G2298964200 67

8481 G2299333200 71

8482 G2299334200 71

8483 G2298201200 73

8484 G2298204200 74

8485 G2298932200 75

8486 G2298749200 140

8487 G2299339200 78

8488 G2299366200 78

8489 G2298803200 83

8490 G2299336200 89

8491 G2299467400 89

8492 G2299482200 90

8493 G2299483200 90

8494 G2299484200 91

8495 G2299365200 78

8496 G2299797400 93

8497 G2298924200 95

8498 G2298927200 95

8500 G2299474200 102

8501 G2299470200 109

8502 G2299471200 109

8503 G2298976200 68

8506 G2299204400 142

8507 G2298778400 148

8508 G2298779400 152

8509 G2298780400 153



25Air Springs  – Replacement Guide 2016

C
ro

ss R
eferen

ces

Triangle Part No. Order Number Page Number

8510 G2299944200 103

8511 G2299338200 133

8513 G2298729200 141

8515 G2299616200 61

8517 G2298919200 62

8518 G2298752300 136

8519 G2299373200 118

8520 G2299297200 117

8521 G2299371200 118

8522 G2298755300 137

8523 G2298091200 144

8525 G2298997300 53

8526 G2298708300 138

8530 G2295503400 158

8533 G2298713300 138

8535 G2299948400 114

8536 G2298903200 108

8537 G2299622200 56

8538 G2299625200 57

8543 G2298203200 74

8544 G2298934200 76

8545 G2298806400 83

8546 G2298810400 84

8547 G2299496200 103

8548 G2299935200 112

8549 G2299643200 103

8550 G2299647200 119

8552 G2298855200 121

8553 G2298856200 121

8554 G2299491200 117

8555 G2299269400 132

8556 G2299116400 148

8557 G2298781400 153

8558 G2299199400 156

8559 G2295423300 54

8563 G2299448200 60

8564 G2299646200 131

8565 G2299645200 134

8568 G2299626200 66

8569 G2299644200 105

8570 G2298748200 139

8572 G2299501200 110

8574 G2299504200 111

8575 G2299634200 92

8577 G2298813200 84

8705 G2299421200 60

8711 G2298710300 135

8712 G2299264300 159

8713 G2298753300 136

Triangle Part No. Order Number Page Number

8717 G2299534200 72

8718 G2299507200 91

8724 G2298637300 137

8730 G2298897200 58

8740 G2299621200 66

8741 G2299619200 66

8743 G2298093200 152

8745 G2298774200 148

8751 G229A751400 144

8752 G229A752400 159

8755 G2299376200 58

8756 G2299622200 56

8762 G229P762200 128

8765 G2298842200 120

8769 G229P769200 104

8770 G229P770200 104

8773 G2298740300 135

8779 G2296258200 107

8814 G229P814200 129

8831 G2296262200 107

8839 G2298882200 75

8841 G229P841200 105

8855 G229A855400 157

8856 G229A856400 159

8859 G2299547200 55

8860 G2299617200 56

8862 G2299618200 57

8862 G2299541200 56

8871 G2298782300 137

8874 G2299807200 81

8882 G2299697200 92

8926 G229A926400 107

8930 G2299974400 115

8931 G2295511400 158

8932 G2298646200 74

8934 G229P934200 145

8949 G229P949200 141

8973 G229P973200 130

8978 G229P978200 82

8999 G229A999400 106

8358AP G229A358400 127

8358PP G229P358200 128

8382P G2299780200 106

8463P G229P463200 80

8505AP G2299367400 133

8505PP G2299367200 133

8999P G2299759200 105

AS-5001 G2297001600 209

AS-5035 G2297035600 211



26 Air Springs  – Replacement Guide 2016

C
ro

ss
 R

ef
er

en
ce

s

Triangle Part No. Order Number Page Number

AS-5036 G2297036600 214

AS-5046 G2297046600 209

AS-5061 G2297061600 212

AS-5064 G2297064600 214

AS-5075 G2297075600 213

AS-5086 G2297086600 210

AS-5087 G2297087600 213

AS-5092 G2297092600 208

AS-5100 G2297100600 210

AS-5103 G2297103600 214

AS-5152 G2297152600 208

AS-5200 G2297200600 209

AS-5201 G2297201600 211

AS-5205 G2297205600 216

AS-5206 G2297206600 215

AS-5215 G2297215600 216

AS-5G01 G229YG01600 215

AS-8830 G229A830400 127



27Air Springs  – Replacement Guide 2016

C
ro

ss R
eferen

ces

OEM Name & Part No. Order Number
Page

Number

American Carrier

8003-003 G2299421200 60

8003-005 G2297146500 185

8003-006 G2297325500 163

8003-007 G2297105500 191

8003-011 G2295412300 54

8003-013 G2297093500 190

Arvin Meritor

202796 G2298729200 141

21227742 G2296262200 107

21227892 G2296258200 107

2258-C-1459 G2298203200 74

Binkley

XB-SPN-053-37 G2298204200 74

XB-SPN-053-37 G2297555500 183

Bluebird

1263581 G2298997300 53

300-961425 G2298997300 53

Chevrolet

15630691 G2299798200 93

15963147 G2299339200 78

15963148 G2299339200 78

2076095 G2297401500 176

693230 G2297400500 175

711954 G2297401500 176

Cush

C0060 G229A801400 130

C0073 G2297555500 183

C0079 G229A802400 115

C0080 G2296948500 174

C0083 G2297781500 187

Dayton

352-8050 G2298050400 145

352-9039 G2299039200 69

352-9053 G2299053400 76

352-9069 G2299069200 87

352-9082 G2290712400 94

352-9082 G2299082200 96

352-9083 G2299083200 96

352-9096 G2299096200 97

352-9101 G2299101200 122

352-9105 G2299105200 76

352-9121 G2299121400 149

352-9122 G2298792400 155

352-9130 G2299130200 122

352-9148 G2299148400 149

352-9149 G2299149400 150

352-9158 G2299158400 156

352-9177 G2299177400 150

OEM Name & Part No. Order Number
Page

Number

352-9194 G2299194200 98

352-9200 G2299200400 142

352-9203 G2299203200 123

352-9213 G2299213200 98

352-9215 G2299215400 143

352-9238 G2299238200 123

352-934 G2299321400 132

352-9422 G2299422200 60

354-6801 G2296801500 186

354-6803 G2296803500 186

354-6905 G2296905500 166

354-6910 G2296910500 167

354-6947 G2296947500 173

354-7112 G2297112500 192

354-7123 G2297123500 184

354-7135 G2297135500 184

354-7136 G2297136500 184

354-7140 G2297140500 185

354-7145 G2297145500 185

354-7146 G2297146500 185

354-7400 G2297400500 175

354-7403 G2297403500 176

354-7405 G2297405500 176

354-7409 G2297409500 177

354-7410 G2297410500 177

354-7424 G2297424500 178

354-7429 G2297429500 178

354-7437 G2297437500 178

354-7443 G2297443500 180

354-7446 G2297446500 180

354-7447 G2297447500 181

354-7798 G2297798500 199

354-7800 G2297800500 199

354-7818 G2297818500 200

354-7839 G2297839500 201

354-7847 G2297847500 203

354-8008 G2298008500 196

354-8008 G2298025500 197

DINA

A-8127-19 G2296910500 167

Eveley

RA 1990-1 G2297135500 184

RA 1954-11 G2299474200 102

RA 1954-4 G2298792400 155

RA 1954-5 G2290712400 94

RA 1954-5 G2299082200 96

EZ Ride

8030120 G2296905500 166

8030150 G2297447500 181



28 Air Springs  – Replacement Guide 2016

C
ro

ss
 R

ef
er

en
ce

s

OEM Name & Part No. Order Number
Page

Number

8030155 G2298008500 196

8030160 G2296801500 186

8030170 G2297798500 199

8030170 G2297808500 200

8030170 G2297838500 201

8030180 G2297818500 200

8030180 G2297839500 201

8030190 G2297180500 174

8030192 G2299053400 76

Fab Tek

04-0080 G2297400500 175

101357 G2299071200 88

101827 G2299039200 69

101929 G2290712400 94

101929 G2299082200 96

10828 G2299053400 76

Flexible

6-336-11 G2295406300 53

6-336-13 G2297344500 175

6-336-196 G2298997300 53

6-336-200 G2299439400 63

6-336-202 G2299039200 69

6-336-5 G2297344500 175

6-379-1 G2295311300 50

97-9999-01867 G2297001600 209

Freightliner

16-10769-000 G2297400500 175

16-11378-000 G2297410500 177

16-13810-000 G2299780200 106

16-13810-000 G2299781400 106

16-13840-000 G2299780200 106

16-13840-000 G2299781400 106

16-14004-000 G2299780200 106

16-14004-000 G2299781400 106

16-14263-000 G2299634200 92

16-14263-001 G2299634200 92

16-15443-000 G2299634200 92

16-15443-001 G2299634200 92

16-15444-000 G2299634200 92

16-15595-000 G2299780200 106

16-15595-000 G2299781400 106

16-15762-000 G2299774200 81

16-1673-000 G2299780200 106

16-16773-000 G2299781400 106

18-29919-000 G2297206600 215

18-42609-000 G2297200600 209

18-45068-000 G2297201600 211

18-52651-000 G2297215600 216

66003-3406 G2297205600 216

OEM Name & Part No. Order Number
Page

Number

681-320-0017 G2299780200 106

681-320-0017 G2299781400 106

A16-14004-000 G2299780200 106

A16-14004-000 G2299781400 106

A16-17574-000 G229A999400 106

A16-17574-001 G229A999400 106

A16-17574-002 G229A999400 106

A16-18335-000 G2299759200 105

A16-18335-001 G2299759200 105

FLD G2297087600 213

Fruehauf

MFR-022354 G2299077200 70

UCB-44531 G2299077200 70

UCD-9393-2 G2299394200 126

UCD-9393-2 G229A358400 127

UCD-9393-2 G229P358200 128

UCE-1304-1 G2299096200 97

UCE-1304-2 G2299053400 76

UCE-9393-1 G2299083200 96

UCE-9393-1 G2299130200 122

UCE-9393-3 G2299130200 122

Gillig

08-372-09-000N G2295298300 51

53-13188 G2299149400 150

53-20415-0001 G229A101400 146

GMC

2076095 G2297401500 176

693230 G2297400500 175

711954 G2297401500 176

711954 G2297437500 178

716111 G2295406300 53

Granning

1014 G2297818500 200

1015 G2297140500 185

1218 G2297443500 180

1359 G2299083200 96

1371 G2296910500 167

1476 G2297839500 201

1528 G2299083200 96

1589 G2297443500 180

1613 G2297798500 199

1613 G2297838500 201

1626 G2297136500 184

1971 G2295406300 53

2112 G2295410300 54

2725 G2297403500 176

2726 G2296910500 167

2726 G2297400500 175

2727 G2290712400 94



29Air Springs  – Replacement Guide 2016

C
ro

ss R
eferen

ces

OEM Name & Part No. Order Number
Page

Number

2727 G2299082200 96

2727 G2299342200 109

4514 G2297800500 199

4848 G2296902500 166

4848 G2296935500 168

5065 G2299105200 76

5122 G2292119300 50

5235 G2295423300 54

5307 G2295423300 54

7026 G2297855500 204

702932-01 G2296935500 168

704691-01 G229S734300 82

7416 G2297443500 180

7504 G2295323300 50

7631 G2296941500 169

7639 G2296844500 172

7640 G2299321400 132

7765 G2295434300 55

8896 G2299293200 64

9298 G2299342200 109

B59 G2299083200 96

Hendrickson

001346 G2297797500 199

001347 G2297505500 162

001475 G2297790500 182

001503 G2296789500 179

001795 G2297862500 205

001796 G2297545500 183

002878 G2297897500 171

003319 G2299367200 133

004828 G2297872500 205

005079 G2297659500 162

005079 G229A804500 162

009189 G2290797500 174

1285 G2297859500 204

20217 G2298944200 108

20900 G2298751200 136

23611 G2299646200 131

3317 G2297795500 170

36514-2 G2298792400 155

36514-8 G2298792400 155

409048-2C G2299466200 102

45843-1 G2296905500 166

45843-3 G2296910500 167

4773 G2299392200 102

48195-1 G2299227200 99

48195-2 G2299223200 99

49048 G2299466200 102

49160 G2299256200 100

OEM Name & Part No. Order Number
Page

Number

49207 G2299466200 102

49674-1 G2299466200 102

49674-2 G2299466200 102

50898-1 G2299297200 117

50898-2 G2299297200 117

56808-2 G2299339200 78

56917-1 G2299335200 88

56917-2 G2299335200 88

57140LH G2299339200 78

57150RH G2299339200 78

58520-2 G2299372200 118

58654-2 G2299372200 118

58786-2 G2299647200 119

58995-2 G2299643200 103

59484-2 G2298971200 67

59823-2 G2299911200 52

60271-2 G2299663200 120

60716-2 G2299554200 61

60750-2 G2299912200 52

60925-2 G2298817200 85

60929-2 G2298816200 84

64075-2 G2299912200 52

64651-2 G2299656200 119

65032-2 G2299654200 119

65183-002 G229P111200 120

66349-2 G2299912200 52

67304-2 G299P273200 52

67874-2 G2299911200 52

69116-2 G2299911200 52

69782-2 G2299911200 52

B-12335 G2297472500 181

B-12514-001 G2297403500 176

B-12514-003 G2299302200 77

B-12514-007 G2290712400 94

B-12514-007 G2299082200 96

B-12514-013 G2298050400 145

B-13032 G2299422200 60

B-14249 G2299321400 132

B-14249 G2299367200 133

B-14486 G2297795500 170

B-14487 G2290714500 193

B2394 G2292119300 50

B-3411 G2299228400 100

B-4375 G2299367200 133

C-10443 G229P973200 130

C20413 G2299265200 125

C-20901 G2298091200 144

C21624 G2298710300 135

C-23748 G2298093200 152



30 Air Springs  – Replacement Guide 2016

C
ro

ss
 R

ef
er

en
ce

s

OEM Name & Part No. Order Number
Page

Number

C-25873 G2298774200 148

NA 1817 G2299192200 123

S-1013 G2297400500 175

S-10170 G2297410500 177

S-10352 G2299240200 124

S-1080 G2297136500 184

S-11566 G2299010200 85

S-1159 G2297403500 176

S-11637 G2298008500 196

S-11650 G2299039200 69

S-11651 G2290712400 94

S-11651 G2299082200 96

S-12353 G2299092200 97

S-12405 G2298032500 198

S-12437 G2298792400 155

S-1245/ 36514-3 G2299105200 76

S-12514-004 G2299158400 156

S-12514-005 G2297472500 181

S-12514-008 G2298792400 155

S-12514-010 G2298792400 155

S-12514-011 G2299158400 156

S-12514-012 G2298052400 146

S-12514-014 G2297135500 184

S-13031 G2299069200 87

S-13033 G229P407200 104

S-13035 G2297443500 180

S-13037 G2297437500 178

S-13038 G2297145500 185

S-13039 G2297798500 199

S-13039 G2297838500 201

S-13041 G2297818500 200

S-13043 G2297424500 178

S-13044 G2297112500 192

S-13045 G2299149400 150

S-13046 G2297146500 185

S-13047 G2297848500 203

S-13048 G2297123500 184

S-13049 G2299096200 97

S-13052 G2297429500 178

S-13053 G2299148400 149

S-13122 G2299264300 159

S-13157 G2297808500 200

S-13158 G2299053400 76

S-13159 G2290712400 94

S-13159 G2299082200 96

S-13160 G2299121400 149

S-13161 G2299130200 122

S-13163 G2299194200 98

S-14318 G2296935500 168

OEM Name & Part No. Order Number
Page

Number

S-14395 G2297325500 163

S-1561 G2299083200 96

S-20010 G2299270300 80

S-20124 G2299265200 125

S-20127 G2299580300 140

S-20223 G2299640400 79

S-20228 G2298934200 76

S20414 G2299581300 140

S-2063 G2299158400 156

S-2064 G2299039200 69

S-2065 G2299177400 150

S-2066 G2290712400 94

S-2066 G2299082200 96

S-20716 G2299299200 101

S-20900 G2298709200 141

S-21208 G2299579300 81

S-21623 G2298755300 137

S-21800 G2298709200 141

S-21966 G2298708300 138

S-22045 G2298755300 137

S22046 G2298710300 135

S-22173 G2295511400 158

S-22948 G2298713300 138

S-2307 G2299011200 86

S-23612 G2299645200 134

S-23613 G2299621200 66

S-23614 G2299619200 66

S-23720 G2299626200 66

S-23721 G2299644200 105

S2394 G2292119300 50

S-24443 G2298093200 152

S-25559 G2299270300 80

S-2630 G2296902500 166

S-2694 G2299203200 123

S-2734 G2296801500 186

S-2827 G2299010200 85

S-2883 G2297403500 176

S28929 G2299978200 94

S-2924 G2299227200 99

S-3184 G2297140500 185

S-3467 G2298792400 155

S-3518 G2296905500 166

S-3648 G2299215400 143

S-3798 G2297446500 180

S-3830 G2298792400 155

S-3830 G229A026400 156

S-3839 G2299200400 142

S-3842 G2299240200 124

S-4041 G2290712400 94



31Air Springs  – Replacement Guide 2016

C
ro

ss R
eferen

ces

OEM Name & Part No. Order Number
Page

Number

S-4041 G2299082200 96

S-4771 G2298050400 145

S-5060 G2299238200 123

S-5270 G2296905500 166

S-6195 G2299192200 123

S-6242 G2297447500 181

S-6412 G2296803500 186

S-6861 G2297839500 201

S-7100 G2297843500 201

S-7128 G2299156400 155

S-7853 G2297846500 202

S-8701 G2296947500 173

S-8768 G2296910500 167

S-8874 G2297847500 203

S-8988 G2299349200 126

S9346 G2295405300 53

S-9830 G2297444500 180

Histeer

10300 G2297839500 201

10301 G2297850500 203

10302 G2296941500 169

10303 G2298018500 197

10305 G2296940500 168

10307 G2296844500 172

10315 G2297550500 183

10315 G2297555500 183

10316 G2297557500 187

8029 G2298027500 197

Holland Hitch

4514 G2297800500 199

Hutchens

10384-01 G2297405500 176

9424-03 G2299039200 69

H-1913-1 G2299059200 86

H-9424-01 G2299039200 69

H-9630-01 G2290712400 94

H-9630-01 G2299082200 96

International

1681579C1 G229A946400 128

1681579C1 G229P946200 130

Kenworth

C81-1003 G2298813200 84

C81-1004 G2299547200 55

C81-1005 G2299541200 56

K-303-14 G2299422200 60

K-303-15 G2299422200 60

K-303-16 G2299616200 61

K-303-18 G2299617200 56

K-303-19 G2299618200 57

OEM Name & Part No. Order Number
Page

Number

K-303-22 G2299622200 56

K-303-22 G2299617200 56

K-303-25 G2299618200 57

K-303-25 G2299625200 57

K-303-28 G2299675200 57

K-303-6 G2299422200 60

KW G2297064600 214

KW AEROCAB G2297109600 215

KWCSA G2297092600 208

T2000 G2297110600 208

Knoedler

100095-000 G2297152600 208

Kwik Loc/Todco

53671 G2297123500 184

CP-3281 G2290712400 94

CP-3281 G2299082200 96

CP-5125 G2290712400 94

CP-5125 G2299082200 96

CP-5152 G2290712400 94

CP-5152 G2299082200 96

CP-5223 G2297429500 178

Link

1102-0020 G2297001600 209

1102-0023 G2297001600 209

1102-0025 G2297086600 210

1102-0027 G2297098600 210

1102-0042 G2297045600 212

1102-0043 G2297056600 212

1102-0045 G2297074600 213

1102-0047 G2297074600 213

1102-0048 G2297075600 213

1102-0074 G2297064600 214

1102-0077 G2297109600 215

1102-0082 G2297110600 208

1102-0083 G2297092600 208

1103 0061 G229P809200 129

1103 0509 G229P793200 116

1103-0001 G2297850500 203

1103-0002 G2296941500 169

1103-0003 G2290722500 193

1103-0019 G2296884500 165

1103-0056 G2297723500 195

1103-0057 G2297797500 199

1103-0058 G2298842200 120

Lippert

156622 G2297689500 164

Load Air

P10-755C G2297344500 175

P-10872-A G2296949500 169



32 Air Springs  – Replacement Guide 2016

C
ro

ss
 R

ef
er

en
ce

s

OEM Name & Part No. Order Number
Page

Number

SC2071 G2296905500 166

SC2072 G2296927500 172

SC2073 G2297405500 176

SC2074 G2297409500 177

SC2075 G2297180500 174

SC2077 G2297429500 178

SC2078 G2297473500 181

SC2079 G2296801500 186

SC2080 G2297123500 184

SC2098 G2298792400 155

SC2101 G2297423500 177

SC2102 G2299130200 122

SC2108 G229A946400 128

SC2108 G229P946200 130

SC2109 G2299238200 123

SC2110 G2299379200 59

SC2112 G2299149400 150

SC2113 G2299148400 149

SC2115 G2299158400 156

SC2116 G2299200400 142

SC2119 G2298010500 196

SC2120 G2299192200 123

SC2120 G2299321400 132

SC2120 G2299367200 133

SC2121 G2298052400 146

SC2122 G2296943500 172

SC2123 G2296948500 174

SC2124 G2296941500 169

SC2124 G2296844500 172

SC2125 G2296945500 173

SC2126 G2296946500 173

SC2127 G2296947500 173

SC2128 G2297472500 181

SC2129 G2296803500 186

SC2130 G2298008500 196

SC2130 G2298025500 197

SC2131 G2298018500 197

SC2132 G2290503500 192

SC2132 G2298006500 195

SC2134 G2299245200 124

SC2135 G2297843500 201

SC2136 G2297847500 203

SC2175 G2299466200 102

SC2457 G2299053400 76

SC2464 G2299275400 117

SC2750 G2299759200 105

SC2750 G2299780200 106

SC2750 G2299781400 106

SC2751 G2297325500 163

OEM Name & Part No. Order Number
Page

Number

P60733 G2299221400 151

Loadguard

SC2010 G2296902500 166

SC2010 G2296935500 168

SC2010 G2297008500 189

SC2011 G2296910500 167

SC2012 G2297112500 192

SC2013 G2297135500 184

SC2014 G2297136500 184

SC2015 G2297140500 185

SC2016 G2297145500 185

SC2017 G2297146500 185

SC2020 G2297400500 175

SC2021 G2297403500 176

SC2023 G2297410500 177

SC2024 G2297424500 178

SC2025 G2297437500 178

SC2026 G2297443500 180

SC2027 G2297446500 180

SC2028 G2297447500 181

SC2029 G2297798500 199

SC2029 G2297838500 201

SC2030 G2297800500 199

SC2031 G2297808500 200

SC2032 G2297818500 200

SC2033 G2299039200 69

SC2034 G2299069200 87

SC2035 G2290712400 94

SC2035 G2299082200 96

SC2035 G2296940500 168

SC2036 G2299083200 96

SC2038 G2299101200 122

SC2039 G2299105200 76

SC2040 G2299121400 149

SC2041 G229A026400 156

SC2042 G2299148400 149

SC2043 G2299149400 150

SC2044 G2299156400 155

SC2045 G2299158400 156

SC2046 G2299177400 150

SC2046 G2296932500 168

SC2047 G2299215400 143

SC2048 G2299213200 98

SC2048 G229P407200 104

SC2049 G2299250400 131

SC2050 G2299422200 60

SC2051 G2299096200 97

SC2052 G2298050400 145

SC2070 G2299219200 99



33Air Springs  – Replacement Guide 2016

C
ro

ss R
eferen

ces

OEM Name & Part No. Order Number
Page

Number

8619 G2299376200 58

Navistar/Fleetrite

1660581C1 G229P407200 104

1660581C-1 G2299213200 98

1660694C-1 G2299379200 59

1670043C1 G2299371200 118

1670073C-1 G2299371200 118

1672401C1 G2299219200 99

1675495C1 G2298805200 83

1675495C1 G2299335200 88

1675495C1 G2299567200 91

1675495C1 G2299568200 92

1681737C1 G2299238200 123

1681738C1 G2299192200 123

1681739C1 G2299219200 99

1681740C1 G2299192200 123

1681741C1 G2299149400 150

1681742C1 G2299156400 155

1681743C1 G2299148400 149

1681745C1 G2299158400 156

1681746C1 G2299200400 142

1681747C1 G2298052400 146

1681748C1 G2298792400 155

1681750C1 G2297423500 177

1681751C1 G2297472500 181

1685174C1 G2298050400 145

1685175C1 G2296905500 166

1685176C1 G2296927500 172

1685177C1 G2297405500 176

1685178C1 G2297409500 177

1685179C1 G2297180500 174

1685181C1 G2297429500 178

1685182C1 G2297473500 181

1685183C1 G2296801500 186

1685184C1 G2297123500 184

1686386C1 G2299213200 98

1686386C-1 G2299371200 118

2027297C1 G2299472200 110

2027911C1 G2299213200 98

2027911C-1 G2299371200 118

2027913C1 G2299567200 91

2027913C1 G2299568200 92

2027913C2 G2299567200 91

2027913C3 G2298805200 83

2027913C4 G2299335200 88

350449C1 G2299068200 87

3541732C1 G2295503400 158

359519C1 G2299063200 87

501159C2 G229P407200 104

OEM Name & Part No. Order Number
Page

Number

SC2752 G2299348200 125

SC2756 G2298944200 108

SC2758 G2299640400 79

SC2759 G2299265200 125

SC2760 G2299296200 100

SC2761 G2299580300 140

SC2762 G2290712400 94

SC2762 G2299082200 96

SC2762 G2296940500 168

SC2763 G2299349200 126

SC2765 G2299096200 97

SC2766 G2296908500 167

SC2767 G2299092200 97

SC2769 G2299567200 91

SC2774 G2299320200 132

SC2775 G2299070400 88

SC2778 G2299961400 151

SC2779 G2299033200 69

SC2780 G2299077200 70

SC2782 G2299218400 143

SC2784 G2298033500 198

SC2785 G2299031200 69

SC2786 G2299194200 98

Mack

227QS-32 G2297325500 163

227QS-32 G2297405500 176

227QS33 G2297001600 209

364SQ28 G2299466200 102

57QK1113 G2297325500 163

57QK1113 G2297405500 176

57QL239 G2297145500 185

57QL411M G2299466200 102

57QL417M G2299647200 119

57QL53M G2299656200 119

Mahowk

10132401 G2299039200 69

53-14006-002 G2299439400 63

82-17289-000 G2299325200 77

MCI

2992101C1 G2298052400 146

2992101C1 G2298053400 146

Monaco Coach

0180 4591 G2298897200 58

0180 7468 G2296393500 171

0180 8108 G2299378200 59

0180 8670 G2299551200 61

14002 G2299378200 59

8108 G2299376200 58

8618 G2295319300 51



34 Air Springs  – Replacement Guide 2016

C
ro

ss
 R

ef
er

en
ce

s

OEM Name & Part No. Order Number
Page

Number

055089 G2299385200 62

14635 G2299060200 86

Novabus

N16374 G2299439400 63

Oshkosh

8013 G2298010500 196

RX-08-03 G2299269400 132

Peerless

0550-00001 G2297180500 174

0550-00010 G2299149400 150

0550-00015 G2297103500 191

0550-00030 G2297808500 200

0550-00051 G2299031200 69

0550-00070 G2299148400 149

0550-00080 G2299156400 155

Peterbilt

03-01649 G2299069200 87

03-02038 G2299069200 87

03-02456 G2299069200 87

03-04759 G2299069200 87

03-05107 G2299194200 98

03-06213 G2299026200 96

03-06746 G2299069200 87

03-07111 G2299026200 96

03-07112 G2299069200 87

03-07887 G2298852200 121

03-08716 G2298864200 122

03-10042 G2299069200 87

29-03200 G2297036600 214

C81-6000 G2298813200 84

Pezzani

AR-21-A G2297135500 184

Porcupine

7140 G2297782500 188

7142 G2297140500 185

7818 G2297839500 201

Prevost

63-0173 G2296910500 167

63-0178 G2299238200 123

R&S Truck

1027405 G2296910500 167

1027505 G2296902500 166

1027505 G2296935500 168

1027519 G2297400500 175

1027556 G2297136500 184

1040201 G2297403500 176

1082914 G2297446500 180

1090023 G2299121400 149

1090023 G2297798500 199

OEM Name & Part No. Order Number
Page

Number

501559C1 G229P407200 104

501559C-1 G2299213200 98

501559C-2 G2299213200 98

517096C91 G2299092200 97

517559C9 G2290712400 94

517559C9 G2299082200 96

554762C1 G2299422200 60

554763C1 G2299083200 96

554764C1 G2299069200 87

554766C1 G2299039200 69

554768C1 G2299101200 122

554770C1 G2299105200 76

554772C1 G229A026400 156

554773C1 G2299121400 149

554776C1 G2299149400 150

554777C1 G2299156400 155

554778C1 G2299148400 149

554779C1 G2299177400 150

554780C1 G2299158400 156

554781C1 G2299215400 143

554782C1 G2297112500 192

554783C1 G2296910500 167

554784C1 G2296902500 166

554784C1 G2296935500 168

554785C1 G2297424500 178

554786C1 G2297443500 180

554787C1 G2297403500 176

554788C1 G2297400500 175

554789C1 G2297401500 176

554789C1 G2297437500 178

554790C1 G2297447500 181

554791C1 G2297446500 180

554792C1 G2297410500 177

554796C1 G2297145500 185

554797C1 G2297146500 185

554798C1 G2297136500 184

554799C1 G2297140500 185

554800C1 G2297135500 184

554801C1 G2297808500 200

554802C1 G2297798500 199

554802C1 G2297838500 201

554803C1 G2297818500 200

554803C1 G2297839500 201

554804C1 G2297800500 199

New Flyer

000065 G2299060200 86

'000065 G229P220200 94

009594 G2299127400 77

009865 G2299465200 63



35Air Springs  – Replacement Guide 2016

C
ro

ss R
eferen

ces

OEM Name & Part No. Order Number
Page

Number

20142-01K G2299947200 114

20437-01 G2299333200 71

20966-01 G2299474200 102

21055-01 G2298976200 68

21598-01 G2298964200 67

22241-01 G2298932200 75

23433-01 G2298740300 135

23521-01 G2298855200 121

23521-02 G2298856200 121

23631-01 G2298050400 145

24556-01 G2299277400 144

701784-01 G2296886500 170

709668-01 G229P945200 65

710387-01 G2299295200 65

710442-01 G229P049200 65

93AR G2298018500 197

Ridewell

1000001 G229A830400 127

1003586910C G2296910500 167

1013589039C G2299039200 69

1001R13-087 G2298723300 135

1001R13-097 G2298723300 135

1001R13109G G2298782300 137

1003585311C G2295311300 50

1003585323C G2295323300 50

1003585410C G2295410300 54

1003586801C G2296801500 186

1003586805C G2296805500 186

1003586900C G2296900500 166

1003586902C G2296902500 166

1003586905C G2296905500 166

1003586932C G2296932500 168

1003586945C G2296945500 173

1003586946C G2296946500 173

1003586947C G2296947500 173

1003586948C G2296948500 174

1003587112C G2297112500 192

1003587135C G2297135500 184

1003587136C G2297136500 184

1003587140C G2297140500 185

1003587145C G2297145500 185

1003587146C G2297146500 185

1003587180C G2297180500 174

1003587400C G2297400500 175

1003587403C G2297403500 176

1003587437C G2297437500 178

1003587443C G2297443500 180

1003587473C G2297473500 181

1003587483C G2297483500 182

OEM Name & Part No. Order Number
Page

Number

1090023 G2297838500 201

1090201 G2297403500 176

1090214 G2297140500 185

1090215 G2297424500 178

1090216 G2299177400 150

1090217 G2290712400 94

1090217 G2299082200 96

1090218 G2299039200 69

1090276 G2299070400 88

1090326 G2299164400 150

10907 G229A946400 128

10907 G229P946200 130

Raydan

211-00-000 G2290705500 179

211-00-005 G2290549500 179

211-00-010 G2299039200 69

211-00-027 G229A751400 144

211-00-030 G229A463400 79

211-00-030 G229P463200 80

211-00M-034R01 G229A848400 80

211-00M-036 G229A118400 79

2258Z1508 G229A463400 79

2258Z1508 G229P463200 80

AL460 G229A463400 79

AL460 G229P463200 80

AL520 G229A463400 79

AL520 G229P463200 80

Reyco

12882-01 G2290712400 94

12882-01 G2299082200 96

12882-02 G2299121400 149

12883-01 G2299101200 122

12883-02 G2298792400 155

12883-02 G229A026400 156

12884-01 G229P733200 116

12884-01B G2299944200 103

12906-01 G2296927500 172

12928-01 G2299010200 85

17360-01 G2299307200 70

17360-01 G2299308200 70

17636-01 G2299349200 126

18813-01 G2297555500 183

19983-01 G2297557500 187

20018-01 G2297555500 183

20018-01L G2297545500 183

20074-01 G2299332200 71

20124-01K G2299966200 114

20124-02 G2299966200 114

20142-01 G2299947200 114



36 Air Springs  – Replacement Guide 2016

C
ro

ss
 R

ef
er

en
ce

s

OEM Name & Part No. Order Number
Page

Number

1003589334C G2299334200 71

1003589378C G2299378200 59

1003589387C G2299387200 59

1003589447C G2298897200 58

1003589448C G2299448200 60

1003589467C G2299467400 89

1003589797C G2299797400 93

1003589961C G2299961400 151

C81-6000 G2298813200 84

S-1728C G2296935500 168

S-2683C G2297443500 180

S-3053-C G229A026400 156

S-4302C G2297403500 176

S-5356-C G2299307200 70

S-5828-C G2299101200 122

S-5844C G2298010500 196

S-740-C G2299101200 122

Rowe Truck

0027 ASC 2500 G2298888200 108

0072 G2295423300 54

0467 G2292119300 50

SAF-HOLLAND

50857000 G2299807200 81

90044197 G2299158400 156

90044198 G2299033200 69

90044199 G2299039200 69

90044200 G2290712400 94

90044200 G2299082200 96

90044647 G2290712400 94

90044647 G2299082200 96

90057057 G2295412300 54

90557001 G2299039200 69

90557001 G2297135500 184

90557002 G2297009500 189

90557003 G2299177400 150

90557005 G2299158400 156

90557006 G2290712400 94

90557006 G2299082200 96

90557007 G2299093200 97

90557009 G2299101200 122

90557010 G2299121400 149

90557011 G2299039200 69

90557012 G2299033200 69

90557014 G2297424500 178

90557015 G2297437500 178

90557016 G2297400500 175

90557019 G2299121400 149

90557020 G2298792400 155

90557023 G2299039200 69

OEM Name & Part No. Order Number
Page

Number

1003587781C G2297781500 187

1003587796C G2297796500 198

1003587800C G2297800500 199

1003587808C G2297808500 200

1003587818C G2297818500 200

1003587839C G2297839500 201

1003587844C G2297844500 202

1003588008C G2298008500 196

1003588010C G2298010500 196

1003588016C G2298016500 196

1003588051C G2298051400 145

1003588088C G2298088400 142

1003588201C G2298201200 73

1003588752C G2298723300 135

1003588752C G2298752300 136

1003588753C G2298753300 136

1003588802C G2298802200 82

1003588803C G2298803200 83

1003588805C G2298805200 83

1003588806C G2298806400 83

1003588901C G2298901200 58

1003588919C G2298919200 62

1003588924C G2298924200 95

1003588930C G2298930200 75

1003588963C G2298963200 67

1003588986C G2298986200 68

1003588992C G2298992300 51

1003588997C G2298997300 53

1003589008C G2299008200 85

1003589010C G2299010200 85

1003589029C G2299029200 68

1003589053C G2299053400 76

1003589071C G2299071200 88

1003589082C G2290712400 94

1003589082C G2299082200 96

1003589083C G2299083200 96

1003589101C G2299101200 122

1003589105C G2299105200 76

1003589122C G2298792400 155

100358912C G2299121400 149

1003589158C G2299158400 156

1003589177C G2299177400 150

1003589200C G2299200400 142

1003589218C G2299218400 143

1003589245C G2299245200 124

1003589250C G2299250400 131

1003589252C G2299252400 131

1003589275C G2299275400 117

1003589277C G2299277400 144



37Air Springs  – Replacement Guide 2016

C
ro

ss R
eferen

ces

OEM Name & Part No. Order Number
Page

Number

90557119 G2299922200 112

90557120 G2299293200 64

90557121 G2299295200 65

90557122 G2299291200 64

90557124 G2299304200 101

90557125 G2299134400 153

90557126 G2299346200 125

90557127 G2299294200 64

90557129 G2299307200 70

90557130 G2299463200 89

90557131 G2299463200 89

90557135 G2299192200 123

90557136 G2299192200 123

90557137 G2299798200 93

90557138 G2299902200 111

90557139 G2299291200 64

90557142 G2299942200 113

90557143 G2299943200 113

90557145 G2299470200 109

90557146 G2299471200 109

90557146 G2299501200 110

90557147 G2299472200 110

90557149 G2299325200 77

90557150 G2298949200 63

90557152 G2299473200 110

90557155 G2299144400 149

90557156 G2299936200 113

90557157 G2299935200 112

90557158 G2299484200 91

90557159 G2299365200 78

90557160 G2299366200 78

90557161 G2299482200 90

90557162 G2298780400 153

90557163 G2298779400 152

90557164 G2298778400 148

90557166 G2299483200 90

90557167 G2298748200 139

90557168 G2298749200 140

90557168 G229P949200 141

90557169 G2298903200 108

90557170 G2298802200 82

90557173 G2298204200 74

90557177 G2299471200 109

90557177 G2299501200 110

90557178 G2299472200 110

90557179 G2299473200 110

90557181 G2299472200 110

90557182 G2299471200 109

90557182 G2299501200 110

OEM Name & Part No. Order Number
Page

Number

90557024 G2297146500 185

90557026 G2297112500 192

90557027 G2290712400 94

90557027 G2299082200 96

90557028 G2297112500 192

90557029 G2298997300 53

90557031 G2299092200 97

90557032 G2299093200 97

90557033 G2290712400 94

90557033 G2299082200 96

90557034 G2298997300 53

90557035 G2299093200 97

90557037 G2290712400 94

90557037 G2299082200 96

90557038 G2299070400 88

90557039 G2297146500 185

90557041 G2297112500 192

90557052 G2299121400 149

90557054 G2290712400 94

90557054 G2299082200 96

90557069 G2299158400 156

90557071 G2298792400 155

90557071 G229A026400 156

90557075 G2290712400 94

90557075 G2299082200 96

90557076 G2298792400 155

90557076 G229A026400 156

90557077 G2298792400 155

90557077 G229A026400 156

90557078 G2299121400 149

90557082 G2299101200 122

90557083 G2299121400 149

90557085 G2299039200 69

90557086 G2299192200 123

90557089 G2299308200 70

90557090 G2299070400 88

90557098 G2298053400 146

90557099 G2299320200 132

90557101 G2299193200 98

90557102 G2295511400 158

90557103 G2295505300 158

90557105 G2299798200 93

90557108 G2299192200 123

90557110 G2299121400 149

90557111 G2299138400 154

90557112 G229P384200 124

90557113 G2299362200 101

90557117 G2299921200 111

90557118 G2299923200 112



38 Air Springs  – Replacement Guide 2016

C
ro

ss
 R

ef
er

en
ce

s

OEM Name & Part No. Order Number
Page

Number

90557372 G2299807200 81

90557373 G229A926400 107

90557375 G229P978200 82

Sauer

P10-754 G2297325500 163

P10-755 G2297424500 178

P10-755C G2297344500 175

P10-784 G2297423500 177

P50-705 G2299105200 76

P50-732 G229A026400 156

P50-733 G2299121400 149

P50-733A G2296935500 168

P50-733B G2299228400 100

P50-734 G2299039200 69

Sears

S13384 G2297098600 210

S-20235 G2297035600 211

S-9383 G2297035600 211

Silent Drive

AS 65906 G229A834400 147

AS-6882 G2296905500 166

AS-7446 G2297446500 180

AS-7800 G2297800500 199

AS-7818 G2297818500 200

AS-8025 G2298025500 197

AS-9070 G2299070400 88

AS-9082 G2290712400 94

AS-9082 G2299082200 96

AS-9320 G2299320200 132

AS-9362 G2299362200 101

Spring Valley

AB1000AL G2299101200 122

AS-4315 G2296905500 166

AS-4413 G2298032500 198

AS-4426 G2296943500 172

AS-4429 G2296948500 174

AS-4434 G2298018500 197

AS-4441 G2297850500 203

AS-8310 G2290712400 94

AS-8310 G2299082200 96

AS-8315 G2299101200 122

AS-8319 G2299105200 76

AS-8333 G2299083200 96

AS-8713 G2298753300 136

Strong

72404004 G2290771500 188

Suspensions, Inc.

200041 G2299394200 126

200041 G229A358400 127

OEM Name & Part No. Order Number
Page

Number

90557185 G2298792400 155

90557185 G229A026400 156

90557194 G2298803200 83

90557200 G2295503400 158

90557203 G2296799500 187

90557205 G2298781400 153

90557206 G2299491200 117

90557208 G2299496200 103

90557209 G2299218400 143

90557210 G2298203200 74

90557210 G2299366200 78

90557211 G2299470200 109

90557212 G2299501200 110

90557214 G2299501200 110

90557215 G2299473200 110

90557216 G2299504200 111

90557219 G2299482200 90

90557223 G2298204200 74

90557225 G2299366200 78

90557226 G2297008500 189

90557227 G2299948400 114

90557228 G2296890500 165

90557230 G2298197200 73

90557235 G2298746200 139

90557237 G2296943500 172

90557243 G2298744200 139

90557256 G2297667200 73

90557257 G2297140500 185

90557260 G2298764400 154

90557283 G2298796400 155

90557293 G2298052400 146

90557300 G2299936200 113

90557301 G2299935200 112

90557302 G2299972200 115

90557303 G2299534200 72

90557306 G2298882200 75

90557313 G2299507200 91

90557316 G229P807200 116

90557323 G2299144400 149

90557324 G2299121400 149

90557325 G2299534200 72

90557329 G2299697200 92

90557331 G229A926400 107

90557332 G2299974400 115

90557342 G229P978200 82

90557346 G229P790200 62

90557363 G2299807200 81

90557367 G2299697200 92

90557370 G229P949200 141



39Air Springs  – Replacement Guide 2016

C
ro

ss R
eferen

ces

OEM Name & Part No. Order Number
Page

Number

AS504-9070 G2299070400 88

AS504-9093 G2299093200 97

AS504-9096 G2299096200 97

AS504-9101 G2299101200 122

AS506-9069 G2299069200 87

AS506-9080 G2299083200 96

AS506-9082 G2290712400 94

AS506-9082 G2299082200 96

AS506-9194 G2299194200 98

AS509-9203 G2299203200 123

AS509-9238 G2299238200 123

AS509-9241 G229A946400 128

AS509-9241 G229P946200 130

AS509-9348 G2299348200 125

AS621-9121 G2299121400 149

AS621-9148 G2299148400 149

AS621-9149 G2299149400 150

AS621-9961 G2299961400 151

AS622-9122 G2298792400 155

AS622-9156 G2299156400 155

AS622-9158 G2299158400 156

Truckstell

63640 G2297808500 200

63641 G2297135500 184

63644 G2297135500 184

63647 G2299101200 122

Tuthill

704671-01 G229A552400 127

704671-02 G229P817200 134

Volvo

20462941 G2299554200 61

2076095 G2297401500 176

35003-3201 G2299219200 99

35003-3203 G2299219200 99

35003-3204 G2299219200 99

35003-3209 G2299219200 99

35203-0005 G2297145500 185

35203-3204 G2297145500 185

57QL59M G2299554200 61

8061151 G2299296200 100

8083871 G2299372200 118

8169868 G2299296200 100

85101145 G2299069200 87

85101146 G2296905500 166

85101147 G2299270300 80

85101148 G2299422200 60

85101149 G2299101200 122

85101151 G2299759200 105

85101151 G2299780200 106

OEM Name & Part No. Order Number
Page

Number

200041 G229A946400 128

200041 G229P946200 130

200042 G2296935500 168

2000-42 G2296902500 166

200117 G2298027500 197

200118 G2296941500 169

200118 G2296844500 172

200175 G2297088500 189

200177 G2297850500 203

200180 G2296946500 173

200457 G2299039200 69

200458 G2299200400 142

200620 G2297344500 175

200620 G2290503500 192

200792 G2297093500 190

200792 G2297096500 190

200835 G2296943500 172

200981 G2297405500 176

201222 G2299218400 143

201335 G2299367200 133

201498 G2297848500 203

201602 G2297499500 182

201642 G2298752300 136

201869 G2290712400 94

201869 G2299082200 96

202796 G2298729200 141

202796 G2298018500 197

Taurus

AS214-7180 G2297180500 174

AS214-7400 G2297400500 175

AS214-7401 G2297401500 176

AS214-7403 G2297403500 176

AS214-7405 G2297405500 176

AS214-7409 G2297409500 177

AS214-7410 G2297410500 177

AS214-7424 G2297424500 178

AS214-7429 G2297429500 178

AS214-7437 G2297437500 178

AS218-6905 G2296905500 166

AS218-6910 G2296910500 167

AS218-6927 G2296927500 172

AS302-9302 G2299302200 77

AS500-9031 G2299031200 69

AS500-9033 G2299033200 69

AS500-9039 G2299039200 69

AS500-9077 G2299077200 70

AS502-0725 G2299105200 76

AS502-9053 G2299053400 76

AS504-9069 G2299069200 87



40 Air Springs  – Replacement Guide 2016

C
ro

ss
 R

ef
er

en
ce

s

OEM Name & Part No. Order Number
Page

Number

AS-0038 G2299192200 123

AS-0039 G2298050400 145

AS-0040 G2299101200 122

AS-0041 G2296943500 172

AS-0043 G2299004200 95

AS-0044 G2299010200 85

AS-0046 G2299192200 123

AS-0047 G2295503400 158

AS-0047G G229A752400 159

AS-0048 G2297990500 194

AS-0048-1F G2297995500 194

AS-0049 G2299362200 101

AS-0050 G2299070400 88

AS-0053 G2299336200 89

AS-0054 G2299366200 78

AS-0056 G2299346200 125

AS-0057 G2299370200 134

AS-0058 G2296897500 165

AS-0058-1F G2296886500 170

AS-0059 G2299304200 101

AS-0061 G229P384200 124

AS-0061-1G G229P762200 128

AS-0062 G2298927200 95

AS-0068 G2297705500 164

AS-0069 G2295433300 55

AS-0073 G2299218400 143

AS-0075 G2298018500 197

AS-0077 G2299069200 87

AS-0078 G2298052400 146

AS-0082 G2299200400 142

AS-0084 G2299270300 80

AS-0087 G2297550500 183

AS-0088 G2297788500 169

AS-0089-1G G2297557500 187

AS-0090 G2299921200 111

AS-0092 G2296883500 170

AS-0093 G2297409500 177

AS-0095 G2299053400 76

AS-0096 G2299250400 131

AS-0098 G2298753300 136

AS-0101 G2299194200 98

AS-0104 G2299367200 133

AS-0107G G2298637300 137

AS-0109 G2297545500 183

AS-0111G G2290721500 171

AS-0113G G229P769200 104

AS-0115G G2296844500 172

AS-0122G G2296948500 174

OEM Name & Part No. Order Number
Page

Number

85101151 G2299781400 106

85101153 G2299039200 69

85101155 G2299265200 125

85101156 G229P407200 104

85101157 G2299466200 102

85101158 G2297410500 177

85101160 G2299321400 132

85101163 G2298792400 155

Warren

8030120 G2296908500 167

8030170 G2297808500 200

Watson & Chalin

AS-0014 G2297401500 176

AS-0167G G2297850500 203

AS-0001 G2296910500 167

AS-0002 G2296902500 166

AS-0003 G2297400500 175

AS-0004 G2297136500 184

AS-0005 G2297446500 180

AS-0006 G2297798500 199

AS-0007 G2297403500 176

AS-0008 G2297140500 185

AS-0009 G2297424500 178

AS-0010 G2299177400 150

AS-0011 G2290712400 94

AS-0011 G2299082200 96

AS-0012 G2299039200 69

AS-0013 G229S783300 138

AS-0013 G2299121400 149

AS-0014 G2297437500 178

AS-0015 G2299105200 76

AS-0017 G2299422200 60

AS-0018 G2299083200 96

AS-0019 G2298025500 197

AS-0020 G2296905500 166

AS-0021 G2296801500 186

AS-0023 G2298792400 155

AS-0023-1G G229A062400 157

AS-0025 G2297818500 200

AS-0026 G2298997300 53

AS-0027 G2297443500 180

AS-0028 G2299083200 96

AS-0029 G2295410300 54

AS-0030 G2297325500 163

AS-0032 G2297782500 188

AS-0033 G2297839500 201

AS-0034 G2296799500 187

AS-0035 G2296908500 167

AS-0036-G G2299321400 132



41Air Springs  – Replacement Guide 2016

C
ro

ss R
eferen

ces

OEM Name & Part No. Order Number
Page

Number

AS-0125G G229P770200 104

AS-0144 G229P800200 151

AS-0159-1C G229P829200 152

AS-0159G G2298774200 148

AS-0166G G2298752300 136

AS-0175 G2298749200 140

AS-0180 G229A706400 147

AS-0186 G229A729400 147

AS-0195 G229P796200 129

AS-0204 G229P814200 129

AS-0218 G229P841200 105

AS-0220 G229A855400 157

AS-0221 G229A856400 159

AS-0222 G2290808500 200



42 Air Springs  – Replacement Guide 2016

C
ro

ss
 R

ef
er

en
ce

s

FIRESTONE
BELLOWS #

Gold Line Quality 
Parts™  Bellows No. 

19 FS 330-11

20 FD 200-19

21 FD 530-22

22 FD 330-22

26 FD 120-20

38 FT 330-29

113 FS 530-14

257 FD 200-19

313 FT 530-32

333 FT 530-35

113B FS 530-14

113B-.5 FS 530-14

113B-1 FS 530-14

19B FS 330-11

1T14C-1 6 6.5-11

1T14C-1 6 6.5B-11

1T14C-3 6 6.5-13

1T14C-5 6 6.5-15

1T14CB-1 6 6.5B-11

1T14CB-1 6 6.5D-11

1T152R-3 9 10-13.5

1T15AE-5 9 9K-15

1T15KW-0 9 9-9

1T15KW-1.5 9 9-12

1T15L-1.5 9 9-12

1T15L-2 9 9-12 

1T15L-4 9 9-14

1T15L-6 9 9-16

1T15L-9 9 10-19

1T15LA-0 9 9-9

1T15LB-10 9 9B-20

1T15LC-12 9 9B-22

1T15LC-2.5 9 9-12

1T15LC-4.5 9 10-14

1T15LC-4.6 9 10-14

1T15LC-4.7 9 10-14

1T15LP-2 9 9K-12

1T15LP-5                                                                       9 9K-15

1T15M-0 9 10-10

1T15M-0.5 9 10-10

1T15M-11 9 10-21

1T15M-2 9 10-12

1T15M-3 9 10-12

1T15M-4 9 10-14

FIRESTONE
BELLOWS #

Gold Line Quality 
Parts™  Bellows No. 

1T15M-6 9 10-16

1T15M-6 9 10-17.5

1T15M-7 9 10-17.5

1T15M-7.5 9 10-17.5

1T15M-8 9 10-18.5

1T15M-9 9 10-17.5

1T15M-9 9 10-19

1T15MBTW-10 9 10BP-20

1T15MBTW-12 9 10BP-22

1T15MBTW-6 9 10BP-16

1T15MLW-7 9 10-17.5

1T15MM-5 9 10-16

1T15MM-9 9 10-19

1T15MP-7 9 10-17.5

1T15MPW-7 9 10-17.5

1T15MT-3 9 10-12

1T15MT-3 9 10-13.5

1T15MT-3 9 10-14

1T15MT-6 9 10-16

1T15MT-8 9 10-18.5

1T15MW-10 9 10-19

1T15MW-6 9 10-16

1T15T-1 9 9-9

1T15TM-1 9 9-12

1T15TQ-1 9 9-9

1T15V-11 9 10D-21

1T15V-11 10 10-21

1T15V-8 9 10-17.5

1T15V-8 9 10B-17.5

1T15VLT-10.5 10 10-21

1T15VM-4 9 10-13.5

1T15VP-4 9 10-13.5

1T15ZR-6 9 10S-16

1T17B-11 10 10-21

1T17B-5 10 10-15

1T17BB-2 10 10.5AV-12

1T17CA-5 10 10.5-15

1T17CA-6.5 10 10-16

1T17CL-5 10 10-15

1T17CL-9.5                                                                  10 10-21

1T19F-11 11 10.5-21

1T19F-12 11 10.5-22

1T19F-14 11 10.5-24

1T19F-5 11 10.5-15

FIRESTONE
BELLOWS #

Gold Line Quality 
Parts™  Bellows No. 

1T19F-7 11 10.5-17

1T19F-9 11 10.5-19

1T19FC-5 13 10.5A-16

1T19FC-6 12 10.5A-16

1T19FC-8 11 10.5B-18

1T19J-6 11 10.5C-16

1T19L-11 11 10.5-21

1T19L-12 11 10.5-22

1T19L-14 11 10.5-24

1T19L-5 11 10.5-15

1T19L-7 11 10.5-17

1T19L-9 11 10.5-19

1T19LC-11 11 10.5-21

1T19LC-6 11 10.5A-16

1T19LC-8 11 10.5B-18

1T19LF-7 11 10.5F-17

1T19ZK-5.7 11 10.5C-16

20-1 FD 200-22

20-2 FD 200-25

20CT FD 200-19

20F FD 200-19

20F-1 FD 200-22

20F-2 FD 200-25

21-2 FD 530-30

21CT-2 FD 530-30

21D FD 530-22

21D-2 FD 530-30

22-1.5 FD 330-30

224C FD 110-15

228-1.5 FD 331-26

228CT-1.5 FD 331-26

22C FD 330-22

22C-1.5 FD 330-30

233-2 FD 530-35

233D-2 FD 530-35

255C-1.5 FD 70-15

26C FD 120-20

313D FT 530-32

333C FT 530-35

354D FT 330-29

38D FT 330-29

Air Spring Identification – Firestone Bellow Conversion Charts



43Air Springs  – Replacement Guide 2016

C
ro

ss R
eferen

ces

GOODYEAR  
BELLOWS # 

Gold Line Quality 
Parts™  Bellows No. 

556-23-8-329 FD 530-22

556-33-8-335 FT 530-35

566-18-3-003 6 6.5B-11

566-18-3-003 6 6.5D-11

566-18-3-004 6 6.5-13

566-18-3-010 6 6.5-13

566-20-3-021 9 9K-15

566-22-3-021 9 9-9

566-22-3-021 9 9-12

566-22-3-057 9 9-12

566-22-3-143 9 9-14

566-22-3-143 9 9K-15

566-22-3-143 9 10-14

566-24-1-000 9 10-18.5

566-24-1-008 9 10-16

566-24-1-008 9 10-17.5

566-24-1-010 9 10-17.5

566-24-1-012 9 10-18.5

566-24-3-000 9 10-16

566-24-3-038 9 10-14

566-24-3-038 9 10-16

566-24-3-038 9 10-17.5

566-24-3-038 9 10-18.5

566-24-3-048 9 10-16

566-24-3-055 9 10-12

566-24-3-061                               9 10-10

566-24-3-066 9 10-17.5

566-24-3-066 9 10-19

566-24-3-066 9 10B-19.5

566-24-3-067 9 9-12

566-24-3-067 9 10-10

566-24-3-067 9 10-12

566-24-3-076 9 10-12

566-24-3-076 9 10-14

566-24-3-077 9 10-14

566-24-3-078 9 10-14

566-24-3-079 9 10-14

566-24-3-080 9 10B-17.5

566-24-3-090 9 10-21

566-24-3-097 9 10-16

566-24-3-097 9 10-17.5

566-24-3-097 9 10B-17.5

566-24-3-097 9 10-18.5

566-24-3-097 9 10-19

GOODYEAR  
BELLOWS # 

Gold Line Quality 
Parts™  Bellows No. 

566-24-3-108 9 10S-16

566-24-3-110 9 10-17.5

566-24-3-117 9 10-21

566-24-3-173 9 10-16

566-24-3-180 9 10-16

566-24-3-275 9 10S-16

566-26-3-034 10 10-21

566-26-3-036 9 10-13.5

566-26-3-043 9 10B-17.5

566-26-3-044 9 10D-21

566-26-3-050 10 10-15

566-26-3-051 10 10-16

566-26-3-051 10 10-16.5

566-26-3-051 11 10.5-17

566-26-3-053 9 10-13.5

566-26-3-054 11 10.5-15

566-26-3-055 10 10.5AV-12

566-26-3-068 10 10-21

566-26-3-071 10 10-21

566-26-3-072 11 10.5-21

566-26-3-073 10 10-15

566-26-3-073 10 10.5-15

566-26-3-078 10 10-16

566-26-3-081 10 10-15

566-26-3-144 10 10-21

566-28-3-015 11 10.5-15

566-28-3-015 11 10.5A-16

566-28-3-015 11 10.5C-16

566-28-3-020 11 10.5-19

566-28-3-020 11 10.5-21

566-28-3-020 11 10.5-22

566-28-3-021 11 10.5-17

566-28-3-021 11 10.5-19

566-28-3-023 11 10.5C-16

566-28-3-029 11 10.5-24

566-28-3-030 11 10.5-22

566-28-3-031 11 10.5-24

566-28-3-042 11 10.5F-17

566-28-3-080 10 10-16

578-91-3-301 FS 330-11

578-91-3-310 FD 330-30

578-91-3-351 FS 530-14

578-91-3-352 FS 530-14

578-92-3-202 FD 200-19

GOODYEAR  
BELLOWS # 

Gold Line Quality 
Parts™  Bellows No. 

556-23-8-325 FD 200-19

578-92-3-206 FD 200-19

578-92-3-206 FD 200-25

578-92-3-208 FD 200-25

578-92-3-211 FD 200-19

578-92-3-250 FD 200-19

578-92-3-305 FD 330-22

578-92-3-309 FD 330-22

578-92-3-315 FD 330-30

578-92-3-315 FD 331-26

578-92-3-353 FD 530-22

578-92-3-353 FD 530-30

578-92-3-356 FD 530-30

578-93-3-100 FT 330-29

578-93-3-350 FT 530-32

578-93-3-350 FT 530-35

579-92-3-515 FD 110-15

579-92-3-526 FD 110-17A 

579-92-3-530 FD 120-20

Air Spring Identification – Goodyear Bellows Conversion Charts

FIRESTONE
BELLOWS #

Gold Line Quality 
Parts™  Bellows No. 

1T19F-7 11 10.5-17

1T19F-9 11 10.5-19

1T19FC-5 13 10.5A-16

1T19FC-6 12 10.5A-16

1T19FC-8 11 10.5B-18

1T19J-6 11 10.5C-16

1T19L-11 11 10.5-21

1T19L-12 11 10.5-22

1T19L-14 11 10.5-24

1T19L-5 11 10.5-15

1T19L-7 11 10.5-17

1T19L-9 11 10.5-19

1T19LC-11 11 10.5-21

1T19LC-6 11 10.5A-16

1T19LC-8 11 10.5B-18

1T19LF-7 11 10.5F-17

1T19ZK-5.7 11 10.5C-16

20-1 FD 200-22

20-2 FD 200-25

20CT FD 200-19

20F FD 200-19

20F-1 FD 200-22

20F-2 FD 200-25

21-2 FD 530-30

21CT-2 FD 530-30

21D FD 530-22

21D-2 FD 530-30

22-1.5 FD 330-30

224C FD 110-15

228-1.5 FD 331-26

228CT-1.5 FD 331-26

22C FD 330-22

22C-1.5 FD 330-30

233-2 FD 530-35

233D-2 FD 530-35

255C-1.5 FD 70-15

26C FD 120-20

313D FT 530-32

333C FT 530-35

354D FT 330-29

38D FT 330-29



44 Air Springs  – Replacement Guide 2016

C
ro

ss
 R

ef
er

en
ce

s

TRIANGLE
BELLOWS #

Gold Line Quality 
Parts™  Bellows No. 

6316 FD 330-22

6319 FT 530-32

6325 FD 200-19

6326 FS 530-14

6328 FD 330-30

6329 FD 530-22

6332 FD 200-22

6332 FD 200-25

6334 FT 330-29

6336 FD 530-30

6360 9 10-10

6361 9 10-12

6362 9 10-14

6363 9 10-16

6363 9 10S-16

6363 9 10-17.5

6363 9 10-18.5

6364 9 10-17.5

6364 9 10-19

TRIANGLE
BELLOWS #

Gold Line Quality 
Parts™  Bellows No. 

6365 11 10.5-17

6366 11 10.5-21

6367 11 10.5C-16

6368 9 9-12

6369 9 10-17.5

6369 9 10B-17.5

6371 9 10D-21

6372 9 9-14

6373 9 10-21

6374 FS 330-11

6375 FD 331-26

6378 9 9K-15

6382 10 10-16

6383 11 10.5-19

6385 9 10-13.5

6386 10 10-21

6387 9 10-19

6388 9 10-12

6390 10 10-15

TRIANGLE
BELLOWS #

Gold Line Quality 
Parts™  Bellows No. 

6390 10 10.5-15

6391 9 10-17.5

6391 9 10-18.5

6392 FD 120-20

6394 10 10-21

6395 FD 200-22

6396 10 10.5AV-12

6397 9 9-9

6398 11 10.5A-16

6399 11 10.5-22

6411 6 6.5-15

6412 FD 530-35

6413 11 10.5-24

6414 9 10-17.5

6415 9 9-9

6417 11 10.5-15

6424 9 9-16

6428 9 10BP-16

6429 FT 330-29

Air Spring Identification – Triangle Bellows Conversion Charts



45Air Springs  – Replacement Guide 2016

C
ro

ss R
eferen

ces

PLATE 
DIA. (A)

MOLDED DIA. 
OF PART (B)

MOLDED HGT. 
OF PART (C)

Gold Line Quality 
Parts™  Bellows No. PAGES USED ON THE FOLLOWING AIR SPRINGS

6 6.5 11

6 6.5-11 50 5311, 5323

6 6.5B-11 50-52 2119, 5298, 5319, 8992, 9911, 9912, P273

6 6.5D-11 53 8997

6 6.5 13 6 6.5-13 53-55 5405, 5406, 5410, 5412, 5423, 5433, 5434

9 9 9 9 9-9 55-56 9547, 9617, 9622

9 9 10 9 9-10 56-57 9541, 9618, 9625, 9675

9 9 12 9 9-12 58-61 8897, 8901, 9376, 9378, 9379, 9387, 9421, 9422, 9448, 9551, 9616

9 9K-12 61-62 9554, P790

9 9 14 9 9-14 62-63 8919, 9385, 9439, 9465

9 9 15 9 9K-15 63-65 8949, 9291, 9293, 9295, P049, P945

9 9 16 9 9-16 66 9626

9 9 20 9 9B-20 66 9621

9 9 22 9 9B-22 66 9619

9 10 10 & 10.5 9 10-10 67-72 8963, 8964, 8971, 8976, 8986, 9029, 9031, 9033, 9039, 9077, 9307, 9308, 
9332, 9333, 9334, 9534, P338, P340

9 10 12 9 10-12 73-80 7667, 8197, 8201, 8203, 8204, 8646, 8882, 8930, 8932, 8934, 9053, 9105, 
9302, 9325, 9339, 9365, 9366, 9640, A118, A463, A848, P463

9 10 13 & 13.5 9 10-13.5 80-82 9270, 9579, 9774, 9807, P978, S734 

9 10 14 9 10-14 82-94
8802, 8803, 8805, 8806, 8810, 8813, 8816, 8817, 9008, 9010, 9011, 9059, 
9060, 9063, 9068, 9069, 9070, 9071, 9335, 9336, 9463, 9467, 9469, 9482, 
9483, 9484, 9507, 9567, 9568, 9634, 9697, 9797, 9798, 9959, 9978, P220

9 10 16 & 16.5

9 10-16 94-105
0712, 8924, 8927, 9004, 9026, 9082, 9083, 9092, 9093, 9096, 9193, 9194, 
9213, 9219, 9223, 9227, 9228, 9256, 9296, 9299, 9304, 9362, 9392, 9466, 
9474, 9496, 9643, 9944, P407, P769, P770, P841

9 10BP-16 105 9644

9 10S-16 105-106 9759, 9780, 9781, A999

9 10P-16.5 107 A926

9 10 17.5
9 10-17.5 107-116

6258, 6262, 8888, 8903, 8944, 9342, 9470, 9471, 9472, 9473, 9501, 9504, 
9902, 9921, 9922, 9923, 9935, 9936, 9942, 9943, 9947, 9948, 9966, 9972, 
9974, A802, P733, P793, P807

9 10B-17.5 117 9275, 9491

9 10 18.5 9 10-18.5 117-120 9297, 9371, 9372, 9373, 9647, 9654, 9656, 9663, P111

A

B
C

Air Spring Identification – Rolling Lobe Bellow Cross Reference

G2292120000

Industry Reference Number
 (i.e. W01-358-5311)

Ex. 5311



46 Air Springs  – Replacement Guide 2016

C
ro

ss
 R

ef
er

en
ce

s

PLATE 
DIA. (A)

MOLDED DIA. 
OF PART (B)

MOLDED HGT. 
OF PART (C)

Gold Line Quality 
Parts™  Bellows No. PAGES USED ON THE FOLLOWING AIR SPRINGS

9 10 19 9 10-19 120-130
8842, 8852, 8855, 8856, 8864, 9101, 9130, 9192, 9203, 9238, 9240, P384, 
9245, 9265, 9346, 9348, 9349, 9350, 9394, 9560, A358, A552, A830, A946, 
P358, P762, P796, P809, P814, P946, P973

9 10 19.5 9 10-19.5 130 A801

9 10 20 9 10BP-20 131 9646

9 10 21
9 10D-21 131-132 9250, 9252, 9269

9 10-21 132-134 9320, 9321, 9338, 9367, 9367, 9370, P817

9 10 22 9 10BP-22 134 9645

10 10 15 10 10-15 135-137 8710, 8723, 8740, 8751, 8752, 8753, 8755, 8782

10 10 16 10 10-16 137-138 8637, 8708, 8713

10 10 16.5 10 10-16.5 138 S783

10 10 21 10 10-21 139-141 8744, 8746, 8748, 8749, 9580, 9581, P949

10 10.5 12 10 10.5AV-12 142 8729

10 10.5 15 10 10.5-15 142 8709

11 10.5 15 11 10.5-15 142-144 8088, 9200, 9204, 9215, 9216, 9218, 9277, A751

11 10.5 16
11 10.5A-16 144-145 8091, P934

11 10.5C-16 145-147 8050, 8051, 8052, 8053, A101, A706, A729, A834

11 10.5 17 11 10.5F-17 148-151 8774, 8778, 9116, 9121, 9144, 9148, 9149, 9164, 9177, 9221, 9961

11 10.5 17.5 11 10.5F-17.5 151-152 P800, P829

11 10.5 18 11 10.5B-18 152 8093

11 10.5 19 11 10.5-19 152-154 8779, 8780, 8781, 9134, 9138, A960

11 10.5 21 11 10.5-21 154-157 8764, 8792, 8796, 9156, 9158, 9199, A026, A062, A855, A965

11 10.5 22 11 10.5-22 158-159 5503, 5505, 5511, A752, A856

11 10.5 24 11 10.5-24 159 9264

Air Spring Identification – Rolling Lobe Bellow Cross Reference



47Air Springs  – Replacement Guide 2016

C
ro

ss R
eferen

ces

CONVOLUTIONS PLATE DIA. (A)
Gold Line Quality 

Parts™  Bellows No. PAGES USED ON THE FOLLOWING AIR SPRINGS

1 9 FS 330-11 188-189 0771,6994,7008,7009

1 11.31 FS 530-14 189-192 7088, 7093, 7094, 7096, 7103, 7104, 7105, 7112, 7117

2 5.5
FD 110-17A 162 7505, 7659, A804

FD 120-20 163-164 0736, 0764, 0767, 7325, 7689, 7705

2 6.31

FD 200-19 165-170 6884, 6890, 6897, 6900, 6902, 6905, 6908, 6910, 6926, 6932, 6935, 6940, 6941, 6949, 
7788, 7795, 9836

FD 200-22 170-171 6883, 6886, 7897

FD 200-25 171-174 0721, 6393, 6844, 6927, 6943, 6945, 6946, 6947, 6948

FD 200-25A 174 0797

2 9

FD 330-22 174-178 7180, 7181, 7184, 7344, 7400, 7401, 7403, 7405, 7409, 7410, 7423, 7424, 7429, 7437

FD 330-30 179-182 0549, 0705, 6789, 7443, 7444, 7446, 7447, 7472, 7473, 7483, 7499, 7790

FD 331-26 183 7545, 7550, 7555

2 11.31

FD 530-22 185-185 7123, 7135, 7136, 7140, 7145, 7146

FD 530-30 186 6801, 6803, 6805

FD 530-35 187-188 6799, 7557, 7781, 7782

3 9 FT 330-29 192-198 0503, 0702, 0714, 0722, 0773, 7990, 7995, 7996, 7723, 8006, 8008, 8010, 8016, 8018, 
8025, 8027, 8032, 8033

3 11.31

FT 530-32 198-200 7796, 7797, 7798, 7800, 7808, 7818

FT 530-35 200-205 0808, 7838, 7839, 7843, 7844, 7845, 7846, 7847, 7848, 7850, 7853, 7855, 7859, 7862, 
7872

Air Spring Identification – Convoluted Bellow Cross Reference

A

2 Convolutions

G2290771000

Industry Reference Number
 (i.e. FS 330-11 771)

Ex. 0771



48 Air Springs  – Replacement Guide 2016

C
ro

ss
 R

ef
er

en
ce

s

SLEEVE DIA. (A)
Gold Line Quality 

Parts™  Bellows No. PAGES USED ON THE FOLLOWING AIR SPRINGS

2.99

VP SC29-B__9.53 208 7092, 7110

VP SC29-B__7.24 208 7152

VP SC29-B__11.02 209 7200

VP SC29-O__7.52 209 7001

VP SC29-O__6.77 209 7046

VP SC29-O__6.03 210 7086, 7098

VP SC29-O__8.35 210 7100

VP SC29-O__8.03 211 7201

VP SC29-W__7.24 211-212 7035, 7042, 7045, 7056

VP SC29-W__8.78 212-213 7061, 7074

VP SC29-W__8.50 213 7075

VP SC29-W__7.52 213 7087

VP SC29-W__8.50 214 7103

VP SC29-Y__10.79 214 7036

VP SC29-Y__8.50 214 7064

VP SC29-Y__8.50 215 7109, YG01

3.15

VP SC31-W__6.50 215 7206

VP SC31-Y__8.74 216 7205

VP SC31-Y__10.63 CT 216 7215

Air Spring Identification – Sleeve Bellow Cross Reference

A

G2297092000

Industry Reference Number
 (i.e. W02-358-7092)

Ex. 7092



49Air Springs  – Replacement Guide 2016

R
o

llin
g

 Lo
b

e

Rolling lobe air springs



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

50 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

ll
in

g
 L

o
b

e
R

o
ll
in

g
 L

o
b

e

6 6.5-11

9312900   

W01-358-5311  

G2295311300

N/A 

8031 

Flexible 6-379-1
Ridewell 1003585311C

6 6.5-11 S 031, 68112 

6 6.5-11

9312900   

W01-358-5323  

G2295323300

N/A 

8032 

Granning 7504
Ridewell 1003585323C

6 6.5-11 S 032, 68113 

6 6.5B-11

9312902   

W01-358-2119  

G2292119300

1R9-065 

8027 

Granning 5122
Hendrickson S2394
Hendrickson B2394
Rowe Truck 0467

6 6.5B-11 S 027, 68108 



51Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

llin
g

 Lo
b

e

6 6.5B-11

9312900   

W01-358-5298  

G2295298300

N/A 

8054 

Gillig 08-372-09-000N

6 6.5B-11 S 054, 68135 

6 6.5B-11

9312900   

W01-358-5319  

G2295319300

N/A 

8035 

Monaco Coach 8618

6 6.5B-11 S 035, 68116 

6 6.5B-11

9312902   

W01-358-8992  

G2298992300

N/A 

8037 

Ridewell 1003588992C

6 6.5B-11  S 037, 68118 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

52 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

ll
in

g
 L

o
b

e
R

o
ll
in

g
 L

o
b

e

6 6.5B-11

9314165   

W26-358-9912 W26-358-9913 

G2299912200

N/A 

N/A 

Hendrickson 66349-2
Hendrickson 64075-2
Hendrickson 60750-2

6 6.5B-11 P 236, 69915 

6 6.5B-11

9314166   

N/A  

G299P273200

N/A 

N/A 

Hendrickson 67304-2

6 6.5B-11 P 237, 69916 

6 6.5B-11

9314165   

N/A  

G2299911200

N/A 

N/A 

Hendrickson 59823-2
Hendrickson 67874-2
Hendrickson 69782-2
Hendrickson 69116-2

6 6.5B-11 P 235, 69914 



53Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

llin
g

 Lo
b

e

6 6.5D-11

9312902   

W01-358-8997  

G2298997300

1R9-065 

8525 

Bluebird 300-961425
Bluebird 1263581
Flexible 6-336-196
Ridewell 1003588997C
SAF-HOLLAND 90557029
SAF-HOLLAND 90557034
Watson & Chalin AS-0026

6 6.5D-11 S 525, 68119 

6 6.5-13

9312900   

W01-358-5405  

G2295405300

N/A 

8038 

Hendrickson S9346

6 6.5-13 S 038, 68120 

6 6.5-13

9312900   

W01-358-5406  

G2295406300

1R9-038 

8039 

Flexible 6-336-11
GMC 716111
Granning 1971

6 6.5-13 S 039, 68121 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

54 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

ll
in

g
 L

o
b

e
R

o
ll
in

g
 L

o
b

e

6 6.5-13

9312935   

W01-358-5410  

G2295410300

1R9-070 

8446 

Granning 2112
Ridewell 1003585410C
Watson & Chalin AS-0029

6 6.5-13 S 446, 68123 

6 6.5-13

9312935   

W01-358-5412  

G2295412300

N/A 

8041 

American Carrier 8003-011
SAF-HOLLAND 90057057

6 6.5-13 S 041, 68124 

6 6.5-13

9312910   

W01-358-5423  

G2295423300

N/A 

8559 

Granning 5235
Granning 5307
Rowe Truck 0072

6 6.5-13 S 559, 68127 



55Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

llin
g

 Lo
b

e

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

6 6.5-13

9312901   

W01-358-5433  

G2295433300

N/A 

8044 

Watson & Chalin AS-0069

6 6.5-13 S 044, 68128 

6 6.5-13

9312900   

W01-358-5434  

G2295434300

N/A 

8045 

Granning 7765

6 6.5-13 S 045, 68129 

9 9-9

9312231   

W01-358-9547  

G2299547200

1R11-268 

8073 8859

Kenworth C81-1004

9 9-9 P 859 (BK), 68358 (BK), 
66109 (NB)



Replaces

Order Number

Cross Section View Top View / Bottom View

Replaces

Order Number

Cross Section View Top View / Bottom View

Replaces

Order Number

Cross Section View Top View / Bottom View

56 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

ll
in

g
 L

o
b

e
R

o
ll
in

g
 L

o
b

e

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

9 9-9

9312231   

W01-358-9617  

G2299617200

1R11-219 

8860 

Kenworth K-303-18
Kenworth K-303-22

9 9-9 P 860 (BK), 66112 (BK), 
69656 (NB)

9 9-9

9312231   

W01-358-9622  

G2299622200

1R11-221 

8537 8756

Kenworth K-303-22

9 9-9 P 537 (BK), 65367 (BK), 
68359 (NB)

9 9-10

9312231   

W01-358-9541  

G2299541200

N/A 

8072 8862

Kenworth C81-1005

9 9-10 P 861 (BK), 68357 (BK), 
66111 (NB)



57Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Replaces

Order Number

Cross Section View Top View / Bottom View

Replaces

Order Number

Cross Section View Top View / Bottom View

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

llin
g

 Lo
b

e

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

9 9-10

9312231   

W01-358-9618  

G2299618200

1R11-220 

8862 

Kenworth K-303-19
Kenworth K-303-25

9 9-10 P 862 (BK), 69657 (BK), 
66113 (NB)

9 9-10

9312231   

W01-358-9625  

G2299625200

1R11-222 

8075 8538

Kenworth K-303-25

9 9-10 P 538 (BK), 65389 (BK), 
68360 (NB)

9 9-10

9312231   

W01-358-9675  

G2299675200

1R11-221 

8076 

Kenworth K-303-28

9 9-10 P 576 (BK), 68361 (BK), 
65394 (NB)



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

58 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

ll
in

g
 L

o
b

e
R

o
ll
in

g
 L

o
b

e

9 9-12

9308624   

W01-358-8897  

G2298897200

N/A 

8730 

Monaco Coach 0180 4591
Ridewell 1003589447C

9 9-12 P 730, 64664 

9 9-12

9311939   

W01-358-8901  

G2298901200

1R11-149 

8464 

Ridewell 1003588901C

9 9-12 P 464, 64364 

9 9-12

9308624   

W01-358-9376 W01-358-8897 

G2299376200

1R11-200 

8477 8755

Monaco Coach 8619
Monaco Coach 8108

9 9-12 P 477, 64365 



59Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

llin
g

 Lo
b

e

9 9-12

9308624   

W01-358-9378  

G2299378200

1R11-202 

8447 

Monaco Coach 14002
Monaco Coach 0180 8108
Ridewell 1003589378C

9 9-12 P 447, 64363 

9 9-12

9308625   

W01-358-9379  

G2299379200

1R12-178 

8379 

Loadguard SC2110
Navistar/Fleetrite 1660694C-1

9 9-12 P 379, 64361 

9 9-12

9308127   

W01-358-9387  

G2299387200

1R11-203 1R11-159

8479 

Ridewell 1003589387C

9 9-12 P 479, 64367 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

60 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

ll
in

g
 L

o
b

e
R

o
ll
in

g
 L

o
b

e

9 9-12

9308624   

W01-358-9448  

G2299448200

1R11-150 

8563 

Ridewell 1003589448C

9 9-12 P 563, 64286 

9 9-12

9308623   

W01-358-9421  

G2299421200

1R11-171 

8705 

American Carrier 8003-003

9 9-12 P 705, 64627 

9 9-12

9308624   

W01-358-9422  

G2299422200

1R11-028 

8314 

Dayton 352-9422
Hendrickson B-13032
Kenworth K-303-14
Kenworth K-303-15
Navistar/Fleetrite 554762C1
Volvo 85101148
Watson & Chalin AS-0017
And More

9 9-12 P 314, 64255 



61Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Replaces

Order Number

Cross Section View Top View / Bottom View

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

llin
g

 Lo
b

e

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

9 9-12

9308624   

W01-358-9616  

G2299616200

1R11-242 

8515 

Kenworth K-303-16

9 9-12 P 515 (BK), 69655 (BK), 
64256 (NB)

9 9-12

9308624   

W01-358-9551  

G2299551200

N/A 

N/A 

Monaco Coach 0180 8670

9 9-12 P 786, 64752 

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

9 9K-12

9312231   

W01-358-9554  

G2299554200

N/A 

N/A 

Hendrickson 60716-2
Volvo 57QL59M
Volvo 20462941

9 9K-12 P 093, 68608 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

62 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

ll
in

g
 L

o
b

e
R

o
ll
in

g
 L

o
b

e

9 9K-12

9308128   

N/A  

G229P790200

N/A 

N/A 

SAF-HOLLAND 90557346

9 9K-12 P 790, 64754 

9 9-14

9311939   

W01-358-8919  

G2298919200

1R11-191 

8517 

Ridewell 1003588919C

9 9-14 P 517, 64381 

9 9-14

9308301   

W01-358-9385  

G2299385200

1R11-178 

N/A 

New Flyer 055089

9 9-14 P 895, 67492 



63Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

llin
g

 Lo
b

e

9 9-14

9309183   

W01-358-9439  

G2299439400

N/A 

8337 

Flexible 6-336-200
Mahowk 53-14006-002
Novabus N16374

9 9-14 A 337, 64379 

9 9-14

9308301   

W01-358-9465  

G2299465200

N/A 

N/A 

New Flyer 009865

9 9-14 P 933, 66956 

9 9K-15

9311939   

W01-358-8949  

G2298949200

1R10-141 

8455 

SAF-HOLLAND 90557150

9 9K-15 P 455, 64390 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

64 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

ll
in

g
 L

o
b

e
R

o
ll
in

g
 L

o
b

e

9 9K-15

9308127   

W01-358-9294  

G2299294200

1R11-915 

8423 

SAF-HOLLAND 90557127

9 9K-15 P 423, 64387 

9 9K-15

9306248   

W01-358-9291  

G2299291200

1R10-122 

8425 

SAF-HOLLAND 90557122
SAF-HOLLAND 90557139

9 9K-15 P 425, 64389 

9 9K-15

9308128   

W01-358-9293  

G2299293200

1R10-120 

8424 

Granning 8896
SAF-HOLLAND 90557120

9 9K-15 P 424, 64388 



65Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

llin
g

 Lo
b

e

9 9K-15

9312284   

W01-358-9295  

G2299295200

1R11-166 

8417 

Reyco 710387-01
SAF-HOLLAND 90557121

9 9K-15 P 417, 64386 

9 9K-15

9308133   

N/A  

G229P049200

N/A 

N/A 

Reyco 710442-01

9 9K-15 P 049, 68406 

9 9K-15

9312284   

N/A  

G229P945200

N/A 

N/A 

Reyco 709668-01

9 9K-15 P 945 (BK), 67448 (BK) 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

66 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

ll
in

g
 L

o
b

e
R

o
ll
in

g
 L

o
b

e

9 9B-20

9312284   

W01-358-9621  

G2299621200

N/A 

8740 

Hendrickson S-23613

9 9B-20 P 740, 64696 

9 9B-22

9306248   

W01-358-9619  

G2299619200

N/A 

8741 

Hendrickson S-23614

9 9B-22 P 741, 64697 

9 9-16

9312284   

W01-358-9626  

G2299626200

N/A 

8568 

Hendrickson S-23720

9 9-16 P 568, 64692 



67Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

llin
g

 Lo
b

e

9 10-10

9308623   

W01-358-8963  

G2298963200

N/A 

8473 

Ridewell 1003588963C

9 10-10 P 473, 64440 

9 10-10

9308624   

W01-358-8964  

G2298964200

1R12-556 

8480 

Reyco 21598-01

9 10-10 P 480, 64441 

9 10-10

9308127   

W01-358-8971  

G2298971200

N/A 

N/A 

Hendrickson 59484-2

9 10-10 P 204, 69625 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

68 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

ll
in

g
 L

o
b

e
R

o
ll
in

g
 L

o
b

e

9 10-10

9308624   

W01-358-8976  

G2298976200

1R12-557 

8503 

Reyco 21055-01

9 10-10 P 503, 64444 

9 10-10

9308624   

W01-358-8986  

G2298986200

1R12-558 

8400 

Ridewell 1003588986C

9 10-10 P 400, 64438 

9 10-10

9308624   

W01-358-9029  

G2299029200

1R12-559 

8399 

Ridewell 1003589029C

9 10-10 P 399, 64437 



69Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

llin
g

 Lo
b

e

9 10-10

9308127   

W01-358-9031  

G2299031200

1R12-350 

8339 

Loadguard SC2785
Peerless 0550-00051
Taurus AS500-9031

9 10-10 P 339, 64433 

9 10-10

9308127   

W01-358-9033  

G2299033200

1R12-351 

8328 

Loadguard SC2779
SAF-HOLLAND 90557012
SAF-HOLLAND 90044198
Taurus AS500-9033

9 10-10 P 328, 64430 

9 10-10

9308623   

W01-358-9039  

G2299039200

1R12-095 

8311 

Hendrickson S-11650
Hendrickson S-2064
Hutchens H-9424-01
Hutchens 9424-03
Navistar/Fleetrite 554766C1
Raydan 211-00-010
Ridewell 1013589039C
Watson & Chalin AS-0012
And More

9 10-10 P 311, 64260 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

70 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

ll
in

g
 L

o
b

e
R

o
ll
in

g
 L

o
b

e

9 10-10

9308127   

W01-358-9077  

G2299077200

1R12-359 

8331 

Fruehauf MFR-022354
Fruehauf UCB-44531
Loadguard SC2780
Taurus AS500-9077

9 10-10 P 331, 64431 

9 10-10

9308127   

W01-358-9307  

G2299307200

1R12-435 

8471 

Reyco 17360-01
Ridewell S-5356-C
SAF-HOLLAND 90557129

9 10-10 P 471, 64439 

9 10-10

9308625   

W01-358-9308  

G2299308200

1R12-560 

8398 

Reyco 17360-01
SAF-HOLLAND 90557089

9 10-10 P 398, 64436 



71Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

llin
g

 Lo
b

e

9 10-10

9308625   

W01-358-9332  

G2299332200

1R12-561 

8397 

Reyco 20074-01

9 10-10 P 397, 64435 

9 10-10

9308625   

W01-358-9333  

G2299333200

N/A 

8481 

Reyco 20437-01

9 10-10 P 481, 64442 

9 10-10

9308127   

G2299334200

W01-358-9334  

1R12-435 

8482 

Ridewell 1003589334C

9 10-10 P 482, 64443 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

72 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

ll
in

g
 L

o
b

e
R

o
ll
in

g
 L

o
b

e

9 10-10

9308623   

G2299534200

9 10-10

9308127   

G229P338200

W01-358-9534  

N/A 

8717 

SAF-HOLLAND 90557303
SAF-HOLLAND 90557325

9 10-10 P 717, 64643 

W01-358-9030  

N/A 

8338 

9 10-10 P 338, 64432 

9 10-10

9308127   

N/A  

G229P340200

N/A 

8340 

9 10-10 P 340, 64434 



73Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

llin
g

 Lo
b

e

9 10-12

9308127   

W01-358-8197  

G2298197200

1R12-562 

8024 

SAF-HOLLAND 90557230

9 10-12 P 024, 68009 

9 10-12

9308128   

W01-358-7667  

G2297667200

N/A 

N/A 

SAF-HOLLAND 90557256

9 10-12 P 720, 64646 

9 10-12

9308127   

W01-358-8201  

G2298201200

N/A 

8483 

Ridewell 1003588201C

9 10-12 P 483, 64455 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

74 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

ll
in

g
 L

o
b

e
R

o
ll
in

g
 L

o
b

e

9 10-12

9312070   

W01-358-8203  

G2298203200

N/A 

8543 

Arvin Meritor 2258-C-1459
SAF-HOLLAND 90557210

9 10-12 P 543, 64462 

9 10-12

9308127   

W01-358-8204  

G2298204200

1R12-508 

8484 

Binkley XB-SPN-053-37
SAF-HOLLAND 90557173
SAF-HOLLAND 90557223

9 10-12 P 484, 64456 

9 10-12

9312070   

W01-358-8646  

G2298646200

N/A 

8932 

9 10-12 P 932, 67696 



75Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

llin
g

 Lo
b

e

9 10-12

9312231   

W01-358-8882  

G2298882200

N/A 

8839 

SAF-HOLLAND 90557306

9 10-12 P 839, 66117 

9 10-12

9308301   

W01-358-8930  

G2298930200

N/A 

8396 

Ridewell 1003588930C

9 10-12 P 396, 64452 

9 10-12

9308133   

W01-358-8932  

G2298932200

N/A 

8485 

Reyco 22241-01

9 10-12 P 485, 64457 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

76 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

ll
in

g
 L

o
b

e
R

o
ll
in

g
 L

o
b

e

9 10-12

9309183   

W01-358-9053  

G2299053400

1R12-309 

8327 

Dayton 352-9053
EZ Ride 8030192
Fab Tek 10828
Fruehauf UCE-1304-2
Hendrickson S-13158
Loadguard SC2457
Ridewell 1003589053C
Taurus AS502-9053
Watson & Chalin AS-0095

9 10-12 A 327, 64446 

9 10-12

9312070   

W01-358-9105  

G2299105200

1R12-132 (45ç Piston align) 

8319 

Dayton 352-9105
Granning 5065
Hendrickson S-1245/ 36514-3
Navistar/Fleetrite 554770C1
Ridewell 1003589105C
Spring Valley AS-8319
Watson & Chalin AS-0015
And More

9 10-12 P 319, 64445 

9 10-12

9308624   

W01-358-8934  

G2298934200

1R12-563 

8544 

Hendrickson S-20228

9 10-12 P 544, 64463 



77Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

llin
g

 Lo
b

e

9 10-12

9309758   

W01-358-9127  

G2299127400

1R12-512 

N/A 

New Flyer 009594

9 10-12 A 707, 64633 

9 10-12

9312070   

W01-358-9302  

G2299302200

1R12-132 (15ç Piston align) 

8343 

Hendrickson B-12514-003
Taurus AS302-9302

9 10-12 P 343, 64450 

9 10-12

9312284   

W01-358-9325  

G2299325200

1R12-505 

8395 

Mahowk 82-17289-000
SAF-HOLLAND 90557149

9 10-12 P 395, 64451 



Replaces

Order Number

Cross Section View Top View / Bottom View

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

78 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

ll
in

g
 L

o
b

e
R

o
ll
in

g
 L

o
b

e

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

9 10-12

9308127   

W01-358-9339  

G2299339200

N/A 

8487 

Chevrolet 15963147
Chevrolet 15963148
Hendrickson 56808-2
Hendrickson 57140LH
Hendrickson 57150RH

9 10-12 P 487 (BK), 69645 (BK),
 64458 (NB)

9 10-12

9308128   

W01-358-9365  

G2299365200

1R12-571 

8495 

SAF-HOLLAND 90557159

9 10-12 P 495, 64460 

9 10-12

9311939   

W01-358-9366  

G2299366200

1R12-487 

8488 

SAF-HOLLAND 90557160
SAF-HOLLAND 90557225
SAF-HOLLAND 90557210
Watson & Chalin AS-0054

9 10-12 P 488, 64459 



79Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

llin
g

 Lo
b

e

9 10-12

9309183   

W01-358-9640  

G2299640400

1R12-367 

8427 

Hendrickson S-20223
Loadguard SC2758

9 10-12 A 427, 64395 

9 10-12

9309183   

N/A  

G229A118400

N/A 

N/A 

Raydan 211-00M-036

9 10-12 A 118, 68660 

9 10-12

9309183   

N/A  

G229A463400

N/A 

8463 

Raydan AL460
Raydan AL520
Raydan 211-00-030
Raydan 2258Z1508

9 10-12 A 463, 64454 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

80 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

ll
in

g
 L

o
b

e
R

o
ll
in

g
 L

o
b

e

9 10-12

9311939   

N/A  

G229P463200

N/A 

8463P 

Raydan AL460
Raydan AL520
Raydan 211-00-030
Raydan 2258Z1508

9 10-12 P 463, 67577 

9 10-12

9309183   

N/A  

G229A848400

N/A 

N/A 

Raydan 211-00M-034R01

9 10-12 A 848, 66029 

9 10-13.5

9309758   

W01-358-9270  

G2299270300

1R13-119 

8433 

Hendrickson S-20010
Hendrickson S-25559
Volvo 85101147
Watson & Chalin AS-0084

9 10-13.5 S 433, 64287 



81Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

llin
g

 Lo
b

e

9 10-13.5

9309758   

W01-358-9579 W01-358-8800 

G2299579300

1R13-239 

N/A 

Hendrickson S-21208

9 10-13.5 S 881, 66447 

9 10-13.5

9312070   

W01-358-9774  

G2299774200

N/A 

N/A 

Freightliner 16-15762-000

9 10-13.5 P 232, 69800 

9 10-13.5

9310777   

W01-358-9807  

G2299807200

N/A 

8874 

SAF-HOLLAND 90557363
SAF-HOLLAND 90557372
SAF-HOLLAND 50857000

9 10-13.5 P 874, 68151 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

82 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

ll
in

g
 L

o
b

e
R

o
ll
in

g
 L

o
b

e

9 10-13.5

9310777   

N/A  

G229P978200

N/A 

8978 

SAF-HOLLAND 90557342
SAF-HOLLAND 90557375

9 10-13.5 P 978, 68152 

9 10-13.5

9311827   

N/A  

G229S734300

N/A 

N/A 

Granning 704691-01

9 10-13.5 S 734, 64667 

9 10-14

9311939   

W01-358-8802  

G2298802200

1R12-434 

8469 

Ridewell 1003588802C
SAF-HOLLAND 90557170

9 10-14 P 469, 64477 



83Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

llin
g

 Lo
b

e

9 10-14

9312284   

W01-358-8803  

G2298803200

N/A 

8489 

Ridewell 1003588803C
SAF-HOLLAND 90557194

9 10-14 P 489, 64478 

9 10-14

9308301   

W01-358-8805  

G2298805200

1R12-438 

8462 

Navistar/Fleetrite 1675495C1
Navistar/Fleetrite 2027913C3
Ridewell 1003588805C

9 10-14 P 462, 64474 

9 10-14

9309183   

W01-358-8806  

G2298806400

1R12-445 1R12-492

8545 

Ridewell 1003588806C

9 10-14 A 545, 64486 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

84 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

ll
in

g
 L

o
b

e
R

o
ll
in

g
 L

o
b

e

9 10-14

9309183   

W01-358-8810  

G2298810400

N/A 

8546 

9 10-14 A 546, 64487 

9 10-14

9308128   

W01-358-8813  

G2298813200

N/A 

8577 

Kenworth C81-1003
Peterbilt C81-6000
Ridewell C81-6000

9 10-14 P 577, 65990 

9 10-14

9308127   

W01-358-8816  

G2298816200

N/A 

N/A 

Hendrickson 60929-2

9 10-14 P 905, 68153 



85Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

llin
g

 Lo
b

e

9 10-14

9308127   

W01-358-8817  

G2298817200

N/A 

N/A 

Hendrickson 60925-2

9 10-14 P 906, 68154 

9 10-14

9308301   

W01-358-9008  

G2299008200

N/A 

8344 

Ridewell 1003589008C

9 10-14 P 344, 64466 

9 10-14

9308301   

W01-358-9010  

G2299010200

1R12-421 

8345 

Hendrickson S-2827
Hendrickson S-11566
Reyco 12928-01
Ridewell 1003589010C
Watson & Chalin AS-0044

9 10-14 P 345, 64258 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

86 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

ll
in

g
 L

o
b

e
R

o
ll
in

g
 L

o
b

e

9 10-14

9308301   

W01-358-9011  

G2299011200

N/A 

8346 

Hendrickson S-2307

9 10-14 P 346, 64467 

9 10-14

9308301   

W01-358-9059  

G2299059200

N/A 

8335 

Hutchens H-1913-1

9 10-14 P 335, 64465 

9 10-14

9308301   

W01-W35-9060  

G2299060200

1R12-285 

N/A 

New Flyer 14635
New Flyer 000065

9 10-14 P 709, 64632 



87Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

llin
g

 Lo
b

e

9 10-14

9308301   

W01-358-9063  

G2299063200

N/A 

8347 

Navistar/Fleetrite 359519C1

9 10-14 P 347, 65364 

9 10-14

9308301   

W01-358-9068  

G2299068200

N/A 

8348 

Navistar/Fleetrite 350449C1

9 10-14 P 348, 64468 

9 10-14

9308128   

W01-358-9069  

G2299069200

1R12-069 

8312 

Hendrickson S-13031
Peterbilt 03-04759
Peterbilt 03-01649
Peterbilt 03-06746
Peterbilt 03-07112
Peterbilt 03-02038
Peterbilt 03-10042
Watson & Chalin AS-0077
And More

9 10-14 P 312, 64274 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

88 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

ll
in

g
 L

o
b

e
R

o
ll
in

g
 L

o
b

e

9 10-14

9309183   

W01-358-9070  

G2299070400

1R12-370 

8330 

Loadguard SC2775
R&S Truck 1090276
SAF-HOLLAND 90557038
SAF-HOLLAND 90557090
Silent Drive AS-9070
Taurus AS504-9070
Watson & Chalin AS-0050

9 10-14 A 330, 64464 

9 10-14

9308301   

W01-358-9071  

G2299071200

N/A 

8349 

Fab Tek 101357
Ridewell 1003589071C

9 10-14 P 349, 64469 

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

9 10-14

9308127   

W01-358-9335  

G2299335200

1R12-620 

8465 

Hendrickson 56917-1
Hendrickson 56917-2
Navistar/Fleetrite 1675495C1
Navistar/Fleetrite 2027913C4

9 10-14 P 465 (BK), 69644 (BK), 
64475 (NB)



89Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

llin
g

 Lo
b

e

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

9 10-14

9311939   

W01-358-9336  

G2299336200

N/A 

8490 

Watson & Chalin AS-0053

9 10-14 P 490, 64479 

9 10-14

9312070   

W01-358-9463  

G2299463200

N/A 

8437 

SAF-HOLLAND 90557130
SAF-HOLLAND 90557131

9 10-14 P 437, 64471 

9 10-14

9311400   

W01-358-9467  

G2299467400

N/A 

8491 

Ridewell 1003589467C

9 10-14 A 491, 64480 



Replaces

Order Number

Cross Section View Top View / Bottom View

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

90 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

ll
in

g
 L

o
b

e
R

o
ll
in

g
 L

o
b

e

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

9 10-14

9309183   

W01-358-9469  

G2299469400

1R11-223 

N/A 

9 10-14 A 103, 68620 

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

9 10-14

9311939   

W01-358-9482  

G2299482200

N/A 

8492 

SAF-HOLLAND 90557161
SAF-HOLLAND 90557219

9 10-14 P 492 (BK), 69651 (BK), 
64481 (NB)

9 10-14

9308128   

W01-358-9483  

G2299483200

N/A 

8493 

SAF-HOLLAND 90557166

9 10-14 P 493, 64482 
Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.



91Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Replaces

Order Number

Cross Section View Top View / Bottom View

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

llin
g

 Lo
b

e

9 10-14

9308128   

W01-358-9484  

G2299484200

N/A 

8494 

SAF-HOLLAND 90557158

9 10-14 P 494, 64483 

9 10-14

9308245   

W01-358-9507  

G2299507200

N/A 

8718 

SAF-HOLLAND 90557313

9 10-14 P 718, 64644 
Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

9 10-14

9308127   

W01-358-9567  

G2299567200

1R12-325 

8461 

Loadguard SC2769
Navistar/Fleetrite 1675495C1
Navistar/Fleetrite 2027913C2
Navistar/Fleetrite 2027913C1

9 10-14 P 461, 64473 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

92 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

ll
in

g
 L

o
b

e
R

o
ll
in

g
 L

o
b

e

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

9 10-14

9308624   

W01-358-9568  

G2299568200

1R12-205 

8450 

Navistar/Fleetrite 1675495C1
Navistar/Fleetrite 2027913C1

9 10-14 P 450, 64472 

9 10-14

9312070   

W01-358-9634  

G2299634200

1R12-636 

8575 

Freightliner 16-14263-000
Freightliner 16-14263-001
Freightliner 16-15443-000
Freightliner 16-15443-001
Freightliner 16-15444-000

9 10-14 P 575, 65361 

9 10-14

9312284   

W01-358-9697  

G2299697200

N/A 

8882 

SAF-HOLLAND 90557329
SAF-HOLLAND 90557367

9 10-14 P 882, 66521 



93Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

llin
g

 Lo
b

e

9 10-14

9309183   

W01-358-9797  

G2299797400

1R12-437 

8496 

Ridewell 1003589797C

9 10-14 A 496, 64484 

9 10-14

9312070   

W01-358-9798  

G2299798200

N/A 

8381 

Chevrolet 15630691
SAF-HOLLAND 90557105
SAF-HOLLAND 90557137

9 10-14 P 381, 64470 

9 10-14

9308301   

W01-358-9959  

G2299959200

N/A 

N/A 

9 10-14 P 188, 69493 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

94 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

ll
in

g
 L

o
b

e
R

o
ll
in

g
 L

o
b

e

9 10-14

9308301   

N/A  

G229P220200

N/A 

N/A 

New Flyer ‘000065

9 10-14 P 220, 69774 

9 10-14

9312845   

W01-358-9978  

G2299978200

N/A 

N/A 

Hendrickson S28929

9 10-14 P 959, 67588 

9 10-16

9311400   

N/A  

G2290712400

N/A 

N/A 

Hendrickson S-2066
Hendrickson S-4041
Hendrickson S-11651
Hendrickson S-13159
Hendrickson B-12514-007
Hutchens H-9630-01
Ridewell 1003589082C
Watson & Chalin AS-0011
And More

9 10-16 A 310, 70115 



95Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

llin
g

 Lo
b

e

9 10-16

9308133   

W01-358-8924  

G2298924200

1R12-436 

8497 

Ridewell 1003588924C

9 10-16 P 497, 64314 

9 10-16

9308128   

W01-358-8927  

G2298927200

N/A 

8498 

Watson & Chalin AS-0062

9 10-16 P 498, 64315 

9 10-16

9308301   

W01-358-9004  

G2299004200

N/A 

8394 

Watson & Chalin AS-0043

9 10-16 P 394, 64307 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

96 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

ll
in

g
 L

o
b

e
R

o
ll
in

g
 L

o
b

e

9 10-16

9312284   

W01-358-9026  

G2299026200

1R12-567 

8393 

Peterbilt 03-06213
Peterbilt 03-07111

9 10-16 P 393, 64306 

9 10-16

9308133   

W01-358-9082  

G2299082200

1R12-092 

8310 

Hendrickson S-2066
Hendrickson S-4041
Hendrickson S-11651
Hendrickson S-13159
Hendrickson B-12514-007
Hutchens H-9630-01
Ridewell 1003589082C
Watson & Chalin AS-0011
And More

9 10-16 P 310, 64269 

9 10-16

9308133   

W01-358-9083  

G2299083200

1R12-066 

8333 

Fruehauf UCE-9393-1
Granning 1359
Granning 1528
Granning B59
Hendrickson S-1561
Ridewell 1003589083C
Watson & Chalin AS-0028
Watson & Chalin AS-0018
And More

9 10-16 P 333, 64294 



97Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

llin
g

 Lo
b

e

9 10-16

9308133   

W01-358-9092  

G2299092200

1R12-220 

8372 

Hendrickson S-12353
Loadguard SC2767
Navistar/Fleetrite 517096C91
SAF-HOLLAND 90557031

9 10-16 P 372, 64301 

9 10-16

9308129   

W01-358-9093  

G2299093200

1R12-621 

8332 

SAF-HOLLAND 90557007
SAF-HOLLAND 90557032
SAF-HOLLAND 90557035
Taurus AS504-9093

9 10-16 P 332, 64293 

9 10-16

9308133   

W01-358-9096  

G2299096200

1R12-358 

8325 

Dayton 352-9096
Fruehauf UCE-1304-1
Hendrickson S-13049
Loadguard SC2051
Loadguard SC2765
Taurus AS504-9096

9 10-16 P 325, 64292 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

98 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

ll
in

g
 L

o
b

e
R

o
ll
in

g
 L

o
b

e

9 10-16

9308133   

W01-358-9193  

G2299193200

N/A 

8351 

SAF-HOLLAND 90557101

9 10-16 P 351, 64296 

9 10-16

9308133   

W01-358-9194  

G2299194200

1R12-356 

8352 

Dayton 352-9194
Hendrickson S-13163
Loadguard SC2786
Peterbilt 03-05107
Taurus AS506-9194
Watson & Chalin AS-0101

9 10-16 P 352, 64297 

9 10-16

9308663   

W01-358-9213  

G2299213200

N/A 

8441 

Dayton 352-9213
Loadguard SC2048
Navistar/Fleetrite 501559C-1
Navistar/Fleetrite 501559C-2
Navistar/Fleetrite 1660581C-1
Navistar/Fleetrite 1686386C1
Navistar/Fleetrite 2027911C1

9 10-16 P 441, 64308 



99Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

llin
g

 Lo
b

e

9 10-16

9308663   

W01-358-9219  

G2299219200

1R12-182 

8408 

Loadguard SC2070
Navistar/Fleetrite 1681739C1
Navistar/Fleetrite 1672401C1
Volvo 35003-3201
Volvo 35003-3203
Volvo 35003-3204
Volvo 35003-3209

9 10-16 P 408, 64259 

9 10-16

9308663   

W01-358-9223  

G2299223200

1R12-188 

8409 

Hendrickson 48195-2

9 10-16 P 409, 64275 

9 10-16

9308133   

W01-358-9227  

G2299227200

1R12-130 

8353 

Hendrickson S-2924
Hendrickson 48195-1

9 10-16 P 353, 64298 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

100 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

ll
in

g
 L

o
b

e
R

o
ll
in

g
 L

o
b

e

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

9 10-16

9311400   

W01-358-9228  

G2299228400

N/A 

8354 

Hendrickson B-3411
Sauer P50-733B

9 10-16 A 354, 64299 

9 10-16

9308133   

W01-358-9256  

G2299256200

N/A 

8371 

Hendrickson 49160

9 10-16 P 371, 64300 

9 10-16

9308663   

W01-358-9296  

G2299296200

1R12-400 

8416 

Loadguard SC2760
Volvo 8061151
Volvo 8169868

9 10-16 P 416 (BK), 69643 (BK), 
64310 (NB)



101Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

llin
g

 Lo
b

e

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

9 10-16

9308998   

W01-358-9299  

G2299299200

1R12-366 

N/A 

Hendrickson S-20716

9 10-16 P 710, 64634 

9 10-16

9306248   

W01-358-9304  

G2299304200

N/A 

8392 

SAF-HOLLAND 90557124
Watson & Chalin AS-0059

9 10-16 P 392, 64305 

9 10-16

9312284   

W01-358-9362  

G2299362200

1R12-441 

8391 

SAF-HOLLAND 90557113
Silent Drive AS-9362
Watson & Chalin AS-0049

9 10-16 P 391, 64304 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

102 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

ll
in

g
 L

o
b

e
R

o
ll
in

g
 L

o
b

e

9 10-16

9308129   

W01-358-9392  

G2299392200

1R12-143 

8376 

Hendrickson 4773

9 10-16 P 376, 64302 

9 10-16

9308662   

W01-358-9466  

G2299466200

1R12-365 

8410 

Hendrickson 49674-1
Hendrickson 49674-2
Hendrickson 49207
Hendrickson 409048-2C
Mack 57QL411M
Mack 364SQ28
Volvo 85101157
And More

9 10-16 P 410, 64276 

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

9 10-16

9308301   

W01-358-9474  

G2299474200

N/A 

8500 

Eveley RA 1954-11
Reyco 20966-01

9 10-16 P 500, 64317 



103Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Replaces

Order Number

Cross Section View Top View / Bottom View

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

llin
g

 Lo
b

e

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

9 10-16

9312284   

W01-358-9496  

G2299496200

N/A 

8547 

SAF-HOLLAND 90557208

9 10-16 P 547 (BK), 69653 (BK), 
64321 (NB)

9 10-16

9308660   

W01-358-9643  

G2299643200

N/A 

8549 

Hendrickson 58995-2

9 10-16 P 549 (BK), 69658 (BK), 
64322 (NB)

9 10-16

9308663   

W01-358-9944  

G2299944200

N/A 

8510 

Reyco 12884-01B

9 10-16 P 510, 64318 



Replaces

Order Number

Cross Section View Top View / Bottom View

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

104 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

ll
in

g
 L

o
b

e
R

o
ll
in

g
 L

o
b

e

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

9 10-16

9308663   

N/A  

G229P407200

1R12-090 

8407 

Hendrickson S-13033
Loadguard SC2048
Navistar/Fleetrite 1660581C1
Navistar/Fleetrite 501559C1
Navistar/Fleetrite 501159C2
Volvo 85101156

9 10-16 P 407, 64262 

9 10-16

9308301   

N/A  

G229P769200

1R12-541 

8769 

Watson & Chalin AS-0113G

9 10-16 P 769, 64650 
Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

9 10-16

9308129   

N/A  

G229P770200

1R12-576 

8770 

Watson & Chalin AS-0125G

9 10-16 P 770, 64651 



105Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Replaces

Order Number

Cross Section View Top View / Bottom View

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

llin
g

 Lo
b

e

9 10-16

9308301   

N/A  

G229P841200

N/A 

8841 

Watson & Chalin AS-0218

9 10-16 P 841, 66005 

9 10BP-16

9312284   

W01-358-9644  

G2299644200

N/A 

8569 

Hendrickson S-23721

9 10BP-16 P 569, 64693 
Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

9 10S-16

9312314   

W01-358-9759  

G2299759200

N/A 

8999P 

Freightliner A16-18335-000
Freightliner A16-18335-001
Loadguard SC2750
Volvo 85101151

9 10S-16 P 999, 68208 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

106 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

ll
in

g
 L

o
b

e
R

o
ll
in

g
 L

o
b

e

9 10S-16

9312314   

W01-358-9780  

G2299780200

1R12-303 

8382P 

Freightliner 681-320-0017
Freightliner 16-13810-000
Freightliner 16-15595-000
Freightliner 16-14004-000
Freightliner 16-13840-000
Freightliner 16-1673-000
Freightliner A16-14004-000
Loadguard SC2750
Volvo 85101151

9 10S-16 P 382, 67473 

9 10S-16

9310947   

W01-358-9781  

G2299781400

1R12-603 

8382 

Freightliner 681-320-0017
Freightliner 16-13810-000
Freightliner 16-15595-000
Freightliner 16-14004-000
Freightliner 16-13840-000
Freightliner 16-16773-000
Freightliner A16-14004-000
Loadguard SC2750
Volvo 85101151

9 10S-16 A 382, 64266 

9 10S-16

9310947   

W01-358-9781  

G229A999400

N/A 

8999 

Freightliner A16-17574-000
Freightliner A16-17574-001
Freightliner A16-17574-002

9 10S-16 A 999, 68207 



107Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

llin
g

 Lo
b

e

9 10P-16.5

9312845   

N/A  

G229A926400

N/A 

8926 

SAF-HOLLAND 90557331
SAF-HOLLAND 90557373

9 10P-16.5 A 926, 68155 

9 10-17.5

9306128   

W01-358-6258  

G2296258200

N/A 

8779 

Arvin Meritor 21227892

9 10-17.5 P 779, 64729 

9 10-17.5

9306128   

W01-358-6262  

N/A 

8831 

Arvin Meritor 21227742

9 10-17.5 P 831, 65831 

G2296262200



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

108 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

ll
in

g
 L

o
b

e
R

o
ll
in

g
 L

o
b

e

9 10-17.5

9308133   

W01-358-8888  

G2298888200

1R12-405 

N/A 

Rowe Truck 0027 ASC 2500

9 10-17.5 P 904, 66700 

9 10-17.5

9312284   

W01-358-8903  

G2298903200

N/A 

8536 

SAF-HOLLAND 90557169

9 10-17.5 P 536, 64423 

9 10-17.5

9308998   

W01-358-8944  

G2298944200

1R12-366 

8436 

Hendrickson 20217
Loadguard SC2756

9 10-17.5 P 436, 64401 



109Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Replaces

Order Number

Cross Section View Top View / Bottom View

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

llin
g

 Lo
b

e

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

9 10-17.5

9308133   

W01-358-9342  

G2299342200

N/A 

8418 

Granning 2727
Granning 9298

9 10-17.5 P 418, 64334 

9 10-17.5

9312284   

W01-358-9470  

G2299470200

N/A 

8501 

SAF-HOLLAND 90557145
SAF-HOLLAND 90557211

9 10-17.5 P 501 (BK), 69647 (BK), 
64408 (NB)

9 10-17.5

9306248   

W01-358-9471  

G2299471200

1R12-504 

8502 

SAF-HOLLAND 90557146
SAF-HOLLAND 90557182
SAF-HOLLAND 90557177

9 10-17.5 P 502 (BK), 69648 (BK), 
64409 (NB)



Replaces

Order Number

Cross Section View Top View / Bottom View

Replaces

Order Number

Cross Section View Top View / Bottom View

Replaces

Order Number

Cross Section View Top View / Bottom View

110 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

ll
in

g
 L

o
b

e
R

o
ll
in

g
 L

o
b

e

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

9 10-17.5

9312285   

W01-358-9501  

G2299501200

1R12-552 1R12-485

8572 

SAF-HOLLAND 90557212
SAF-HOLLAND 90557146
SAF-HOLLAND 90557177
SAF-HOLLAND 90557182
SAF-HOLLAND 90557214

9 10-17.5 P 572 (BK), 69662 (BK), 
64416 (NB)

9 10-17.5

9308128   

W01-358-9472  

G2299472200

N/A 

8467 

Navistar/Fleetrite 2027297C1
SAF-HOLLAND 90557181
SAF-HOLLAND 90557147
SAF-HOLLAND 90557178

9 10-17.5 P 467 (BK), 69649 (BK), 
64406 (NB)

9 10-17.5

9306248   

W01-358-9473  

G2299473200

1R12-586 

8445 

SAF-HOLLAND 90557152
SAF-HOLLAND 90557179
SAF-HOLLAND 90557215

9 10-17.5 P 445 (BK), 69650 (BK), 
64403 (NB)



111Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Replaces

Order Number

Cross Section View Top View / Bottom View

Replaces

Order Number

Cross Section View Top View / Bottom View

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

llin
g

 Lo
b

e

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

9 10-17.5

9312285   

W01-358-9504  

G2299504200

1R12-484 1R12-486

8574 

SAF-HOLLAND 90557216

9 10-17.5 P 574 (BK), 69654 (BK), 
64418 (NB)

9 10-17.5

9308128   

W01-358-9902  

G2299902200

N/A 

8426 

SAF-HOLLAND 90557138

9 10-17.5 P 426, 64398 
Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

9 10-17.5

9308128   

W01-358-9921  

G2299921200

1R12-502 

8443 

SAF-HOLLAND 90557117
Watson & Chalin AS-0090

9 10-17.5 P 443, 64402 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

112 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

ll
in

g
 L

o
b

e
R

o
ll
in

g
 L

o
b

e

9 10-17.5

9312284   

W01-358-9923  

G2299923200

1R12-481 

8429 

SAF-HOLLAND 90557118

9 10-17.5 P 429, 64278 

9 10-17.5

9312284   

W01-358-9935  

G2299935200

1R12-532 

8548 

SAF-HOLLAND 90557157
SAF-HOLLAND 90557301

9 10-17.5 P 548, 64412 

9 10-17.5

9306248   

W01-358-9922  

G2299922200

1R12-498 

8428 

SAF-HOLLAND 90557119

9 10-17.5 P 428, 64399 
Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.



113Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

llin
g

 Lo
b

e

9 10-17.5

9308128   

W01-358-9936  

G2299936200

1R12-499 

8454 

SAF-HOLLAND 90557156
SAF-HOLLAND 90557300

9 10-17.5 P 454, 64405 

9 10-17.5

9312284   

W01-358-9942  

G2299942200

N/A 

8430 

SAF-HOLLAND 90557142

9 10-17.5 P 430, 64400 

9 10-17.5

9306248   

W01-358-9943  

N/A 

8475 

SAF-HOLLAND 90557143

9 10-17.5 P 475, 64407 

G2299943200



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

114 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

ll
in

g
 L

o
b

e
R

o
ll
in

g
 L

o
b

e

9 10-17.5

9311400   

W01-358-9948  

G2299948400

N/A 

8535 

SAF-HOLLAND 90557227

9 10-17.5 A 535, 64411 

9 10-17.5

9308660   

W01-358-9966  

G2299966200

N/A 

N/A 

Reyco 20124-02
Reyco 20124-01K

9 10-17.5 P 731 (BK), 64668 

9 10-17.5

9308128   

N/A  

G2299947200

N/A 

8452 

Reyco 20142-01
Reyco 20142-01K

9 10-17.5 P 452, 64404 



115Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

llin
g

 Lo
b

e

9 10-17.5

9305199   

W01-358-9972  

G2299972200

N/A 

8023 

SAF-HOLLAND 90557302

9 10-17.5 P 023, 68158 

9 10-17.5

9312845   

W01-358-9974  

G2299974400

N/A 

8930 

SAF-HOLLAND 90557332

9 10-17.5 A 930, 67586 

9 10-17.5

9309183   

N/A  

1R12-494 

N/A 

Cush C0079

9 10-17.5 A 802, 64762 

G229A802400



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

116 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

ll
in

g
 L

o
b

e
R

o
ll
in

g
 L

o
b

e

9 10-17.5

9308663   

N/A  

G229P733200

N/A 

N/A 

Reyco 12884-01

9 10-17.5 P 733, 64670 

9 10-17.5

9308660   

N/A  

G229P793200

N/A 

N/A 

Link 1103 0509

9 10-17.5 P 793, 64756 

9 10-17.5

9308244   

N/A  

G229P807200

N/A 

N/A 

SAF-HOLLAND 90557316

9 10-17.5 P 807 (BK), 64767 



117Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Replaces

Order Number

Cross Section View Top View / Bottom View

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

llin
g

 Lo
b

e

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

9 10B-17.5

9311400   

W01-358-9275  

G2299275400

1R13-117 

8323 

Loadguard SC2464
Ridewell 1003589275C

9 10B-17.5 A 323, 64371 

9 10B-17.5

9308245   

W01-358-9491  

G2299491200

1R12-373 

8554 

SAF-HOLLAND 90757206

9 10B-17.5 P 554 (BK), 69652 (BK), 
64374 (NB)

9 10-18.5

9308660   

W01-358-9297  

G2299297200

1R12-402 

8520 

Hendrickson 50898-1
Hendrickson 50898-2

9 10-18.5 P 520, 64410 
Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.



Replaces

Order Number

Cross Section View Top View / Bottom View

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

118 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

ll
in

g
 L

o
b

e
R

o
ll
in

g
 L

o
b

e

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

9 10-18.5

9308663   

W01-358-9371  

G2299371200

1S12-244 1R12-401

8521 

Navistar/Fleetrite 1670073C-1
Navistar/Fleetrite 1686386C-1
Navistar/Fleetrite 2027911C-1
Navistar/Fleetrite 1670043C1

9 10-18.5 P 521 (BK), 69646 (BK), 
64290 (NB)

9 10-18.5

   

N/A  

G2299372200

N/A 

N/A 

Hendrickson 58520-2
Hendrickson 58654-2
Volvo 8083871

9 10-18.5 P 095 (BK), 68612 

9 10-18.5

9308660   

W01-358-9373  

G2299373200

1R12-403 

8519 

9 10-18.5 P 519 (BK), 64265 



119Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Replaces

Order Number

Cross Section View Top View / Bottom View

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

llin
g

 Lo
b

e

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

9 10-18.5

9308660   

W01-358-9647  

G2299647200

N/A 

8550 

9 10-18.5 P 550 (BK), 69659 (BK), 
64413 (NB)

9 10-18.5

9308660   

W01-358-9654  

G2299654200

N/A 

N/A 

Hendrickson 65032-2

9 10-18.5 P 097, 68614 

9 10-18.5

9308660   

W01-358-9656  

G2299656200

N/A 

N/A 

Hendrickson 64651-2
Mack 57QL53M

9 10-18.5 P 096, 68613 



Replaces

Order Number

Cross Section View Top View / Bottom View

Replaces

Order Number

Cross Section View Top View / Bottom View

Replaces

Order Number

Cross Section View Top View / Bottom View

120 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

ll
in

g
 L

o
b

e
R

o
ll
in

g
 L

o
b

e

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

9 10-18.5

9308660   

W01-358-9663  

G2299663200

N/A 

N/A 

Hendrickson 60271-2

9 10-18.5 P 939 (BK), 67573 

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

9 10-18.5

9308660   

N/A  

G229P111200

N/A 

N/A 

Hendrickson 65183-002

9 10-18.5 P 111, 69801 

9 10-19

9312284   

W01-358-8842  

G2298842200

N/A 

8765 

Link 1103-0058

9 10-19 P 765, 64711 



121Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

llin
g

 Lo
b

e

9 10-19

9312284   

W01-358-8852  

G2298852200

1R12-568 

8472 

Peterbilt 03-07887

9 10-19 P 472, 64339 

9 10-19

9308133   

W01-358-8855  

G2298855200

N/A 

8552 

Reyco 23521-01

9 10-19 P 552, 64340 

9 10-19

9312284   

W01-358-8856  

G2298856200

N/A 

8553 

Reyco 23521-02

9 10-19 P 553, 64341 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

122 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

ll
in

g
 L

o
b

e
R

o
ll
in

g
 L

o
b

e

9 10-19

9308765   

W01-358-8864  

G2298864200

N/A 

N/A 

Peterbilt 03-08716

9 10-19 P 898, 66666 

9 10-19

9308129   

W01-358-9101  

G2299101200

1R12-103 

8315 

Navistar/Fleetrite 554768C1
Reyco 12883-01
Ridewell S-5828-C
Ridewell S-740-C
Ridewell 1003589101C
Truckstell 63647
Volvo 85101149
Watson & Chalin AS-0040
And More

9 10-19 P 315, 64279 

9 10-19

9308129   

W01-358-9130  

G2299130200

N/A 

8321 

Dayton 352-9130
Fruehauf UCE-9393-1
Fruehauf UCE-9393-3
Hendrickson S-13161
Loadguard SC2102

9 10-19 P 321, 64280 



123Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

llin
g

 Lo
b

e

9 10-19

9308133   

W01-358-9192  

G2299192200

1R12-167 

8326 

Hendrickson S-6195
Hendrickson NA 1817
Loadguard SC2120
Navistar/Fleetrite 1681738C1
Navistar/Fleetrite 1681740C1
SAF-HOLLAND 90557108
Watson & Chalin AS-0038
Watson & Chalin AS-0046
And More

9 10-19 P 326, 64323 

9 10-19

9308133   

W01-358-9203  

G2299203200

1R12-395 

8355 

Dayton 352-9203
Hendrickson S-2694
Taurus AS509-9203

9 10-19 P 355, 64324 

9 10-19

9308129   

W01-358-9238  

G2299238200

1R12-145 

8356 

Dayton 352-9238
Hendrickson S-5060
Loadguard SC2109
Navistar/Fleetrite 1681737C1
Prevost 63-0178
Taurus AS509-9238

9 10-19 P 356, 64325 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

124 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

ll
in

g
 L

o
b

e
R

o
ll
in

g
 L

o
b

e

9 10-19

9308129   

W01-358-9240  

G2299240200

1R12-275 

8357 

Hendrickson S-3842
Hendrickson S-10352

9 10-19 P 357, 64326 

9 10-19

9312284   

W01-358-9243  

G229P384200

1R12-480 

8384 

SAF-HOLLAND 90557112
Watson & Chalin AS-0061

9 10-19 P 384, 64329 

9 10-19

9308133   

W01-358-9245  

G2299245200

1R12-446 

8390 

Loadguard SC2134
Ridewell 1003589245C

9 10-19 P 390, 64331 



125Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

llin
g

 Lo
b

e

9 10-19

9308998   

W01-358-9265  

G2299265200

1R12-375 

8435 

Hendrickson C20413
Hendrickson S-20124
Loadguard SC2759
Volvo 85101155

9 10-19 P 435, 64288 

9 10-19

9306248   

W01-358-9346  

G2299346200

1R12-439 

8470 

SAF-HOLLAND 90557126
Watson & Chalin AS-0056

9 10-19 P 470, 64338 

9 10-19

9308129   

W01-358-9348  

G2299348200

1R12-357 

8439 

Loadguard SC2752
Taurus AS509-9348

9 10-19 P 439, 65356 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

126 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

ll
in

g
 L

o
b

e
R

o
ll
in

g
 L

o
b

e

9 10-19

9308129   

W01-358-9349  

G2299349200

1R12-195 

8438 

Hendrickson S-8988
Loadguard SC2763
Reyco 17636-01

9 10-19 P 438, 64335 

9 10-19

9308129   

W01-358-9350  

G2299350200

N/A 

8359 

9 10-19 P 359, 64328 

9 10-19

9305198   

W01-358-9394  

G2299394200

1R12-279 

8383 

Fruehauf UCD-9393-2
Suspensions, Inc. 200041

9 10-19 P 383, 64281 



127Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

llin
g

 Lo
b

e

9 10-19

9305198   

W01-358-9394 W01-358-9241 

G229A358400

1R12-281 

8358AP 

Fruehauf UCD-9393-2
Suspensions, Inc. 200041

9 10-19 A 358, 64327 

9 10-19

9305199   

N/A  

G229A552400

1R12-613 

N/A 

Tuthill 704671-01

9 10-19 A 552, 64761 

9 10-19

9305199   

N/A  

1R12-467 

AS-8830 

Ridewell 1000001

9 10-19 A 830, 65807 

G229A830400



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

128 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

ll
in

g
 L

o
b

e
R

o
ll
in

g
 L

o
b

e

9 10-19

9305198   

N/A  

G229A946400

1R12-261 1R12-142

N/A 

International 1681579C1
Loadguard SC2108
R&S Truck 10907
Suspensions, Inc. 200041
Taurus AS509-9241

9 10-19 A 946, 67480 

9 10-19

9308129   

W01-358-9394  

G229P358200

1R12-281 

8358PP 

Fruehauf UCD-9393-2

9 10-19 P 358, 64615 

9 10-19

9308133   

N/A  

G229P762200

1R12-534 

8762 

Watson & Chalin AS-0061-1G

9 10-19 P 762, 64708 



129Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

llin
g

 Lo
b

e

9 10-19

9312284   

N/A  

G229P809200

N/A 

N/A 

Link 1103 0061

9 10-19 P 809, 65396 

9 10-19

9306248   

N/A  

G229P796200

N/A 

N/A 

Watson & Chalin AS-0195

9 10-19 P 796, 65382 

9 10-19

9308133   

N/A  

G229P814200

N/A 

8814 

Watson & Chalin AS-0204

9 10-19 P 814, 65520 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

130 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

ll
in

g
 L

o
b

e
R

o
ll
in

g
 L

o
b

e

9 10-19

9308129   

N/A  

G229P946200

1R12-261 1R12-142

N/A 

International 1681579C1
Loadguard SC2108
R&S Truck 10907
Suspensions, Inc. 200041
Taurus AS509-9241

9 10-19 P 946, 67479 

9 10-19

9308129   

N/A  

G229P973200

1R12-208 

8973 

Hendrickson C-10443

9 10-19 P 973, 67703 

9 10-19.5

9305199   

N/A  

1R12-467 

N/A 

Cush C0060

9 10-19.5 A 801, 65387 

G229A801400



131Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

llin
g

 Lo
b

e

9 10BP-20

9312284   

W01-358-9646  

G2299646200

N/A 

8564 

Hendrickson 23611

9 10BP-20 P 738, 64694 

9 10D-21

9311399   

W01-358-9250  

G2299250400

1R13-115 

8324 

Loadguard SC2049
Ridewell 1003589250C
Watson & Chalin AS-0096

9 10D-21 A 324, 64375 

9 10D-21

9311399   

W01-358-9252  

G2299252400

1R13-116 

8363 

Ridewell 1003589252C

9 10D-21 A 363, 64376 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

132 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

ll
in

g
 L

o
b

e
R

o
ll
in

g
 L

o
b

e

9 10D-21

9311399   

W01-358-9269  

G2299269400

N/A 

8555 

Oshkosh RX-08-03

9 10D-21 A 555, 64377 

9 10-21

9308129   

W01-358-9320  

G2299320200

1R12-363 

8360 

Loadguard SC2774
SAF-HOLLAND 90557099
Silent Drive AS-9320

9 10-21 P 360, 64382 

9 10-21

9305198   

W01-358-9321  

G2299321400

1R12-335 

8361 

Dayton 352-934
Granning 7640
Hendrickson B-14249
Loadguard SC2120
Volvo 85101160
Watson & Chalin AS-0036-G

9 10-21 A 361, 64715 



133Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

llin
g

 Lo
b

e

9 10-21

9308129   

W01-358-9338  

G2299338200

N/A 

8511 

9 10-21 P 511, 64385 

9 10-21

9308129   

W01-358-9367  

G2299367200

1R12-256 

8505PP 

Hendrickson B-14249
Hendrickson B-4375
Hendrickson 003319
Loadguard SC2120
Suspensions, Inc. 201335
Watson & Chalin AS-0104

9 10-21 P 505, 64384 

9 10-21

9305198   

W01-358-9367  

G2299367400

1R12-256 

8505AP 

9 10-21 A 505, 64716 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

134 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

ll
in

g
 L

o
b

e
R

o
ll
in

g
 L

o
b

e

9 10-21

9306248   

W01-358-9370  

G2299370200

1R12-580 

8448 

Watson & Chalin AS-0057

9 10-21 P 448, 64383 

9 10-21

9308129   

N/A  

G229P817200

1R12-609 

N/A 

Tuthill 704671-02

9 10-21 P 817, 65649 

9 10BP-22

9306248   

W01-358-9645  

G2299645200

N/A 

8565 

Hendrickson S-23612

9 10BP-22 P 739, 64695 



135Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

llin
g

 Lo
b

e

10 10-15

9310041   

W01-358-8710  

G2298710300

1R13-124 

8711 

Hendrickson S22046
Hendrickson C21624

10 10-15 S 711, 64635 

10 10-15

9311827   

W01-358-8723  

G2298723300

1R13-097 

N/A 

Ridewell 1003588752C
Ridewell 1001R13-087
Ridewell 1001R13-097

10 10-15 S 962, 67600 

10 10-15

9309758   

W01-358-8740  

G2298740300

N/A 

8773 

Reyco 23433-01

10 10-15 S 773, 64725 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

136 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

ll
in

g
 L

o
b

e
R

o
ll
in

g
 L

o
b

e

10 10-15

9310704   

W01-358-8751  

G2298751200

1R13-159 

8453 

Hendrickson 20900

10 10-15 P 453, 64624 

10 10-15

9309758   

W01-358-8752  

G2298752300

N/A 

8518 

Ridewell 1003588752C
Suspensions, Inc. 201642
Watson & Chalin AS-0166G

10 10-15 S 518, 64396 

10 10-15

9309758   

W01-358-8753  

G2298753300

N/A 

8713 

Ridewell 1003588753C
Spring Valley AS-8713
Watson & Chalin AS-0098

10 10-15 S 713, 64639 



137Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

llin
g

 Lo
b

e

10 10-15

9310041   

W01-358-8755  

G2298755300

1R13-124 

8522 

Hendrickson S-22045
Hendrickson S-21623

10 10-15 S 522, 64397 

10 10-15

9311827   

W01-358-8782  

G2298782300

1R13-109 

8871 

Ridewell 1001R13109G

10 10-15 S 871, 66340 

10 10-16

9309758   

W01-358-8637  

G2298637300

1R13-155 

8724 

Watson & Chalin AS-0107G

10 10-16 S 724, 64649 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

138 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

ll
in

g
 L

o
b

e
R

o
ll
in

g
 L

o
b

e

10 10-16

9310040   

W01-358-8708  

G2298708300

1R13-177 

8526 

Hendrickson S-21966

10 10-16 S 526, 64638 

10 10-16

9310040   

W01-358-8713  

G2298713300

1R13-176 

8533 

Hendrickson S-22948

10 10-16 S 533, 64636 

10 10-16.5

9312770   

N/A  

G229S783300

1R13-039 

N/A 

Watson & Chalin AS-0013

10 10-16.5 S 783, 64746 



139Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

llin
g

 Lo
b

e

10 10-21

9306248   

W01-358-8744  

G2298744200

N/A 

N/A 

SAF-HOLLAND 90557243

10 10-21 P 964, 67624 

10 10-21

9312284   

W01-358-8746  

G2298746200

N/A 

N/A 

SAF-HOLLAND 90557235

10 10-21 P 774, 64728 

10 10-21

9312284   

W01-358-8748  

G2298748200

1R13-152 

8570 

SAF-HOLLAND 90557167

10 10-21 P 570, 64252 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

140 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

ll
in

g
 L

o
b

e
R

o
ll
in

g
 L

o
b

e

10 10-21

9306248   

W01-358-8749  

G2298749200

1R13-153 

8486 

SAF-HOLLAND 90557168
Watson & Chalin AS-0175

10 10-21 P 486, 64419 

10 10-21

9310041   

W01-358-9580  

G2299580300

1R13-118 

8434 

Hendrickson S-20127
Loadguard SC2761

10 10-21 S 434, 64394 

10 10-21

9310041   

W01-358-9581  

G2299581300

N/A 

8015 

Hendrickson S20414

10 10-21 S 015, 67951 



141Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

llin
g

 Lo
b

e

10 10-21

9308129   

N/A  

G229P949200

N/A 

8949 

SAF-HOLLAND 90557370
SAF-HOLLAND 90557168

10 10-21 P 949, 67507 

10 10.5AV-12

9312382   

W01-358-8729  

G2298729200

1R13-130 

8513 

Arvin Meritor 202796
Suspensions, Inc. 202796

10 10.5AV-12 P 513, 64420 

10 10.5-15

9310704   

W01-358-8709  

G2298709200

1R13-159 

8460 

Hendrickson S-20900
Hendrickson S-21800

10 10.5-15 P 460, 64645 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

142 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

ll
in

g
 L

o
b

e
R

o
ll
in

g
 L

o
b

e

11 10.5-15

9305216   

W01-358-8088  

G2298088400

N/A 

8419 

Ridewell 1003588088C

11 10.5-15 A 419, 64425 

11 10.5-15

9309528   

W01-358-9200  

G2299200400

1R14-038 

8415 

Dayton 352-9200
Hendrickson S-3839
Loadguard SC2116
Navistar/Fleetrite 1681746C1
Ridewell 1003589200C
Suspensions, Inc. 200458
Watson & Chalin AS-0082

11 10.5-15 A 415, 64253 

11 10.5-15

9309528   

W01-358-9204  

G2299204400

N/A 

8506 

11 10.5-15 A 506, 64429 



143Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

llin
g

 Lo
b

e

11 10.5-15

9309528   

W01-358-9215  

G2299215400

1R14-037 

8414 

Dayton 352-9215
Hendrickson S-3648
Loadguard SC2047
Navistar/Fleetrite 554781C1

11 10.5-15 A 414, 64424 

11 10.5-15

9305216   

W01-358-9216  

G2299216400

N/A 

8421 

11 10.5-15 A 421, 64427 

11 10.5-15

9309528   

W01-358-9218  

G2299218400

1R13-120 

8422 

Loadguard SC2782
Ridewell 1003589218C
SAF-HOLLAND 90557209
Suspensions, Inc. 201222
Watson & Chalin AS-0073

11 10.5-15 A 422, 64428 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

144 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

ll
in

g
 L

o
b

e
R

o
ll
in

g
 L

o
b

e

11 10.5-15

9305216   

W01-358-9277  

G2299277400

N/A 

8420 

Reyco 24556-01
Ridewell 1003589277C

11 10.5-15 A 420, 64426 

11 10.5-15

9309528   

N/A  

G229A751400

N/A 

8751 

Raydan 211-00-027

11 10.5-15 A 751, 64689 

11 10.5A-16

9310179   

W01-358-8091  

G2298091200

1R14-171 

8523 

Hendrickson C-20901

11 10.5A-16 P 523, 64421 



145Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

llin
g

 Lo
b

e

11 10.5A-16

9312908   

N/A  

G229P934200

N/A 

8934 

N/A

11 10.5A-16 P 934, 67447 

11 10.5C-16

9309528   

W01-358-8050  

G2298050400

1R14-039 

8320 

Dayton 352-8050
Hendrickson S-4771
Hendrickson B-12514-013
Loadguard SC2052
Navistar/Fleetrite 1685174C1
Reyco 23631-01
Watson & Chalin AS-0039

11 10.5C-16 A 320, 64254 

11 10.5C-16

9309528   

W01-358-8051  

G2298051400

N/A 

8385 

Ridewell 1003588051C

11 10.5C-16 A 385, 64359 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

146 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

ll
in

g
 L

o
b

e
R

o
ll
in

g
 L

o
b

e

11 10.5C-16

9309528   

W01-358-8052  

G2298052400

1R14-042 

8378 

Hendrickson S-12514-012
Loadguard SC2121
MCI 2992101C1
Navistar/Fleetrite 1681747C1
SAF-HOLLAND 90557293
Watson & Chalin AS-0078

11 10.5C-16 A 378, 64357 

11 10.5C-16

9309528   

W01-358-8053  

G2298053400

1R14-147 

8380 

MCI 2992101C1
SAF-HOLLAND 90557098

11 10.5C-16 A 380, 64358 

11 10.5C-16

9309528   

N/A  

G229A101400

1R14-094 

N/A 

Gillig 53-20415-0001

11 10.5C-16 A 101, 68618 



147Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

llin
g

 Lo
b

e

11 10.5C-16

9309528   

N/A  

G229A706400

1R14-198 

N/A 

Watson & Chalin AS-0180

11 10.5C-16 A 706, 64628 

11 10.5C-16

9309528   

N/A  

G229A729400

1R14-155 

N/A 

Watson & Chalin AS-0186

11 10.5C-16 A 729, 64660 

11 10.5C-16

9309528   

N/A  

G229A834400

N/A 

N/A 

Silent Drive AS 65906

11 10.5C-16 A 834, 65906 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

148 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

ll
in

g
 L

o
b

e
R

o
ll
in

g
 L

o
b

e

11 10.5F-17

9310179   

W01-358-8774  

G2298774200

1R14-172 

8745 

Hendrickson C-25873
Watson & Chalin AS-0159G

11 10.5F-17 P 745, 65593 

11 10.5F-17

9305216   

W01-358-8778  

G2298778400

1R14-130 

8507 

SAF-HOLLAND 90557164

11 10.5-17 A 507, 64350 

11 10.5F-17

9305216   

W01-358-9116  

G2299116400

N/A 

8556 

11 10.5-17 A 556, 64351 



149Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

llin
g

 Lo
b

e

11 10.5F-17

9305216   

W01-358-9121  

G2299121400

1R13-039 

8317 

Hendrickson S-13160
Loadguard SC2040
Navistar/Fleetrite 554773C1
R&S Truck 1090023
Reyco 12882-02
Ridewell 100358912C
Taurus AS621-9121
Watson & Chalin AS-0013
And More

11 10.5-17 A 317, 64272 

11 10.5F-17

9305216   

W01-358-9144  

G2299144400

1R14-160 

8377 

SAF-HOLLAND 90557155
SAF-HOLLAND 90557323

11 10.5-17 A 377, 64347 

11 10.5F-17

9305216   

W01-358-9148  

G2299148400

1R14-026 

8364 

Dayton 352-9148
Hendrickson S-13053
Loadguard SC2042
Loadguard SC2113
Navistar/Fleetrite 1681743C1
Navistar/Fleetrite 554778C1
Peerless 0550-00070
Taurus AS621-9148

11 10.5-17 A 364, 64343 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

150 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

ll
in

g
 L

o
b

e
R

o
ll
in

g
 L

o
b

e

11 10.5F-17

9305216   

W01-358-9149  

G2299149400

1R14-018 

8365 

Dayton 352-9149
Gillig 53-13188
Hendrickson S-13045
Loadguard SC2043
Loadguard SC2112
Navistar/Fleetrite 554776C1
Navistar/Fleetrite 1681741C1
Peerless 0550-00010
Taurus AS621-9149

11 10.5-17 A 365, 64344 

11 10.5F-17

9305216   

W01-358-9164  

G2299164400

1R14-159 

8405 

R&S Truck 1090326

11 10.5-17 A 405, 64349 

11 10.5F-17

9305216   

W01-358-9177 W01-358-9179 

G2299177400

1R14-028 

8316 

Dayton 352-9177
Hendrickson S-2065
Loadguard SC2046
Navistar/Fleetrite 554779C1
R&S Truck 1090216
Ridewell 1003589177C
SAF-HOLLAND 90557003
Watson & Chalin AS-0010

11 10.5-17 A 316, 64342 



151Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

llin
g

 Lo
b

e

11 10.5F-17

9305215   

W01-358-9961  

G2299961400

1R14-115 

8367 

Loadguard SC2778
Ridewell 1003589961C
Taurus AS621-9961

11 10.5-17 A 367, 64346 

11 10.5F-17

9305216   

W01-358-9221  

G2299221400

N/A 

8388 

Load Air P60733

11 10.5-17 A 388, 64348 

11 10.5F-17.5

9310179   

N/A  

G229P800200

N/A 

N/A 

Watson & Chalin AS-0144

11 10.5F-17.5 P 800, 65218 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

152 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

ll
in

g
 L

o
b

e
R

o
ll
in

g
 L

o
b

e

11 10.5F-17.5

9310179   

N/A  

G229P829200

N/A 

N/A 

Watson & Chalin AS-0159-1C

11 10.5F-17.5 P 829, 65796 

11 10.5B-18

9310179   

W01-358-8093  

G2298093200

N/A 

8743 

Hendrickson C-23748
Hendrickson S-24443

11 10.5B-18 P 743, 65368 

11 10.5-19

9305216   

W01-358-8779  

G2298779400

N/A 

8508 

SAF-HOLLAND 90557163

11 10.5-19 A 508, 64393 



153Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

llin
g

 Lo
b

e

11 10.5-19

9305215   

W01-358-8781  

G2298781400

N/A 

8557 

SAF-HOLLAND 90557205

11 10.5-19 A 557, 65360 

11 10.5-19

9305216   

W01-358-8780  

G2298780400

N/A 

8509 

SAF-HOLLAND 90557162

11 10.5-19 A 509, 64289 

11 10.5-19

9305216   

W01-358-9134  

G2299134400

1R14-137 

8431 

SAF-HOLLAND 90557125

11 10.5-19 A 431, 64391 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

154 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

ll
in

g
 L

o
b

e
R

o
ll
in

g
 L

o
b

e

11 10.5-19

9305216   

W01-358-9138  

G2299138400

N/A 

8432 

SAF-HOLLAND 90557111

11 10.5-19 A 432, 64392 

11 10.5-19

9305216   

N/A  

G229A960400

1R14-151 

N/A 

11 10.5-19 A 960, 67547 

11 10.5-21

9305215   

W01-358-8764  

G2298764400

N/A 

8025 

SAF-HOLLAND 90557260

11 10.5-21 A 025, 68010 



155Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

llin
g

 Lo
b

e

11 10.5-21

9305215   

W01-358-8796  

G2298796400

N/A 

N/A 

SAF-HOLLAND 90557283

11 10.5-21 A 094, 68611 

11 10.5-21

9305215   

W01-358-9122  

G2298792400

1R14-045 

8313 

Hendrickson S-12514-010
Hendrickson S-12514-008
Hendrickson S-12437
Hendrickson S-3830
Hendrickson 36514-2
Hendrickson 36514-8
Ridewell 1003589122C
Watson & Chalin AS-0023
And More

11 10.5-21 A 313, 64273 

11 10.5-21

9305215   

W01-358-9156  

G2299156400

1R14-019 

8370 

Hendrickson S-7128
Loadguard SC2044
Navistar/Fleetrite 554777C1
Navistar/Fleetrite 1681742C1
Peerless 0550-00080
Taurus AS622-9156

11 10.5-21 A 370, 64354 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

156 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

ll
in

g
 L

o
b

e
R

o
ll
in

g
 L

o
b

e

11 10.5-21

9305215   

W01-358-9158  

G2299158400

1R14-030 

8318 

Dayton 352-9158
Hendrickson S-12514-004
Hendrickson S-12514-011
Hendrickson S-2063
Navistar/Fleetrite 554780C1
Navistar/Fleetrite 1681745C1
Ridewell 1003589158C
Taurus AS622-9158
And More

11 10.5-21 A 318, 64352 

11 10.5-21

9305215   

W01-358-9199  

G2299199400

N/A 

8558 

11 10.5-21 A 558, 64356 

11 10.5-21

9305215   

N/A  

G229A026400

1R13-038 

8026 

Hendrickson S-3830
Loadguard SC2041
Navistar/Fleetrite 554772C1
Reyco 12883-02
Ridewell S-3053-C
SAF-HOLLAND 90557071
SAF-HOLLAND 90557076
SAF-HOLLAND 90557077
SAF-HOLLAND 90557185

11 10.5-21 A 026, 68011 



157Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

llin
g

 Lo
b

e

11 10.5-21

9305215   

N/A  

G229A855400

N/A 

8855 

Watson & Chalin AS-0220

11 10.5-21 A 855, 66084 

11 10.5-21

9305215   

N/A  

G229A062400

1R14-154 

N/A 

Watson & Chalin AS-0023-1G

11 10.5-21 A 062, 68589 

11 10.5-21

9305215   

N/A  

G229A965400

1R14-201 

N/A 

11 10.5-21 A 965, 67625 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

158 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

ll
in

g
 L

o
b

e
R

o
ll
in

g
 L

o
b

e

11 10.5-22

9305215   

W01-358-5503  

G2295503400

1R14-174 

8530 

Navistar/Fleetrite 3541732C1
SAF-HOLLAND 90557200
Watson & Chalin AS-0047

11 10.5-22 A 530, 64422 

11 10.5-22

9310291   

W01-358-5505  

G2295505300

1R14-113 

N/A 

SAF-HOLLAND 90557103

11 10.5-22 S 750, 64688 

11 10.5-22

9305215   

W01-358-5511  

G2295511400

N/A 

8931 

Hendrickson S-22173
SAF-HOLLAND 90557102

11 10.5-22 A 931, 68159 



159Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

R
o

llin
g

 Lo
b

e

11 10.5-22

9305215   

N/A  

G229A856400

N/A 

8856 

Watson & Chalin AS-0221

11 10.5-22 A 856, 66085 

11 10.5-22

9305215   

N/A  

G229A752400

1R14-170 

8752 

Watson & Chalin AS-0047G

11 10.5-22 A 752, 64690 

11 10.5-24

9310291   

W01-358-9264  

G2299264300

1R14-127 

8712 

Hendrickson S-13122

11 10.5-24 S 712, 64637 



160 Air Springs  – Replacement Guide 2016

General and Hi-Temp Multi-Purpose Grease
Gold Line Quality Parts™ offers both General and Hi-Temp Multi-Purpose Grease. 
Depending on the size of your operation, there is a variety of sizes available. We offer a 
package of (10) 14 oz. grease cartridges, a 5 gal. pail, and a 16 gal. barrel. We also 
offer fifth wheel top plate grease in a display box filled with (50) 2.75 oz. packets. There 
are plenty of options available for both General and Hi-Temp Multi-Purpose Grease.

Call 800-876-3929
Canada 519-537-3494

www.goldlinequalityparts.com



Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

161Air Springs  – Replacement Guide 2016

C
o

n
v
o

lu
ted

C
o

n
v
o

lu
ted

Convoluted air springs



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

162 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

C
o

n
v
o

lu
te

d

FD 110-17A

   

W01-358-7659  

G2297659500

2B7-548 

4775 

Hendrickson 005079

FD 110-17A 775, 67667 

FD 110-17A

   

N/A  

G229A804500

N/A 

4804 

Hendrickson 005079

FD 110-17A 804, 68160 

FD 110-17A

   

W01-358-7505  

G2297505500

N/A 

N/A 

Hendrickson 001347

FD 110-17A 789, 67553 



163Air Springs  – Replacement Guide 2016

C
o

n
v
o

lu
ted

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

FD 120-20

   

N/A  

G2290736500

N/A 

N/A 

FD 120-20 736, 64733 

FD 120-20

   

N/A  

G2290767500

N/A 

N/A 

FD 120-20 767, 65640 

FD 120-20

   

W01-358-7325  

G2297325500

2B8-550 

4509 

American Carrier 8003-006
Hendrickson S-14395
Loadguard SC2751
Mack 227QS-32
Mack 57QK1113
Sauer P10-754
Watson & Chalin AS-0030

FD 120-20 509, 64601 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

164 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

C
o

n
v
o

lu
te

d

FD 120-20

   

W21-760-7689  

G2290764500

N/A 

N/A 

FD 120-20 764, 66093 

FD 120-20

   

W21-358-7689  

G2297689500

N/A 

N/A 

Lippert 156622

FD 120-20 795, 66661 

FD 120-20

   

W01-358-7705  

G2297705500

N/A 

4715 

Watson & Chalin AS-0068

FD 120-20 715, 64666 



165Air Springs  – Replacement Guide 2016

C
o

n
v
o

lu
ted

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

FD 200-19

   

W01-358-6884  

G2296884500

N/A 

4724 

Link 1103-0019

FD 200-19 724, 64712 

FD 200-19

   

W01-358-6890  

G2296890500

N/A 

4539 

SAF-HOLLAND 90557228

FD 200-19 539, 64520 

FD 200-19

   

W01-358-6897  

G2296897500

2B9-229 

4505 

Watson & Chalin AS-0058

FD 200-19 505, 64517 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

166 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

C
o

n
v
o

lu
te

d

FD 200-19

   

W01-358-6900  

G2296900500

N/A 

4319 

Ridewell 1003586900C

FD 200-19 319, 64271 

FD 200-19

   

W01-358-6902  

G2296902500

2B9-239 

4310 

Granning 4848
Hendrickson S-2630
Loadguard SC2010
Navistar/Fleetrite 554784C1
R&S Truck 1027505
Ridewell 1003586902C
Suspensions, Inc. 2000-42
Watson & Chalin AS-0002

FD 200-19 310, 64509 

FD 200-19

   

W01-358-6905  

G2296905500

2B9-206 

4315 

Dayton 354-6905
Hendrickson S-5270
Hendrickson 45843-1
Navistar/Fleetrite 1685175C1
Ridewell 1003586905C
Volvo 85101146
Watson & Chalin AS-0020
And More

FD 200-19 315, 64510 



167Air Springs  – Replacement Guide 2016

C
o

n
v
o

lu
ted

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

FD 200-19

   

W01-358-6908  

G2296908500

2B9-210 

4362 

Loadguard SC2766
Warren 8030120
Watson & Chalin AS-0035

FD 200-19 362, 64511 

FD 200-19

   

W01-358-6910  

G2296910500

2B9-200 

4320 

Granning 1371
Granning 2726
Hendrickson S-8768
Hendrickson 45843-3
Navistar/Fleetrite 554783C1
Prevost 63-0173
Ridewell 1003586910C
Watson & Chalin AS-0001
And More

FD 200-19 320, 64267 

FD 200-19

   

W01-358-6926  

G2296926500

2B9-288 

4504 

FD 200-19 504, 64516 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

168 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

C
o

n
v
o

lu
te

d

FD 200-19

   

W01-358-6932  

G2296932500

2B9-246 

4452 

Loadguard SC2046
Ridewell 1003586932C

FD 200-19 452, 64514 

FD 200-19

   

W01-358-6935 W01-358-6856 

G2296935500

2B9-201 

4499 

Granning 4848
Granning 702932-01
Hendrickson S-14318
Loadguard SC2010
Navistar/Fleetrite 554784C1
R&S Truck 1027505
Ridewell S-1728C
Sauer P50-733A
Suspensions, Inc. 200042

FD 200-19 499, 64515 

FD 200-19

   

W01-358-6940  

G2296940500

2B9-230 

4450 

Histeer 10305
Loadguard SC2035
Loadguard SC2762

FD 200-19 450, 64513 



169Air Springs  – Replacement Guide 2016

C
o

n
v
o

lu
ted

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

FD 200-19

   

W01-358-6941  

G2296941500

2B9-280 

4448 

Granning 7631
Histeer 10302
Link 1103-0002
Loadguard SC2124
Suspensions, Inc. 200118

FD 200-19 448, 64512 

FD 200-19

   

W01-358-6949  

G2296949500

N/A 

4506 

Load Air P-10872-A

FD 200-19 506, 64518 

FD 200-19

   

W01-358-7788  

G2297788500

2B9-245 

4510 

Watson & Chalin AS-0088

FD 200-19 510, 64519 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

170 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

C
o

n
v
o

lu
te

d

FD 200-19

   

W01-358-7795  

G2297795500

2B10-226 

4713 

Hendrickson B-14486
Hendrickson 3317

FD 200-19 713, 67705 

FD 200-22

   

W01-358-6883  

G2296883500

2B9-283 

4529 

Watson & Chalin AS-0092

FD 200-22 529, 64558 

FD 200-22

   

W01-358-6886  

G2296886500

2B9-229 

4706 

Reyco 701784-01
Watson & Chalin AS-0058-1F

FD 200-22 706, 64665 



171Air Springs  – Replacement Guide 2016

C
o

n
v
o

lu
ted

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

FD 200-22

   

W01-358-7897  

G2297897500

N/A 

4524 

Hendrickson 002878

FD 200-22 524, 64602 

FD 200-25

   

N/A  

G2290721500

N/A 

N/A 

Watson & Chalin AS-0111G

FD 200-25 721, 64622 

FD 200-25

W01-358-6393  

G2296393500

N/A 

N/A 

Monaco Coach 0180 7468

FD 200-25 717, 64702 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

172 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

C
o

n
v
o

lu
te

d

FD 200-25

   

W01-358-6944  

G2296844500

2B9-266 2B9-252

4454 

Granning 7639
Histeer 10307
Loadguard SC2124
Suspensions, Inc. 200118
Watson & Chalin AS-0115G

FD 200-25 454, 64554 

FD 200-25

   

W01-358-6927  

G2296927500

2B9-218 

4453 

Loadguard SC2072
Navistar/Fleetrite 1685176C1
Reyco 12906-01
Taurus AS218-6927

FD 200-25 453, 64553 

FD 200-25

   

W01-358-6943  

G2296943500

2B9-250 

4426 

Loadguard SC2122
SAF-HOLLAND 90557237
Spring Valley AS-4426
Suspensions, Inc. 200835
Watson & Chalin AS-0041

FD 200-25 426, 64549 

   



173Air Springs  – Replacement Guide 2016

C
o

n
v
o

lu
ted

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

FD 200-25

   

W01-358-6945  

G2296945500

2B9-253 

4427 

Loadguard SC2125
Ridewell 1003586945C

FD 200-25 427, 64550 

FD 200-25

   

W01-358-6946  

G2296946500

2B9-254 

4463 

Loadguard SC2126
Ridewell 1003586946C
Suspensions, Inc. 200180

FD 200-25 463, 64555 

FD 200-25

   

W01-358-6947  

G229694750

2B9-255 

4428 

Dayton 354-6947
Hendrickson S-8701
Loadguard SC2127
Ridewell 1003586947C

FD 200-25 428, 64551 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

174 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

C
o

n
v
o

lu
te

d

FD 200-25

   

W01-358-6948  

G2296948500

2B9-251 

4428 

Cush C0080
Loadguard SC2123
Ridewell 1003586948C
Spring Valley AS-4429
Watson & Chalin AS-0122G

FD 200-25 429, 64552 

FD 200-25A

   

N/A  

G2290797500

N/A 

N/A 

Hendrickson 009189

FD 200-25A 797, 67905 

FD 330-22

   

W01-358-7180  

G2297180500

2B12-425 

4363 

EZ Ride 8030190
Loadguard SC2075
Navistar/Fleetrite 1685179C1
Peerless 0550-00001
Ridewell 1003587180C
Taurus AS214-7180

FD 330-22 363, 64493 



175Air Springs  – Replacement Guide 2016

C
o

n
v
o

lu
ted

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

FD 330-22

   

W01-358-7184  

G2297184500

2B12-429 

N/A 

FD 330-22 780, 66300 

FD 330-22

   

W01-358-7344  

G2297344500

2B12-304 

4500 

Flexible 6-336-13
Flexible 6-336-5
Load Air P10-755C
Sauer P10-755C
Suspensions, Inc. 200620

FD 330-22 500, 64501 

FD 330-22

   

W01-358-7400  

G2297400500

2B12-309 

4313 

Freightliner 16-10769-000
Granning 2726
Hendrickson S-1013
Loadguard SC2020
Navistar/Fleetrite 554788C1
R&S Truck 1027519
Ridewell 1003587400C
Watson & Chalin AS-0003
And More

FD 330-22 313, 64270 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

176 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

C
o

n
v
o

lu
te

d

FD 330-22

   

W01-358-7401  

G2297401500

N/A 

4337 

Chevrolet 711954
Chevrolet 2076095
GMC 711954
GMC 2076095
Navistar/Fleetrite 554789C1
Taurus AS214-7401
Volvo 2076095
Watson & Chalin AS-0014

FD 330-22 337, 64490 

FD 330-22

   

W01-358-7403  

G2297403500

2B12-307 

4318 

Granning 2725
Hendrickson S-1159
Hendrickson S-2883
Hendrickson B-12514-001
Navistar/Fleetrite 554787C1
Ridewell 1003587403C
Ridewell S-4302C
Watson & Chalin AS-0007
And More

FD 330-22 318, 64488 

FD 330-22

   

W01-358-7405  

G2297405500

2B12-313 

4364 

Dayton 354-7405
Hutchens 10384-01
Loadguard SC2073
Mack 227QS-32
Mack 57QK1113
Navistar/Fleetrite 1685177C1
Suspensions, Inc. 200981
Taurus AS214-7405

FD 330-22 364, 64494 



177Air Springs  – Replacement Guide 2016

C
o

n
v
o

lu
ted

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

FD 330-22

   

W01-358-7409  

G2297409500

2B12-319 

4367 

Dayton 354-7409
Loadguard SC2074
Navistar/Fleetrite 1685178C1
Taurus AS214-7409
Watson & Chalin AS-0093

FD 330-22 367, 64497 

FD 330-22

   

W01-358-7410  

G2297410500

2B12-406 

4331 

Dayton 354-7410
Freightliner 16-11378-000
Hendrickson S-10170
Loadguard SC2023
Navistar/Fleetrite 554792C1
Taurus AS214-7410
Volvo 85101158

FD 330-22 331, 64268 

FD 330-22

   

W01-358-7423  

G2297423500

2B12-432 

4368 

Loadguard SC2101
Navistar/Fleetrite 1681750C1
Sauer P10-784

FD 330-22 368, 64498 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

178 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

C
o

n
v
o

lu
te

d

FD 330-22

   

W01-358-7424  

G2297424500

2B12-300 

4327 

Dayton 354-7424
Hendrickson S-13043
Loadguard SC2024
Navistar/Fleetrite 554785C1
R&S Truck 1090215
SAF-HOLLAND 90557014
Sauer P10-755
Taurus AS214-7424
Watson & Chalin AS-0009

FD 330-22 327, 64283 

FD 330-22

   

W01-358-7429  

G2297429500

2B12-427 

4343 

Dayton 354-7429
Hendrickson S-13052
Kwik Loc/Todco CP-5223
Loadguard SC2077
Navistar/Fleetrite 1685181C1
Taurus AS214-7429

FD 330-22 343, 64491 

FD 330-22

   

W01-358-7437  

G2297437500

2B12-320 

4334 

Dayton 354-7437
Hendrickson S-13037
Loadguard SC2025
Navistar/Fleetrite 554789C1
Ridewell 1003587437C
Taurus AS214-7437
Watson & Chalin AS-0014
And More

FD 330-22 334, 64489 



179Air Springs  – Replacement Guide 2016

C
o

n
v
o

lu
ted

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

FD 330-30

   

N/A  

G2290549500

N/A 

4549 

Raydan 211-00-005

FD 330-30 549, 64542 

FD 330-30

   

N/A  

G2290705500

N/A 

N/A 

Raydan 211-00-000

FD 330-30 705, 64245 

FD 330-30

   

W01-358-6789  

G2296789500

N/A 

4512 

Hendrickson 001503

FD 330-30 512, 64540 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

180 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

C
o

n
v
o

lu
te

d

FD 330-30

   

W01-358-7443  

G2297443500

2B12-305 

4323 

Dayton 354-7443
Granning 1218
Granning 1589
Granning 7416
Hendrickson S-13035
Loadguard SC2026
Navistar/Fleetrite 554786C1
Ridewell 1003587443C
Ridewell S-2683C
Watson & Chalin AS-0027

FD 330-30 323, 64531 

FD 330-30

   

W01-358-7444  

G2297444500

2B12-416 

4369 

Hendrickson S-9830

FD 330-30 369, 64533 

FD 330-30

   

W01-358-7446  

G2297446500

2B12-402 

4370 

Dayton 354-7446
Hendrickson S-3798
Loadguard SC2027
Navistar/Fleetrite 554791C1
R&S Truck 1082914
Silent Drive AS-7446
Watson & Chalin AS-0005

FD 330-30 370, 64534 



181Air Springs  – Replacement Guide 2016

C
o

n
v
o

lu
ted

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

FD 330-30

   

W01-358-7447  

G2297447500

2B12-324 

4340 

Dayton 354-7447
EZ Ride 8030150
Hendrickson S-6242
Loadguard SC2028
Navistar/Fleetrite 554790C1

FD 330-30 340, 64532 

FD 330-30

   

W01-358-7472  

G2297472500

2B12-434 

4371 

Hendrickson S-12514-005
Hendrickson B-12335
Loadguard SC2128
Navistar/Fleetrite 1681751C1

FD 330-30 371, 64535 

FD 330-30

   

W01-358-7473  

G2297473500

2B12-428 

4372 

Loadguard SC2078
Navistar/Fleetrite 1685182C1
Ridewell 1003587473C

FD 330-30 372, 64536 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

182 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

C
o

n
v
o

lu
te

d

FD 330-30

   

W01-358-7483  

G2297483500

N/A 

4373 

Ridewell 1003587483C

FD 330-30 373, 64537 

FD 330-30

   

W01-358-7499  

G2297499500

2B12-317 

4502 

Suspensions, Inc. 201602

FD 330-30 502, 64539 

FD 330-30

   

W01-358-7790  

G2297790500

2B12-324 

4513 

Hendrickson 001475

FD 330-30 513, 64541 



183Air Springs  – Replacement Guide 2016

C
o

n
v
o

lu
ted

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

FD 331-26

   

W01-358-7545  

G2297545500

2B12-345 

4514 

Hendrickson 001796
Reyco 20018-01L
Watson & Chalin AS-0109

FD 331-26 514, 64597 

FD 331-26

   

W01-358-7550  

G2297550500

2B12-346 

4541 

Histeer 10315
Watson & Chalin AS-0087

FD 331-26 541, 64599 

FD 331-26

   

W01-358-7555  

G2297555500

2B12-440 

4480 

Binkley XB-SPN-053-37
Cush C0073
Histeer 10315
Reyco 18813-01
Reyco 20018-01

FD 331-26 480, 64284 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

184 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

C
o

n
v
o

lu
te

d

FD 530-22

   

W01-358-7135  

G2297135500

2B14-360 

4311 

Dayton 354-7135
Eveley RA 1990-1
Hendrickson S-12514-014
Loadguard SC2013
Navistar/Fleetrite 554800C1
Pezzani AR-21-A
Ridewell 1003587135C
SAF-HOLLAND 90557001
Truckstell 63641
Truckstell 63644

FD 530-22 311, 64543 

FD 530-22

   

W01-358-7136  

G2297136500

2B14-356 

4321 

Dayton 354-7136
Granning 1626
Hendrickson S-1080
Loadguard SC2014
Navistar/Fleetrite 554798C1
R&S Truck 1027556
Ridewell 1003587136C
Watson & Chalin AS-0004

FD 530-22 321, 64545 

FD 530-22

   

W01-358-7123  

G2297123500

2B14-367 

4345 

Dayton 354-7123
Hendrickson S-13048
Kwik Loc/Todco 53671
Loadguard SC2080
Navistar/Fleetrite 1685184C1

FD 530-22 345, 64547 



185Air Springs  – Replacement Guide 2016

C
o

n
v
o

lu
ted

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

FD 530-22

   

W01-358-7140  

G2297140500

2B14-359 

4316 

Dayton 354-7140
Granning 1015
Hendrickson S-3184
Loadguard SC2015
Navistar/Fleetrite 554799C1
R&S Truck 1090214
Ridewell 1003587140C
Watson & Chalin AS-0008

FD 530-22 316, 64544 

FD 530-22

   

W01-358-7145  

G2297145500

2B14-354 

4374 

Dayton 354-7145
Hendrickson S-13038
Loadguard SC2016
Mack 57QL239
Navistar/Fleetrite 554796C1
Ridewell 1003587145C
Volvo 35203-0005
Volvo 35203-3204

FD 530-22 374, 64548 

FD 530-22

   

W01-358-7146  

G2297146500

2B14-355 

4342 

American Carrier 8003-005
Dayton 354-7146
Hendrickson S-13046
Loadguard SC2017
Navistar/Fleetrite 554797C1
Ridewell 1003587146C
SAF-HOLLAND 90557024
SAF-HOLLAND 90557039

FD 530-22 342, 64546 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

186 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

C
o

n
v
o

lu
te

d

FD 530-30

   

W01-358-6801  

G2296801500

2B14-365 

4451 

Dayton 354-6801
EZ Ride 8030160
Hendrickson S-2734
Loadguard SC2079
Navistar/Fleetrite 1685183C1
Ridewell 1003586801C
Watson & Chalin AS-0021

FD 530-30 451, 64590 

FD 530-30

   

W01-358-6803  

G2296803500

2B14-366 

4449 

Dayton 354-6803
Hendrickson S-6412
Loadguard SC2129

FD 530-30 449, 64589 

FD 530-30

   

W01-358-6805  

G2296805500

2B14-462 

4532 

Ridewell 1003586805C

FD 530-30 532, 64593 



187Air Springs  – Replacement Guide 2016

C
o

n
v
o

lu
ted

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

FD 530-35

   

W01-358-6799  

G2296799500

2B14-476 

4543 

SAF-HOLLAND 90557203
Watson & Chalin AS-0034

FD 530-35 543, 64605 

FD 530-35

   

W01-358-7557  

G2297557500

2B14-383 

4530 

Histeer 10316
Reyco 19983-01
Watson & Chalin AS-0089-1G

FD 530-35 530, 64604 

FD 530-35

   

W01-358-7781  

G2297781500

N/A 

4545 

Cush C0083
Ridewell 1003587781C

FD 530-35 545, 64607 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

188 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

C
o

n
v
o

lu
te

d

FD 530-35

   

W01-358-7782  

G2297782500

2B14-470 

4544 

Porcupine 7140
Watson & Chalin AS-0032

FD 530-35 544, 64606 

FS 330-11

   

N/A  

G2290771500

N/A 

N/A 

Strong 72404004

FS 330-11 771, 66091 

FS 330-11

   

W01-358-6994  

G2296994500

N/A 

4467 

FS 330-11 467, 64594 



189Air Springs  – Replacement Guide 2016

C
o

n
v
o

lu
ted

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

FS 330-11

   

W01-358-7008  

G2297008500

N/A 

4474 

Loadguard SC2010
SAF-HOLLAND 90557226

FS 330-11 474, 64596 

FS 330-11

   

W01-358-7009  

G2297009500

1B12-301 

4468 

SAF-HOLLAND 90557002

FS 330-11 468, 64595 

FS 530-14

   

W01-358-7088  

G2297088500

N/A 

4517 

Suspensions, Inc. 200175

FS 530-14 517, 64528 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

190 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

C
o

n
v
o

lu
te

d

FS 530-14

   

W01-358-7093  

G2297093500

N/A 

4515 

American Carrier 8003-013
Suspensions, Inc. 200792

FS 530-14 515, 64526 

FS 530-14

   

W01-358-7094  

G2297094500

N/A 

4538 

FS 530-14 538, 64529 

FS 530-14

   

W01-358-7096  

G2297096500

N/A 

4516 

Suspensions, Inc. 200792

FS 530-14 516, 64527 



191Air Springs  – Replacement Guide 2016

C
o

n
v
o

lu
ted

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

FS 530-14

   

W01-358-7103  

G2297103500

1B14-350 

4442 

Peerless 0550-00015

FS 530-14 442, 64523 

FS 530-14

   

W01-358-7104  

G2297104500

N/A 

4446 

FS 530-14 446, 64524 

FS 530-14

   

W01-358-7105  

G2297105500

1B14-351 

4447 

American Carrier 8003-007

FS 530-14 447, 64525 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

192 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

C
o

n
v
o

lu
te

d

FS 530-14

   

W01-358-7112  

G2297112500

1B14-358 

4339 

Dayton 354-7112
Hendrickson S-13044
Loadguard SC2012
Navistar/Fleetrite 554782C1
Ridewell 1003587112C
SAF-HOLLAND 90557028
SAF-HOLLAND 90557026
SAF-HOLLAND 90557041

FS 530-14 339, 64521 

FS 530-14

   

W01-358-7117  

G2297117500

N/A 

4361 

FS 530-14 361, 64522 

FT 330-29

   

N/A  

G2290503500

3B12-304 

4503 

Loadguard SC2132
Suspensions, Inc. 200620

FT 330-29 503, 64568 



193Air Springs  – Replacement Guide 2016

C
o

n
v
o

lu
ted

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

FT 330-29

   

N/A  

G2290702500

N/A 

N/A 

FT 330-29 702, 64630 

FT 330-29

   

N/A  

G2290714500

N/A 

N/A 

Hendrickson B-14487

FT 330-29 714, 67904 

FT 330-29

   

N/A  

G2290722500

N/A 

4722 

Link 1103-0003

FT 330-29 722, 64709 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

194 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

C
o

n
v
o

lu
te

d

FT 330-29

   

W01-358-7995  

G2297995500

3B12-315 

4547 

Watson & Chalin AS-0048-1F

FT 330-29 547, 64573 

FT 330-29

   

N/A  

G2290773500

N/A 

N/A 

FT 330-29 773, 65978 

FT 330-29

   

W01-358-7990  

G2297990500

N/A 

4703 

Watson & Chalin AS-0048

FT 330-29 703, 64648 



195Air Springs  – Replacement Guide 2016

C
o

n
v
o

lu
ted

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

FT 330-29

1.60

   

W01-358-7996  

G2297996500

3B12-335 

4520 

Granning 8221
Granning 702932-01

FT 330-29 520, 64570 

FT 330-29

   

W01-358-7996  

G2297723500

3B12-335 

4520 

Link 1103-0056

FT 330-29 723, 64710 

FT 330-29

   

W01-358-8006  

G2298006500

N/A 

4430 

Loadguard SC2132

FT 330-29 430, 64561 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

196 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

C
o

n
v
o

lu
te

d

FT 330-29

   

W01-358-8008  

G2298008500

3B12-300 

4431 

Dayton 354-8008
EZ Ride 8030155
Hendrickson S-11637
Loadguard SC2130
Ridewell 1003588008C

FT 330-29 431, 64562 

FT 330-29

   

W01-358-8010  

G2298010500

3B12-301 

4432 

Loadguard SC2119
Oshkosh 8013
Ridewell 1003588010C
Ridewell S-5844C

FT 330-29 432, 64563 

FT 330-29

   

W01-358-8016  

G2298016500

N/A 

4433 

Ridewell 1003588016C

FT 330-29 433, 64564 



197Air Springs  – Replacement Guide 2016

C
o

n
v
o

lu
ted

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

FT 330-29

   

W01-358-8018  

G2298018500

3B12-303 

4434 

Histeer 10303
Loadguard SC2131
Reyco 93AR
Spring Valley AS-4434
Suspensions, Inc. 202796
Watson & Chalin AS-0075

FT 330-29 434, 64285 

FT 330-29

   

W01-358-8025  

G2298025500

N/A 

4469 

Dayton 354-8008
Loadguard SC2130
Silent Drive AS-8025
Watson & Chalin AS-0019

FT 330-29 469, 64566 

FT 330-29

   

W01-358-8027  

G2298027500

3B12-310 

4466 

Histeer 8029
Suspensions, Inc. 200117

FT 330-29 466, 64565 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

198 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

C
o

n
v
o

lu
te

d

FT 330-29

   

W01-358-8032  

G2298032500

3B12-319 

4413 

Hendrickson S-12405
Spring Valley AS-4413

FT 330-29 413, 64560 

FT 330-29

   

W01-358-8033  

G2298033500

3B12-312 

4508 

Loadguard SC2784

FT 330-29 525, 64571 

FT 530-32

   

W01-358-7796  

G2297796500

N/A 

4536 

Ridewell 1003587796C

FT 530-32 536, 64508 



199Air Springs  – Replacement Guide 2016

C
o

n
v
o

lu
ted

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

FT 530-32

   

W01-358-7797  

G2297797500

N/A 

4535 

Hendrickson 001346
Link 1103-0057

FT 530-32 535, 64507 

FT 530-32

   

W01-358-7798  

G2297798500

3B14-356 

4329 

Dayton 354-7798
EZ Ride 8030170
Granning 1613
Hendrickson S-13039
Loadguard SC2029
Navistar/Fleetrite 554802C1
R&S Truck 1090023
Watson & Chalin AS-0006

FT 530-32 329, 64504 

FT 530-32

   

W01-358-7800  

G2297800500

3B14-360 

4333 

Dayton 354-7800
Granning 4514
Holland Hitch 4514
Loadguard SC2030
Navistar/Fleetrite 554804C1
Ridewell 1003587800C
Silent Drive AS-7800

FT 530-32 333, 64505 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

200 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

C
o

n
v
o

lu
te

d

FT 530-32

   

W01-358-7808  

G2297808500

3B14-354 

4336 

EZ Ride 8030170
Hendrickson S-13157
Loadguard SC2031
Navistar/Fleetrite 554801C1
Peerless 0550-00030
Ridewell 1003587808C
Truckstell 63640
Warren 8030170

FT 530-32 336, 64506 

FT 530-32

   

W01-358-7818  

G2297818500

3B14-359 

4325 

Dayton 354-7818
Granning 1014
Hendrickson S-13041
Loadguard SC2032
Navistar/Fleetrite 554803C1
Ridewell 1003587818C
Watson & Chalin AS-0025
And More

FT 530-32 325, 64503 

FT 530-35

   

N/A  

G2290808500

N/A 

4808 

Watson & Chalin AS-0222

FT 530-35 808, 67572 



201Air Springs  – Replacement Guide 2016

C
o

n
v
o

lu
ted

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

FT 530-35

   

W01-358-7838  

G2297838500

GY 3B14-453 

4436 

EZ Ride 8030170
Granning 1613
Hendrickson S-13039
Loadguard SC2029
Navistar/Fleetrite 554802C1
R&S Truck 1090023

FT 530-35 436, 64576 

FT 530-35

   

W01-358-7839  

G2297839500

GY 3B14-456 

4437 

Dayton 354-7839
EZ Ride 8030180
Granning 1476
Hendrickson S-6861
Navistar/Fleetrite 554803C1
Ridewell 1003587839C
Watson & Chalin AS-0033
And More

FT 530-35 437, 64577 

FT 530-35

   

W01-358-7843  

G2297843500

3B14-364 3B14-457

4455 

Hendrickson S-7100
Loadguard SC2135

FT 530-35 455, 64581 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

202 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

C
o

n
v
o

lu
te

d

FT 530-35

   

W01-358-7846  

G2297846500

3B14-451 

4456 

Hendrickson S-7853

FT 530-35 456, 64582 

FT 530-35

   

W01-358-7844  

G2297844500

N/A 

4438 

Ridewell 1003587844C

FT 530-35 438, 64578 

FT 530-35

   

W01-358-7845  

G2297845500

N/A 

4521 

FT 530-35 521, 64584 



203Air Springs  – Replacement Guide 2016

C
o

n
v
o

lu
ted

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

FT 530-35

   

W01-358-7847  

G2297847500

3B14-367 3B14-459

4457 

Dayton 354-7847
Hendrickson S-8874
Loadguard SC2136

FT 530-35 457, 64583 

FT 530-35

   

W01-358-7848  

G2297848500

3B14-460 

4439 

Hendrickson S-13047
Suspensions, Inc. 201498

FT 530-35 439, 64579 

FT 530-35

   

W01-358-7850  

G2297850500

3B14-452 

4441 

Histeer 10301
Link 1103-0001
Spring Valley AS-4441
Suspensions, Inc. 200177
Watson & Chalin AS-0167G

FT 530-35 441, 64580 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

204 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

C
o

n
v
o

lu
te

d

FT 530-35

   

W01-358-7859  

G2297859500

N/A 

4523 

Hendrickson 1285

FT 530-35 523, 64586 

FT 530-35

   

W01-358-7853  

G2297853500

N/A 

4537 

FT 530-35 537, 64588 

FT 530-35

   

W01-358-7855  

G2297855500

N/A 

4522 

Granning 7026

FT 530-35 522, 64585 



205Air Springs  – Replacement Guide 2016

C
o

n
v
o

lu
ted

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

FT 530-35

   

W01-358-7862  

G2297862500

N/A 

4534 

Hendrickson 001795

FT 530-35 534, 64587 

FT 530-35

   

W01-358-7872  

G2297872500

N/A 

N/A 

Hendrickson 004828

FT 530-35 726, 65828 



206 Air Springs  – Replacement Guide 2016

Heavy-Duty Roller Wheel Bearings  
for tractors, trailers and trucks.
Quality tapered style bearings for tractors, trailers and trucks. Seven different sets are 
currently available in sizes to replace Timken, SKF, NTN, Federal Modul and Stemco 
wheel bearings. Orderable in sets, or bearing cones and bearing cups only. Our great 
value wheel bearings offer great quality at the right price. 

Call 800-876-3929
Canada 519-537-3494

www.goldlinequalityparts.com



207Air Springs  – Replacement Guide 2016

Sleev
e

Sleeve type air springs



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

208 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Sl
ee

v
e

VP SC29-B__9.53

9309740   

W02-358-7092  

G2297092600

N/A 

AS-5092 

Kenworth KWCSA
Link 1102-0083

SC29-B092, 67854 

VP SC29-B__9.53

9313688   

W02-358-7110  

G2297110600

1S5-152 

N/A 

Kenworth T2000
Link 1102-0082

SC29-B110, 69437 

VP SC29-B__7.24

9310094   

W02-358-7152  

G2297152600

N/A 

AS-5152 

Knoedler 100095-000

SC29-B152, 67862 



209Air Springs  – Replacement Guide 2016

Sleev
e

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

VP SC29-B__11.02

9309740   

W02-358-7200  

G2297200600

N/A 

AS-5200 

Freightliner 18-42609-000

SC29-B200, 67767 

VP SC29-O__7.52

9309740   

W02-358-7001  

G2297001600

1S4-007 

AS-5001 

Flexible 97-9999-01867
Link 1102-0020
Link 1102-0023
Mack 227QS33

SC29-O001, 67770 

VP SC29-O__6.77

9310094   

W02-358-7046  

G2297046600

1S4-123 

AS-5046 

Link 1102-0022

SC29-O046, 67769 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

210 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Sl
ee

v
e

VP SC29-O__6.03

9309740   

W02-358-7086  

G2297086600

1S4-175 

AS-5086 

Link 1102-0025

SC29-O086, 67858 

VP SC29-O__6.03

9313596   

W02-358-7098  

G2297098600

N/A 

N/A 

Link 1102-0027

SC29-O098, 69924 

VP SC29-O__8.35

9310094   

W02-358-7100  

G2297100600

N/A 

AS-5100 

SC29-O100, 67637 



211Air Springs  – Replacement Guide 2016

Sleev
e

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

VP SC29-O__8.03

9309740   

W02-358-7201  

G2297201600

N/A 

AS-5201 

Freightliner 18-45068-000

SC29-O201, 67766 

VP SC29-W__7.24

9310094   

W02-358-7035  

G2297035600

1S4.5-121 

AS-5035 

Sears S-20235
Sears S-9383

SC29-W035, 67851 

VP SC29-W__7.24

   

W02-358-7042  

G2297042600

1S5-120 

N/A 

SC29-W042, 70020 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

212 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Sl
ee

v
e

VP SC29-W__7.24

9313596   

W02-358-7045  

G2297045600

N/A 

N/A 

Link 1102-0042

SC29-W045, 69929 

VP SC29-W__7.24

   

W02-358-7056  

G2297056600

1S4.5-113 

N/A 

Link 1102-0043

SC29-W056, 69930 

VP SC29-W__8.78

9309740   

W02-358-7061  

G2297061600

N/A 

AS-5061 

SC29-W061, 67861 



213Air Springs  – Replacement Guide 2016

Sleev
e

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

VP SC29-W__8.78

9313596   

W02-358-7074  

G2297074600

N/A 

N/A 

Link 1102-0045
Link 1102-0047

SC29-W074, 69416 

VP SC29-W__8.50

9309740   

W02-358-7075  

G2297075600

1S5-157 

AS-5075 

Link 1102-0048

SC29-W075, 67859 

VP SC29-W__7.52

9312279   

W02-358-7087  

G2297087600

1S5-040 

AS-5087 

Freightliner FLD

SC29-W087, 67636 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

214 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Sl
ee

v
e

VP SC29-W__8.50

9310094   

W02-358-7103  

G2297103600

N/A 

AS-5103 

SC29-W103, 67860 

VP SC29-Y__10.79

9313363   

W02-358-7036  

G2297036600

N/A 

AS-5036 

Peterbilt 29-03200

SC29-Y036, 68162 

VP SC29-Y__8.50

9309740   

W02-358-7064  

G2297064600

1S5-157 

AS-5064 

Kenworth KW
Link 1102-0074

SC29-Y064, 67768 



215Air Springs  – Replacement Guide 2016

Sleev
e

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

VP SC29-Y__8.50

9312922   

W02-358-7109  

G2297109600

N/A 

N/A 

Kenworth KW AEROCAB
Link 1102-0077

SC29-Y109, 69624 

VP SC29-Y__8.50

9309740   

N/A  

G229YG01600

1S5-010 

AS-5G01 

SC29-YG01, 67882 

VP SC31-W__6.50

9312568   9325701

W02-358-7206 W02-377-7202 

G2297206600

N/A 

AS-5206 

Freightliner 18-29919-000

SC31-W206, 67452 



Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

Replaces

Order Number

Cross Section View Top View / Bottom View

Contitech part no., order no.

Firestone part no.

Goodyear part no.

Triangle part no.

OEM part no.

216 Air Springs  – Replacement Guide 2016

Air inlet 1/4” – 18 N.P.T.

Combination air inlet & stud; stud outside thread 3/4” – 16, stud inside thread for air inlet 1/4” – 18 N.P.T.

Blind nut for bead plates 3/8 – 16 UNC; for pistons 1/2” – 13 UNC Exceptions noted in drawings for part variance

Bolt or stud 1/2” – 13 UNC

Sl
ee

v
e

VP SC31-Y__8.74

9312568   

W02-358-7205  

G2297205600

N/A 

AS-5205 

Freightliner 66003-3406

SC31-Y205, 67638 

VP SC31-Y__10.63 CT

9312568   

W02-358-7215  

G2297215600

N/A 

AS-5215 

Freightliner 18-52651-000

SC31-Y215, 68161 



217Air Springs  – Replacement Guide 2016

P
ro

d
u

ct In
fo

Product Design Information



218 Air Springs  – Replacement Guide 2016

P
ro

d
u

ct
 I

n
fo

Product Design Information

Order Number
Load @  
80 psi

Load @ 100 
psi

Design 
height (in)

Natural  
frequency (cpm)

Min  
height (in)

Max height 
(in)

Max  
diameter (in)

Page 
Number

G2290503500 5130 6400 12 84 4.4 16.9 12.8 192

G2290549500 5400 6700 10 100 4.1 14.2 13.4 179

G2290702500 5130 6400 12 84 4.4 16.9 12.8 193

G2290705500 5400 6700 10 100 2.6 14.2 13.4 179

G2290712400 5710 7160 13.5 70 7.9 21.6 12.6 94

G2290714500 5130 6400 12 84 4.6 16.9 12.8 193

G2290721500 2440 3050 10 102 3.1 12.8 10.3 171

G2290722500 5130 6400 12 84 4.5 16.9 12.8 193

G2290736500 1940 2420 8 108 3.1 10.6 8.6 163

G2290764500 1940 2420 8 108 3.1 10.6 8.6 164

G2290767500 1940 2420 8 108 3.1 10.6 8.6 163

G2290771500 4900 6130 5.1 132 2 6 12.8 188

G2290773500 5130 6400 12 84 4.4 16.9 12.8 194

G2290797500 2440 3050 10 102 3.1 12.8 10.3 174

G2290808500 8450 10563 13 75 4.5 20.1 15.9 200

G2292119300 2760 3450 7 95 3.2 12.2 9.1 50

G2295298300 2810 3510 8.5 91 4.7 14.3 9.3 51

G2295311300 2760 3450 8.5 93 5.4 14 9.1 50

G2295319300 2810 3510 8.5 91 5.4 14 9.3 51

G2295323300 2760 3450 8.5 93 5.4 14 9.1 50

G2295405300 2760 3450 10 82 4.7 16.3 9.1 53

G2295406300 2760 3450 10 82 4.7 16.3 9.1 53

G2295410300 2760 3450 11 80 6.1 17.7 9.1 54

G2295412300 2760 3450 11 80 6.8 17.7 9.1 54

G2295423300 2760 3450 9.5 75 4.9 15.5 9.1 54

G2295433300 2760 3450 11 80 6.1 17.7 9.1 55

G2295434300 2760 3450 9.5 75 5.4 16.3 9.1 55

G2295503400 6860 8570 18.5 56 8.8 27.4 13.7 158

G2295505300 6860 8570 19.5 55 9.6 28.9 13.7 158

G2295511400 6860 8570 18.5 56 8.8 27.4 13.7 158

G2296258200 5680 7100 15 62 8.4 24 12.6 107

G2296262200 5680 7100 15 62 8.4 24 12.6 107

G2296393500 2440 3050 10 102 3.5 12.8 10.3 171

G2296789500 5400 6700 10 100 4.1 14.2 13.4 179

G2296799500 7930 9910 11 84 4.1 15.4 16 187

G2296801500 7480 9350 12.2 90 4.1 13.8 15.8 186

G2296803500 7480 9350 12.2 90 4.6 13.8 15.8 186

G2296805500 7480 9350 12.2 90 4.1 13.8 15.8 186

G2296844500 2440 3050 10 102 3.7 12.8 10.3 172

G2296883500 2607 3260 8.7 96 3.7 11.6 10 170

G2296884500 2080 2600 8.5 114 3.5 10.8 9.8 165

G2296886500 2607 3260 8.7 96 3.1 11.6 10 170

G2296890500 2080 2600 8.5 114 3.1 10.8 9.8 165

G2296897500 2080 2600 8.5 114 3.1 10.8 9.8 165

G2296900500 2080 2600 8.5 114 3.1 10.8 9.8 166

G2296902500 2080 2600 8.5 114 3.7 10.8 9.8 166



219Air Springs  – Replacement Guide 2016

P
ro

d
u

ct In
fo

Product Design Information

Order Number
Load @  
80 psi

Load @ 100 
psi

Design 
height (in)

Natural  
frequency (cpm)

Min  
height (in)

Max height 
(in)

Max  
diameter (in)

Page 
Number

G2296905500 2080 2600 8.5 114 3.7 10.8 9.8 166

G2296908500 2080 2600 8.5 114 3.1 10.8 9.8 167

G2296910500 2080 2600 8.5 114 3.1 10.8 9.8 167

G2296926500 2080 2600 8.5 114 3.7 10.8 9.8 167

G2296927500 2440 3050 10 102 3.1 12.8 10.3 172

G2296932500 2080 2600 8.5 114 3.7 10.8 9.8 168

G2296935500 2080 2600 8.5 114 3.5 10.8 9.8 168

G2296940500 2080 2600 8.5 114 3.7 10.8 9.8 168

G2296941500 2080 2600 8.5 114 3.7 10.8 9.8 169

G2296943500 2440 3050 10 102 3.1 12.8 10.3 172

G2296945500 2440 3050 10 102 3.7 12.8 10.3 173

G2296946500 2440 3050 10 102 3.7 12.8 10.3 173

G2296947500 2440 3050 10 102 3.7 12.8 10.3 173

G2296948500 2440 3050 10 102 3.7 12.8 10.3 174

G2296949500 2080 2600 8.5 114 3.1 10.8 9.8 169

G2296994500 4900 6130 5.1 132 2.4 6 12.8 188

G2297001600 663 837 4.25 100 2.4 7.5 4.4 209

G2297008500 4900 6130 5.1 132 2 6 12.8 189

G2297009500 4900 6130 5.1 132 2.4 6 12.8 189

G2297035600 807 1015 4.7 115 2.4 6.9 5.4 211

G2297036600 880 1100 7 85 4 13 5.6 214

G2297042600 807 1015 6.5 115 4 11.2 5.4 211

G2297045600 807 1015 6.5 115 4 11.2 5.4 212

G2297046600 663 837 4.7 105 2.4 6.9 4.4 209

G2297056600 807 1015 7.5 115 4 9.5 5.4 212

G2297061600 807 1015 5.5 100 2.4 8 5.4 212

G2297064600 874 1094 4.5 110 2.4 7.81 5.6 214

G2297074600 807 1015 7 115 4 8.8 5.4 213

G2297075600 807 1015 5.5 110 2.4 7.8 5.4 213

G2297086600 663 837 4.1 110 2.4 6.4 4.4 210

G2297087600 807 1015 5 110 2.4 7 5.4 213

G2297088500 7840 9800 5.9 120 4.1 7.3 15.9 189

G2297092600 883 1106 4.5 100 2.4 8.6 6 208

G2297093500 7840 9800 5.9 120 4.1 7.3 15.9 190

G2297094500 7840 9800 5.9 120 2.4 7.3 15.9 190

G2297096500 7840 9800 5.9 120 4.1 7.3 15.9 190

G2297098600 663 837 5.5 100 4 8.7 4.4 210

G2297100600 663 837 5.5 98 2.4 8.5 4.4 210

G2297103500 7840 9800 5.9 120 2 7.3 15.9 191

G2297103600 807 1015 5.5 110 2.4 7.8 5.4 214

G2297104500 7840 9800 5.9 120 2.4 7.3 15.9 191

G2297105500 7840 9800 5.9 120 4.1 7.3 15.9 191

G2297109600 874 1094 5.5 110 2.4 10 5.6 215

G2297110600 883 1106 8 90 4 14.5 6 208

G2297112500 7840 9800 5.9 120 2 7.3 15.9 192



220 Air Springs  – Replacement Guide 2016

P
ro

d
u

ct
 I

n
fo

Product Design Information

Order Number
Load @  
80 psi

Load @ 100 
psi

Design 
height (in)

Natural  
frequency (cpm)

Min  
height (in)

Max height 
(in)

Max  
diameter (in)

Page 
Number

G2297117500 7840 9800 5.9 120 4.1 7.3 15.9 192

G2297123500 6530 8170 9.8 108 4.1 12.2 15.2 184

G2297135500 6530 8170 9.8 108 3.1 12.2 15.2 184

G2297136500 6530 8170 9.8 108 4.1 12.2 15.2 184

G2297140500 6530 8170 9.8 108 4.1 12.2 15.2 185

G2297145500 6530 8170 9.8 108 3.1 12.2 15.2 185

G2297146500 6530 8170 9.8 108 4.6 12.2 15.2 185

G2297152600 883 1106 3.75 102 2.4 6.5 6 208

G2297180500 4200 5250 9.5 102 3.1 12 12.8 174

G2297184500 4200 5250 9.5 102 3.1 12 12.8 175

G2297200600 883 1106 5.5 90 4.75 9.6 6 209

G2297201600 663 837 4.5 100 3.5 7.75 4.4 211

G2297205600 840 1050 5.25 95 4.5 8.5 5.1 216

G2297206600 825 1028 5 100 3 7 5 215

G2297215600 840 1050 6 85 5.6 10 5.1 216

G2297325500 1940 2420 8 108 3.1 10.6 8.6 163

G2297344500 4200 5250 9.5 102 3.1 12 12.8 175

G2297400500 4200 5250 9.5 102 4.1 12 12.8 175

G2297401500 4200 5250 9.5 102 4.1 12 12.8 176

G2297403500 4200 5250 9.5 102 4.1 12 12.8 176

G2297405500 4200 5250 9.5 102 4.1 12 12.8 176

G2297409500 4200 5250 9.5 102 4.1 12 12.8 177

G2297410500 4200 5250 9.5 102 4.1 12 12.8 177

G2297423500 4200 5250 9.5 102 3.1 12 12.8 177

G2297424500 4200 5250 9.5 102 3.1 12 12.8 178

G2297429500 4200 5250 9.5 102 3.1 12 12.8 178

G2297437500 4200 5250 9.5 102 4.6 12 12.8 178

G2297443500 5400 6700 10 100 3.1 14.2 13.4 180

G2297444500 5400 6700 10 100 3.1 14.2 13.4 180

G2297446500 5400 6700 10 100 4.1 14.2 13.4 180

G2297447500 5400 6700 10 100 4.1 14.2 13.4 181

G2297472500 5400 6700 10 100 3.1 14.2 13.4 181

G2297473500 5400 6700 10 100 4.1 14.2 13.4 181

G2297483500 5400 6700 10 100 3.1 14.2 13.4 182

G2297499500 5400 6700 10 100 4.1 14.2 13.4 182

G2297505500 2200 2750 5 125 2.2 9.9 8 162

G2297545500 4830 6030 10.5 90 3.5 14.4 12.8 183

G2297550500 4830 6030 10.5 90 3.5 14.4 12.8 183

G2297555500 4830 6030 10.5 90 3.5 14.4 12.8 183

G2297557500 7930 9910 11 84 4.1 15.4 16 187

G2297659500 2200 2750 5 125 2.2 9.9 8 162

G2297667200 5570 7000 10 78 6.5 16.5 12.6 73

G2297689500 1940 2420 8 108 3.1 10.6 8.6 164

G2297705500 1940 2420 8 108 3.1 10.6 8.6 164

G2297723500 5130 6400 12 84 4.5 16.9 12.8 195



221Air Springs  – Replacement Guide 2016

P
ro

d
u

ct In
fo

Product Design Information

Order Number
Load @  
80 psi

Load @ 100 
psi

Design 
height (in)

Natural  
frequency (cpm)

Min  
height (in)

Max height 
(in)

Max  
diameter (in)

Page 
Number

G2297781500 7930 9910 11 84 4.6 15.4 16 187

G2297782500 7930 9910 11 84 4.6 15.4 16 188

G2297788500 2080 2600 8.5 114 3.7 10.8 9.8 169

G2297790500 5400 6700 10 100 4.1 14.2 13.4 182

G2297795500 2607 3260 8.7 96 3.1 11.6 10 170

G2297796500 8400 10500 11 82 4.6 17.1 15.1 198

G2297797500 8400 10500 11 82 4.6 17.1 15.1 199

G2297798500 8400 10500 11 82 4.4 17.1 15.1 199

G2297800500 8400 10500 11 82 4.4 17.1 15.1 199

G2297808500 8400 10500 11 82 4.6 17.1 15.1 200

G2297818500 8400 10500 11 82 4.6 17.1 15.1 200

G2297838500 8450 10563 13 75 4.6 20.1 15.9 201

G2297839500 8450 10563 13 75 4.6 20.1 15.9 201

G2297843500 8450 10563 13 75 4.6 20.1 15.9 201

G2297844500 8450 10563 13 75 4.5 20.1 15.9 202

G2297845500 8450 10563 13 75 4.5 20.1 15.9 202

G2297846500 8450 10563 13 75 4.6 20.1 15.9 202

G2297847500 8450 10563 13 75 4.6 20.1 15.9 203

G2297848500 8450 10563 13 75 4.5 20.1 15.9 203

G2297850500 8450 10563 13 75 4.6 20.1 15.9 203

G2297853500 8450 10563 13 75 4.6 20.1 15.9 204

G2297855500 8450 10563 13 75 4.6 20.1 15.9 204

G2297859500 8450 10563 13 75 4.5 20.1 15.9 204

G2297862500 8450 10563 13 75 4.5 20.1 15.9 205

G2297872500 8450 10563 13 75 4.5 20.1 15.9 205

G2297897500 2607 3260 8.7 96 3.1 11.6 10 171

G2297990500 5130 6400 12 84 4.6 16.9 12.8 194

G2297995500 5130 6400 12 84 4.5 16.9 12.8 194

G2297996500 5130 6400 12 84 4.5 16.9 12.8 195

G2298006500 5130 6400 12 84 4.4 16.9 12.8 195

G2298008500 5130 6400 12 84 4.6 16.9 12.8 196

G2298010500 5130 6400 12 84 4.1 16.9 12.8 196

G2298016500 5130 6400 12 84 4.6 16.9 12.8 196

G2298018500 5130 6400 12 84 4.4 16.9 12.8 197

G2298025500 5130 6400 12 84 4.6 16.9 12.8 197

G2298027500 5130 6400 12 84 4.5 16.9 12.8 197

G2298032500 5130 6400 12 84 4.6 16.9 12.8 198

G2298033500 5130 6400 12 84 4.6 16.9 12.8 198

G2298050400 8080 10100 11 82 5.4 18.5 14.7 145

G2298051400 8080 10100 11 82 5.4 18.5 14.7 145

G2298052400 8080 10100 11 82 5.4 18.5 14.7 146

G2298053400 8080 10100 11 82 5.4 18.5 14.7 146

G2298088400 7000 8760 12.5 77 7.2 19.5 13.5 142

G2298091200 8200 10250 10 74 5.1 19.3 14.1 144

G2298093200 8200 10250 12.25 73 7.6 21 14.1 152



222 Air Springs  – Replacement Guide 2016

P
ro

d
u

ct
 I

n
fo

Product Design Information

Order Number
Load @  
80 psi

Load @ 100 
psi

Design 
height (in)

Natural  
frequency (cpm)

Min  
height (in)

Max height 
(in)

Max  
diameter (in)

Page 
Number

G2298197200 5000 6930 8 81 4.5 14.8 12.6 73

G2298201200 5000 6930 8 81 4.5 14.8 12.6 73

G2298203200 5640 7050 9 82 6.1 15.5 12.6 74

G2298204200 5000 6930 8 81 4.5 14.8 12.6 74

G2298637300 6760 8450 11 75 5.4 18.9 13.7 137

G2298646200 5790 7240 9 86 5.9 16 12.6 74

G2298708300 6760 8450 11 75 7.5 21 13.7 138

G2298709200 7400 9250 10 81 4.9 19.3 13.9 141

G2298710300 6760 8450 10.5 75 7.1 19 13.7 135

G2298713300 6760 8450 11 75 7.5 21 13.7 138

G2298723300 6760 8450 10 79 5.4 17.7 13.7 135

G2298729200 6840 8550 9.5 77 5.4 15 14.2 141

G2298740300 6760 8450 10 75 5.4 17.7 13.7 135

G2298744200 6270 7840 16 58 9.4 26.5 13.7 139

G2298746200 6100 7650 15 60 7.3 24.4 13.7 139

G2298748200 6100 7650 15 60 7.3 24.4 13.7 139

G2298749200 6270 7840 16 58 9.4 26.5 13.7 140

G2298751200 7400 9250 10 81 5.9 19.3 13.9 136

G2298752300 6760 8450 10 79 5.4 17.7 13.7 136

G2298753300 6760 8450 10 75 5.4 17.7 13.7 136

G2298755300 6760 8450 10.5 75 7.1 19 13.7 137

G2298764400 6690 8740 16.5 68 9.7 25 13.7 154

G2298774200 8800 11000 10 74 5.1 19.5 15.4 148

G2298778400 6690 8740 13.5 70 7.4 22 13.7 148

G2298779400 6690 8740 16 68 7.4 23.5 13.7 152

G2298780400 6690 8740 16 68 7.4 23.5 13.7 153

G2298781400 6690 8740 16.5 68 8.8 25 13.7 153

G2298782300 6760 8450 10 75 5.4 17.7 13.7 137

G2298792400 6790 8490 16.5 62 8.8 26.5 13.7 155

G2298796400 6790 8490 16.5 62 8.8 26.5 13.7 155

G2298802200 5710 7160 10 81 5.4 17.9 12.6 82

G2298803200 5710 7160 13 72 7.4 19.5 12.6 83

G2298805200 5570 7000 11.5 71 7.1 18.9 12.6 83

G2298806400 5710 7160 10 81 5.4 17.9 12.6 83

G2298810400 5710 7160 10 81 6.1 17.9 12.6 84

G2298813200 5710 7160 11.5 71 7.1 18.9 12.6 84

G2298816200 5570 7000 10 69 5.5 16.7 12.6 84

G2298817200 5570 7000 10 69 5.9 16.7 12.6 85

G2298842200 5640 7070 15 61 7.9 24.6 12.6 120

G2298852200 5640 7070 15 61 6.7 24.6 12.6 121

G2298855200 5640 7070 15 61 7.3 24.6 12.6 121

G2298856200 5640 7070 15 61 7.3 24.6 12.6 121

G2298864200 5640 7070 16 65 7.8 25.2 12.6 122

G2298882200 5000 6930 8 81 4.5 14.8 12.6 75

G2298888200 5680 7100 14.5 62 7.3 23 12.6 108



223Air Springs  – Replacement Guide 2016

P
ro

d
u

ct In
fo

Product Design Information

Order Number
Load @  
80 psi

Load @ 100 
psi

Design 
height (in)

Natural  
frequency (cpm)

Min  
height (in)

Max height 
(in)

Max  
diameter (in)

Page 
Number

G2298897200 4820 6060 8 80 4.7 14.4 11.4 58

G2298901200 4820 7000 9 85 5.4 15.4 11.4 58

G2298903200 5680 7100 14.5 62 7.3 23 12.6 108

G2298919200 5200 6480 11 75 6.1 17.9 11.7 62

G2298924200 5710 7160 13.5 70 7.9 21.6 12.6 95

G2298927200 5641 7000 13 72 7.1 21 12.6 95

G2298930200 5570 7000 10 78 6.5 16.5 12.6 75

G2298932200 5570 7000 11 81 7.3 17.3 12.6 75

G2298934200 5000 6930 8 81 4.5 14.8 12.6 76

G2298944200 5680 7500 11 71 7.4 22.5 12.6 108

G2298949200 4760 5960 11 77 5.4 18.5 10.6 63

G2298963200 5570 7000 7.5 81 5.1 12.9 12.6 67

G2298964200 5570 7000 7.5 81 5.1 12.9 12.6 67

G2298971200 5570 7000 7.5 81 4.1 12.9 12.6 67

G2298976200 5570 7000 7.5 81 5.1 12.9 12.6 68

G2298986200 5570 7000 7.5 81 5.1 12.9 12.6 68

G2298992300 2810 3510 7 93 3.7 12.2 9.3 51

G2298997300 2810 3510 7 93 3.7 12.2 9.3 53

G2299004200 5641 7000 13 72 6 21 12.6 95

G2299008200 5570 7000 11.5 71 5.9 18.9 12.6 85

G2299010200 5570 7000 11.5 71 7.1 18.9 12.6 85

G2299011200 5570 7000 11.5 71 7.1 18.9 12.6 86

G2299026200 5710 7160 13.5 70 6.7 21.6 12.6 96

G2299029200 5570 7000 7.5 81 5.1 12.9 12.6 68

G2299031200 5570 7000 7.5 81 5.1 12.9 12.6 69

G2299033200 5570 7000 7.5 81 5.1 12.9 12.6 69

G2299039200 5570 7000 7.5 81 5.1 12.9 12.6 69

G2299053400 5640 7050 9 82 6.1 15.5 12.6 76

G2299059200 5570 7000 11.5 71 7.1 18.9 12.6 86

G2299060200 5570 7000 11.5 71 5.9 18.9 12.6 86

G2299063200 5570 7000 11.5 71 7.1 18.9 12.6 87

G2299068200 5570 7000 11.5 71 7.6 18.9 12.6 87

G2299069200 5570 7000 11.5 71 7.6 18.9 12.6 87

G2299070400 5710 7160 10 81 6.1 17.9 12.6 88

G2299071200 5570 7000 11.5 71 7.6 18.9 12.6 88

G2299077200 5570 7000 7.5 81 5.1 12.9 12.6 70

G2299082200 5710 7160 13.5 70 7.9 21.6 12.6 96

G2299083200 5710 7160 13.5 70 6.7 21.6 12.6 96

G2299092200 5710 7160 13.5 70 7.9 21.6 12.6 97

G2299093200 5680 7100 15 70 9.8 23.5 12.6 97

G2299096200 5710 7160 13.5 70 7.9 21.6 12.6 97

G2299101200 5640 7070 17 60 9.8 26.5 12.6 122

G2299105200 5640 7050 9 82 6.1 15.5 12.6 76

G2299116400 6690 8740 13.5 70 7.4 22 13.7 148

G2299121400 6690 8740 13.5 70 7.4 22 13.7 149



224 Air Springs  – Replacement Guide 2016

P
ro

d
u

ct
 I

n
fo

Product Design Information

Order Number
Load @  
80 psi

Load @ 100 
psi

Design 
height (in)

Natural  
frequency (cpm)

Min  
height (in)

Max height 
(in)

Max  
diameter (in)

Page 
Number

G2299127400 5710 7160 10 81 6.1 17.9 12.6 77

G2299130200 5640 7070 17 60 9.8 26.5 12.6 122

G2299134400 6690 8740 16 68 7.4 23.5 13.7 153

G2299138400 6690 8740 16 68 7.4 23.5 13.7 154

G2299144400 6690 8740 13.5 70 9 22 13.7 149

G2299148400 6690 8740 13.5 70 6.5 22 13.7 149

G2299149400 6690 8740 13.5 70 7.4 22 13.7 150

G2299156400 6790 8490 16.5 62 8.8 26.5 13.7 155

G2299158400 6790 8490 16.5 62 8.8 26.5 13.7 156

G2299164400 6690 8740 13.5 70 7.4 22 13.7 150

G2299177400 6690 8740 13.5 70 7.4 22 13.7 150

G2299192200 5640 7070 15 61 7.9 24.6 12.6 123

G2299193200 5710 7160 13.5 70 7.9 21.6 12.6 98

G2299194200 5710 7160 13.5 70 6.7 21.6 12.6 98

G2299199400 6790 8490 16.5 62 8.8 26.5 13.7 156

G2299200400 7760 9710 10 83 5.7 18.4 13.5 142

G2299203200 5640 7070 15 61 7.9 24.6 12.6 123

G2299204400 7760 9710 10 83 5.7 18.4 13.5 142

G2299213200 5900 7500 11 71 6 21 12.6 98

G2299215400 7760 9710 10 83 7.2 18.4 13.5 143

G2299216400 7000 8760 12.5 77 7.2 19.5 13.5 143

G2299218400 7760 9710 10 83 5.7 18.4 13.5 143

G2299219200 5900 7500 11 71 6 21 12.6 99

G2299221400 6690 8740 13.5 70 6.5 22 13.7 151

G2299223200 5900 7500 11 71 7.1 21 12.6 99

G2299227200 5710 7160 13.5 70 7.9 21.6 12.6 99

G2299228400 5710 7160 13.5 70 7.9 21.6 12.6 100

G2299238200 5640 7070 17 60 9.8 26.5 12.6 123

G2299240200 5640 7070 17 60 9.8 26.5 12.6 124

G2299245200 5640 7070 15 61 7.9 24.6 12.6 124

G2299250400 6040 7550 19 55 9.7 28 13.7 131

G2299252400 6040 7550 19 55 8.8 28 13.7 131

G2299256200 5710 7160 13.5 70 7.9 21.6 12.6 100

G2299264300 6860 8570 19.5 55 10 28.9 13.7 159

G2299265200 5640 7070 15 61 7.3 24.6 12.6 125

G2299269400 6040 7550 19 55 9.7 28 13.7 132

G2299270300 6560 8200 8.8 83 5.5 17.7 12.6 80

G2299275400 6040 7550 15 61 8.1 23 13.4 117

G2299277400 7000 8760 12.5 77 7.2 19.5 13.5 144

G2299291200 4760 5960 13.5 75 9.9 21.2 10.6 64

G2299293200 4760 5960 12 75 6.5 19.6 10.6 64

G2299294200 4760 5960 10 80 4.7 17.8 10.6 64

G2299295200 4760 5960 12.5 74 7.3 20.4 10.6 65

G2299296200 5900 7500 11 71 6 21 12.6 100

G2299297200 5900 7500 11 71 7.5 21 12.6 117



225Air Springs  – Replacement Guide 2016

P
ro

d
u

ct In
fo

Product Design Information

Order Number
Load @  
80 psi

Load @ 100 
psi

Design 
height (in)

Natural  
frequency (cpm)

Min  
height (in)

Max height 
(in)

Max  
diameter (in)

Page 
Number

G2299299200 5710 7160 13.5 70 7.4 21.6 12.6 101

G2299302200 5640 7050 9 82 6.1 15.5 12.6 77

G2299304200 5680 7100 15 70 9.8 23.5 12.6 101

G2299307200 5570 7000 7.5 81 5.1 12.9 12.6 70

G2299308200 5570 7000 7.5 81 5.1 12.9 12.6 70

G2299320200 5500 7000 18 55 9.8 28.5 12.6 132

G2299321400 5500 7000 18 55 9.8 28.5 12.6 132

G2299325200 5570 7000 11 81 7.9 17.3 12.6 77

G2299332200 5570 7000 7.5 81 4.1 12.9 12.6 71

G2299333200 5570 7000 7.5 81 5.1 12.9 12.6 71

G2299334200 5570 7000 7.5 81 5.1 12.9 12.6 71

G2299335200 5570 7000 11 69 5.9 16.5 12.6 88

G2299336200 5710 7160 10 81 6.1 17.9 12.6 89

G2299338200 5500 7000 18 55 8.5 28.5 12.6 133

G2299339200 5000 6930 8 81 4.5 14.8 12.6 78

G2299342200 5680 7100 14.5 62 6.7 23 12.6 109

G2299346200 5640 7070 17 60 9.8 26.5 12.6 125

G2299348200 5640 7070 17 60 10.3 26.5 12.6 125

G2299349200 5640 7070 17 60 9.8 26.5 12.6 126

G2299350200 5640 7070 17 60 8.6 26.5 12.6 126

G2299362200 5710 7160 13.5 70 7.9 21.6 12.6 101

G2299365200 5570 7000 10 78 6.5 16.5 12.6 78

G2299366200 5640 7050 9 82 5.4 15.5 12.6 78

G2299367200 5500 7000 18 55 9.8 28.5 12.6 133

G2299367400 5500 7000 18 55 9.8 28.5 12.6 133

G2299370200 5500 7000 18 55 9.8 28.5 12.6 134

G2299371200 5900 7500 11 71 5.9 21 12.6 118

G2299372200 5900 7500 11 60 7.5 22.9 12.6 118

G2299373200 5900 7500 11 71 7.4 22.5 12.6 118

G2299376200 4820 6060 8 80 5.3 14.4 11.4 58

G2299378200 4820 6060 8 80 5.3 14.4 11.4 59

G2299379200 4820 6060 8 80 5.3 14.4 11.4 59

G2299385200 5080 6350 12 75 5.9 18.2 11.7 62

G2299387200 4820 6060 8 80 4.7 14.4 11.4 59

G2299392200 5710 7160 13.5 70 7.9 21.6 12.6 102

G2299394200 5640 7070 17 60 9.8 26.5 12.6 126

G2299421200 4820 6060 8 80 3.8 14.4 11.4 60

G2299422200 4820 6060 8 80 3.8 14.4 11.4 60

G2299439400 5200 6480 11 75 6.1 17.9 11.7 63

G2299448200 4820 6060 8 80 5.3 14.4 11.4 60

G2299463200 5710 7160 10 81 6.1 17.9 12.6 89

G2299465200 5080 6350 12 75 7.1 18.2 11.7 63

G2299466200 5900 7500 11 71 7.9 21 12.6 102

G2299467400 5710 7160 13 72 7.9 19.5 12.6 89

G2299469400 5710 7160 10 81 7.4 17.9 12.6 90



226 Air Springs  – Replacement Guide 2016

P
ro

d
u

ct
 I

n
fo

Product Design Information

Order Number
Load @  
80 psi

Load @ 100 
psi

Design 
height (in)

Natural  
frequency (cpm)

Min  
height (in)

Max height 
(in)

Max  
diameter (in)

Page 
Number

G2299470200 5680 7100 14.5 62 7.9 23 12.6 109

G2299471200 5680 7100 14.5 62 9.9 23 12.6 109

G2299472200 5680 7100 13.5 63 7.1 22 12.6 110

G2299473200 5570 7000 16 64 9.3 24.5 12.6 110

G2299474200 5641 7000 13 72 7.4 21 12.6 102

G2299482200 5710 7160 10 81 6.5 17.9 12.6 90

G2299483200 5570 7000 11.5 71 7.1 18.9 12.6 90

G2299484200 5570 7000 11.5 71 6.5 18.9 12.6 91

G2299491200 6040 7550 13 61 7.1 22.2 13.4 117

G2299496200 5641 7000 13 72 7.9 21.6 12.6 103

G2299501200 5680 7100 14.5 62 9.8 24.5 12.6 110

G2299504200 5680 7100 16 62 10.3 24.5 12.6 111

G2299507200 5570 7000 11.5 71 7.1 18.9 12.6 91

G2299534200 5570 7000 7.5 81 4.5 12.9 12.6 72

G2299541200 5020 6280 7 95 3.9 12.3 11.5 56

G2299547200 5020 6280 7 95 3.9 11.4 11.5 55

G2299551200 4820 6060 8 80 5.5 14.4 11.4 61

G2299554200 4880 6100 8.5 87 5 14.5 10.6 61

G2299567200 5570 7000 11 69 5.1 16.5 12.6 91

G2299568200 5570 7000 11 69 5.1 16.5 12.6 92

G2299579300 6560 8200 8.8 83 5.5 17.7 12.6 81

G2299580300 6100 7650 15 60 7.5 24.6 13.7 140

G2299581300 6060 7575 15 59 7.4 25.2 13.7 140

G2299616200 4820 6060 8 80 3.8 14.4 11.4 61

G2299617200 5020 6280 7 95 3.9 11.4 11.5 56

G2299618200 5020 6280 7 95 5.6 12.3 11.5 57

G2299619200 5360 6700 18 60 9.2 28.9 12 66

G2299621200 5360 6700 15.5 60 7.4 24.7 12.2 66

G2299622200 5020 6280 7 95 3.9 11.4 11.5 56

G2299625200 5020 6280 7 95 5.6 12.3 11.5 57

G2299626200 5200 6480 13 74 7.3 22.4 11.7 66

G2299634200 5710 7160 10 81 5.1 17.9 12.6 92

G2299640400 5640 7050 9 82 5.4 15.5 12.6 79

G2299643200 5900 7500 11 71 6.6 21 12.6 103

G2299644200 5760 7200 13 71 7.3 21.4 12.8 105

G2299645200 5600 7000 18 66 9.2 29.5 13.3 134

G2299646200 5720 7150 15 68 7.3 25 13.4 131

G2299647200 5900 7500 11 71 6.5 21 12.6 119

G2299654200 5900 7500 11 71 5.9 21 12.6 119

G2299656200 5900 7500 11 71 8.1 22 12.6 119

G2299663200 5900 7500 11 71 5.9 21 12.6 120

G2299675200 5020 6280 7 95 3.9 12.3 11.5 57

G2299697200 5710 7160 13 72 8.3 19.5 12.6 92

G2299759200 6290 7860 12.5 70 8.3 23 12.6 105

G2299774200 5640 7050 9 79 4.9 17.7 12.6 81



227Air Springs  – Replacement Guide 2016

P
ro

d
u

ct In
fo

Product Design Information

Order Number
Load @  
80 psi

Load @ 100 
psi

Design 
height (in)

Natural  
frequency (cpm)

Min  
height (in)

Max height 
(in)

Max  
diameter (in)

Page 
Number

G2299780200 6290 7860 12.5 70 8.3 23 12.6 106

G2299781400 6290 7860 12.5 70 8.3 23 12.6 106

G2299797400 5710 7160 10 81 5.4 17.9 12.6 93

G2299798200 5710 7160 10 81 6.1 17.9 12.6 93

G2299807200 5400 6930 8 81 4.5 14.8 12.6 81

G2299902200 5680 7100 13.5 64 6.5 22 12.6 111

G2299911200 2880 3600 8 80 5.9 14.5 9.3 52

G2299912200 2880 3600 8 80 5.9 14.5 9.3 52

G2299921200 5680 7100 13.5 63 6.5 22 12.6 111

G2299922200 5570 7000 16 64 9.3 24.5 12.6 112

G2299923200 5680 7100 14.5 62 7.3 23 12.6 112

G2299935200 5680 7100 14.5 62 7.3 23 12.6 112

G2299936200 5680 7100 13.5 63 6.5 22 12.6 113

G2299942200 5680 7100 14.5 62 7.3 23 12.6 113

G2299943200 5570 7160 16 64 9.3 25.4 12.6 113

G2299944200 5900 7500 11 71 7.6 21 12.6 103

G2299947200 5680 7100 13.5 63 7.1 22 12.6 114

G2299948400 5680 7100 14.5 62 7.4 23 12.6 114

G2299959200 5570 7000 11.5 71 5.9 18.9 12.6 93

G2299961400 6690 8740 13.5 70 8.8 23.5 13.7 151

G2299966200 5900 7500 11 71 7.5 21 12.6 114

G2299972200 5680 7100 14.5 62 7.3 23 12.6 115

G2299974400 5680 7100 14.5 62 7.3 23 12.6 115

G2299978200 5710 7160 13 72 7.8 19.5 12.6 94

G229A026400 6690 8740 16.5 68 8.6 25 13.7 156

G229A062400 6790 8490 16.5 62 8.6 26.5 13.7 157

G229A101400 8080 10100 11 82 5.4 18.5 14.7 146

G229A118400 5640 7050 9 82 6.1 15.5 12.6 79

G229A358400 5640 7070 17 60 9.7 26.5 12.6 127

G229A463400 5640 7050 9 82 6.1 15.5 12.6 79

G229A552400 5640 7070 15 61 7.4 24.6 12.6 127

G229A706400 8080 10100 11 82 5 18.5 14.7 147

G229A729400 8080 10100 11 82 5.4 18.5 14.7 147

G229A751400 7760 9710 10 83 5.7 18.4 13.5 144

G229A752400 6860 8570 18.5 56 8.8 27.4 13.7 159

G229A801400 5640 7070 15 62 7.4 25 12.6 130

G229A802400 5640 7051 13 62 5.5 20.7 12.6 115

G229A804500 2200 2750 5 125 2.2 9.9 8 162

G229A830400 5640 7070 15 61 8 24.6 12.6 127

G229A834400 8080 10100 11 82 5.4 18.5 14.7 147

G229A848400 5640 7050 9 82 5.4 15.5 12.6 80

G229A855400 6790 8490 16.5 62 8.8 26.5 13.7 157

G229A856400 6860 8570 18.5 56 8.8 27.4 13.7 159

G229A926400 5641 7000 12 75 7.4 21 12.6 107

G229A946400 5640 7070 17 60 9.7 26.5 12.6 128



228 Air Springs  – Replacement Guide 2016

P
ro

d
u

ct
 I

n
fo

Product Design Information

Order Number
Load @  
80 psi

Load @ 100 
psi

Design 
height (in)

Natural  
frequency (cpm)

Min  
height (in)

Max height 
(in)

Max  
diameter (in)

Page 
Number

G229A960400 6690 8740 16 68 7.4 23.5 13.7 154

G229A965400 6690 8740 16.5 68 8.8 25 13.7 157

G229A999400 6290 7860 12.5 70 8.3 23 12.6 106

G229P049200 4760 5960 12 88 6.4 20.4 10.6 65

G229P111200 5900 7500 11 71 5.9 21 12.6 120

G229P220200 5570 7000 11.5 71 5.9 18.9 12.6 94

G229P338200 5570 7000 7.5 81 4.1 12.9 12.6 72

G229P340200 5570 7000 7.5 81 4.1 12.9 12.6 72

G229P358200 5640 7070 17 60 9.8 26.5 12.6 128

G229P384200 5640 7070 15 61 7.3 24.6 12.6 124

G229P407200 5900 7500 11 71 6 21 12.6 104

G229P463200 5640 7050 9 82 6.1 15.5 12.6 80

G229P733200 5900 7500 11 71 7.5 21 12.6 116

G229P762200 5640 7070 15 61 7.9 24.6 12.6 128

G229P769200 5641 7000 13 72 6.5 21 12.6 104

G229P770200 5680 7100 15 70 9.9 23.5 12.6 104

G229P790200 4730 5920 10.5 88 6.5 16.8 10.6 62

G229P793200 5900 7500 11 71 5.9 21 12.6 116

G229P796200 5640 7070 17 60 9.8 26.5 12.6 129

G229P800200 8800 11000 10 74 5.1 19.5 15.4 151

G229P807200 5570 7000 16 64 9.3 24.5 12.6 116

G229P809200 5640 7070 15 61 7.9 24.6 12.6 129

G229P814200 5640 7070 15 61 7.9 24.6 12.6 129

G229P817200 5500 7000 18 55 9.8 28.5 12.6 134

G229P829200 8800 11000 10 74 5.1 19.5 15.4 152

G229P841200 5641 7000 13 72 7.1 21 12.6 105

G229P934200 8200 10250 10 77 6.6 18 14.1 145

G229P945200 4760 5960 12.5 74 7.3 20.4 10.9 65

G229P946200 5640 7070 17 60 9.8 26.5 12.6 130

G229P949200 6270 7840 16 58 9.4 26.5 13.7 141

G229P973200 5640 7070 17 60 9.8 26.5 12.6 130

G229P978200 5400 6930 8 81 4.5 14.8 12.6 82

G229S734300 6560 8200 8.8 83 5.5 17.7 12.6 82

G229S783300 6760 8450 12.5 75 7.8 21 13.7 138

G229YG01600 874 1094 4 115 2.4 6.5 5.6 215

G299P273200 2880 3600 8 80 5.1 14.5 9.3 52



Landing Gear Accessories
There is a huge number of accessories for your landing gear systems available from 
Gold Line Quality Parts™ brand. Our selection includes crank handles, crank hangers, 
cross drive shafts, sand shoes, self-leveling shoes, dolly jack shoes, axle housing kits, 
wheels, brace ears, strut braces, and much more. Gold Line Quality Parts offers high-
value at great prices.

RIGHT QUALITY ∙ RIGHT PRICE ∙ RIGHT AWAY

powered by

Call 800-876-3929
Canada 519-537-3494

www.goldlinequalityparts.com



A
ir Spring Replacem

ent G
uide

  
 X

L-A
M

20
03

3P
M

 -e
n-

U
S 

Re
v 

A
 ·

 0
3-

29
-2

01
6 

· 
A

m
en

dm
en

ts 
an

d 
er

ro
rs

 re
se

rv
ed

 ∙
 ©

 G
O

LD
 L

IN
E 

Q
U

A
LIT

Y 
PA

RT
S

Quality replacement parts for heavy-duty  
commercial tractors, trailers and trucks.
Packed with value, GOLD LINE QUALITY PARTS™ can be counted on to be priced 
right with the quality level that you are looking for. From wheel bearings to landing 
gear accessories, our goal is to build an offering of high moving products with the 
right quality, at the right price from a stocked distribution center for quick delivery.

RIGHT QUALITY ∙ RIGHT PRICE ∙ RIGHT AWAY

powered by

Call 800-876-3929
Canada 519-537-3494

www.goldlinequalityparts.com




